Pubbl. 03363 12/2011 Rev. 07/08/2013

[21)] ¢

e ed 3

COMPONENTS

Guides and
linear tables

+39 0522635111

www.bettsistemi.com

April 2013

ice list shall be
the price dlsb S 5.6%

increase




C-shaped guide

page 2

Sliding runner page 4

| /

page 3

Runner with 3

rollers page 6 | Sliding runner J-shaped guide

page 14

C..

Rollers with and
without bearing  page 8

'y

¢

Runner with
3 steel rollers

page 18 page 19| End cap

ot

page 10

Carriaie end-stop
buffer kit page 11

Revolution

Trapeze screw +
page 192 | counter

threaded nut

page 193

o ®

Handwheels
and knobs

page 194

HandBook @) 2011




Guided snap-fittin
with unﬂ-frljc’ﬂon 9

bushing bag

Flange mount with
bage 27 ||neagr bearing

Flange mount
wnh cnh-fnchon

bushing

bage 24| bushing

With flange
with anti-friction

With flange with
linear bearing  pag

%

‘\x\

Slidi
shlull’\!‘s9 page 34

Heads for columns
22 page 207

Components for DIY construction of line

Heuds for columns
220/1

ar tables with 2 and 3 columns

page 201

Carriages for columns
220/16 page 202

Carriages for columns
225 page 209

Slldm columns

?--ﬁ

Extruded profile

by the metre  page 212

Metric screw +

readed nut page 215

Trapeze screw +

threaded

nut  page 217

page 205
page 211
e/l !

Bushings page 218

r’
Revolution counter
and handwheel page 220

HandBook €) 2011



Cylindrical

Sinale 210 page 36 |and grooved 210 page 40-42iCarriage 210 page 44
e

gui 220 page 38 |rollers 220 page 46-48/for guides @20 page 50

@12 Eccentric/concentric | Profile
roller kit page 58 | carriage page Vil

N Y

Y

>

"1
1%

Head drive
and idler units  page 66

g

Head drive
90x90 Beam  page 176 | and idler units _page 67

45x90 Beam page 156

-

@12 Single Carriage with belt
guide page 70| tensioner block page 68 | Belt page 73

I\ HandBook @) 2011




Carriage for 10 Cross
page 80 | @10 guides page 82 | carriage page 84
212 Double guides
set-up for Carriage for
end-stop page 88 | @12 guides page 90
Carriu?(g end-stop
End-stop sensor _page 95 |buffer kit page 94
Components for DIY construction of @20 double linear guides
| D20 Double
| guide page 100| D20 Carriages page 104
o —
-
w— -
w .
-
G20 Double
guide page 102| G20 Carriages page 106
HandBook € 2011 \Y



-
N
e

3

s / 1
Te 910
Head drive and Double guide
45x90 Beam  page 156| idler units page 157 | with carriage  page 160 Belt page 164
T
5 M 3
5 Ty
Head drive and Double guide
90x90 Beam  page 176/ idler units page 177 | with carriage  page 180| Belt page 179
< 4
N
Cable holder  page 166 Supporis for page 168
chain kit page 170 mﬁepoholder chain page 172

Motor-driven @6 linear guides in pre-assembled kits

VI HandBook @) 2011




Motor-driven @10 linear guides in pre-assembled kits 45x%90 Series

LGMA
Upper single
carriage

page 118

AGMA

Right-side
single carriage

page 120

page 122

MGMA

Left-side
single carriage

EGMA

Double guide
with combined
double carriages

page 124

Motor-driven @20 linear guides in pre-assembled kits 90x90 Series

HGMD

Upper single
carriage

page 130

BGMD
Right-side
single carriage

page 134

NGMD
Left-side

single carriage

HandBook @) 2011 Vil




Index of components for linear guides

IFETTIE

system partner

page 138

More possible configurations

Fill in all sections of the “TECHNICAL QUESTIONNAIRE” and send it to our Sales De-
partment to get a quote for a preassembled component kit by your nearest Bett Service
centre.

page 141

VIl HandBook @) 2011



Index of motor-driven linear guides

HandBook @) 2011 IX



Index by Product Family

Components for
DIY construction of
[T linear guides

C-shaped guide profile

Runner for sliding

Runner with rollers

Rollers.

Components for
DIY construction of

L linear gui

J-shaped guide profile

End cap

End-stop buffer kit

f Runner with rollers
@ 0 to 0 e 3 Rollers

End-stop buffer kit

gotO 0de

X VAETTIE vvibetsisemicom Tl439.0522635111




Components for
DIY construction
of @I linear
I Ewith rods

Cshaped guide with rods

Runner with steel rollers and race

End cap

End-stop buffer kit

Sliding shafts
and bushes

Flange mount with anti-friction bushing

With flange with anti-friction bushing

Guided fitting with anti-friction bushing

Flange mount with linear bearing

With flange with linear bearing

Combinations

@f

O 0O @B 0 0 O

\esoen

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬂ Xl



Index by Product Family

Components for
DIY construction of
010 - @20 single
linear guides

m Single guide

[2720) single guide

cylindrical rollers

Grooved rollers compone"s for
DIY construction
carroge of 912 double

linear guides

Profile with 012 shaft kit

Guide profile stopper block

@0 {0

Roller with [5YF] gothic arch

Robomec carriage complete with rollers

gotO 0de

XII VAETTIE vvibetsisemicom Tl439.0522635111




Index by Product Family

Components for
DIY construction
of 1P motor-driven

Profile carriage with
belt tensioner block

Guide profile with @12 shaft

Components for DIY

construction of 10-912
double linear guides
[7415, bouble guide

Belt

Cable holder chain kit

carriage for [Z11) guide

6Hl Double guide with carriage

m Double guide

Carriage form guide

[75P ouble guide with carriage

Accessories: end-stop sensors and stop

Fax+39.0522635222  bsisemi@betsistemicom | §E T 1 IS Xl




Index by Product Family

Components for
DIY construction
of @20 double linear
guides

FZ3 Double guide

] Double guide

[¥1i carriage

[&1 carriage

go “'0 0 e sracket ftting nut

XIV VAETTIE vvibetsisemicom Tl439.0522635111




Index by Product Family

PI3CN, Motor-driven
010 linear guides
in pre-assembled
kits

Wwith upper single
carriage M E[

With right-side single
carriage TR QI
8

s |
With left-side single
%[

With combined double
carriage I

CIYED, Motor-driven
linear guides

in pre-assembled
kits

With right-side
single carriage (XN 3:[

With left-side
single carriage [T

Fax+39.0522635222  bsisemi@betsistemicom | §E T 1 IS XV



Index by Product Family

Components for
DIY c%?qstmctfigr_l of
:5,¢1, motor-driven
010 linear guides

45x90 Beam

Head drive unit

Idler unit

Guide with carriage

Components for
DIY construction of
<[,/ motor-driven

20 linear guides

90x90 Beam

Belt

Cable holder chain kit

Head drive unit

: to ‘5ai 56& tdler unit
q Guide with carriage

Belt

Cable holder chain and supports kit

XVI VAETTIE vvibetsisemicom Tl439.0522635111




Components for
DIY construction
of manually driven
linear tables

Pre-assembled linear table kit

Double guide

Heads

Trapeze screw and threaded nut

Carriages

Components for DIY
construction of linear
tables with columns

@f

e " "
S b £ 2 4
> 4

Extruded part for special carriages and heads

Metric and trapeze screws, (2

with threaded nut ?

sliding bushings

Revolution counter and handwheel

Fax.+39.0522.635222  bsistemi@bettsistemi.com yffrrﬂ

XVII




-t _M = E
A young company with a 30-year experience, Bett Sistemi was established in
1994. The founding partner is an entrepreneur who has been in the industry

of innovative standard components for over 30 years. Bett Sistemi, which is
1SO 9001 and 1SO 14001-certified, today is with B group a leader in the design
and manufacture of innovative components and systems, dedicated to flexible
automation and machine safety. OM ﬁ

COMPONENTS

_ABETTR—_

3 CIGIESSE /3 Pulsa

/ \
/2 VUEMME ==

\ L /

BRE-E /3 THENAR

\/}_ TFETTH /

XVII




COMPANY
WITH QUALITY SYSTEM
CERTIFIED BY DNV

COMPANY WITH
ENVIRONMENTAL MANAGEMENT
SYSTEM CERTIFIED BY DNV

=150 14001—

_—

HandBook €) 2011




Have yon
gO’\’ All e

Remember that...
you can download the handbooks in PDF format from
www.bettsistemi.com or have them sent to your address.



Dimensioning

o. Generic angle

D Round hole
A Square hole

Delivery times

Delivery in 3 days

Express service

Documentation available

PDF

?ED 3D drawings
=

@ Static load
i}:{?} New Product
» | Technical/sales
t information
@ Products in stock
L~ =

we

T’O‘(a%}d’\( Focus
LW

not constant X

over time Warning

Food-grade

Go

B Go..
page BE  Go fo page ...

Different materials
for the same model:

stainless - . i
Additional remforcmg

EITHTEA|  Highlighted information
1 420 9 Part numbers
continued on
9 1 420 9 another page
V1420 &

Y48 Product in stock
Product not in stock

Q Product under completion at the

time of printing.

A Safety solution



Sales information

Bett Sistemi: only
one partner

|
From the manufacturer
directly to the
“consumer”

the components we offer

IFETTR

PARTNER FOR SYSTEMS IN
FLEXIBLE AUTOMATION AND
THE SAFETY OF MACHINES
Production site
Correggio, (RE) Italy
7000 m2 covered space

Certifications

COMPANY
WITH QUALITY SYSTEM

XXl

Always at your
disposal

Contact us for any
information and advice you
may need from Monday

to Friday from 08:00 to
18:00 or leave a message
on the answer phone and
we will call you back by
10:00 the next day.

Tel: +39 0522 635257

The support of an
expert technical team

Creators
of standards

If you can't find what
you need over 10000
standard components in
our catalogues,
just send us your requests
or drawings and our
engineers will study new
standards suited to your
requirements.
To get the updates
on new products and
applications, go to our
site or register fo receive
our monthly newsletter:
www.bettsistemi.com




Sales information

to satisfy your every need

It is easy and fast
to place an order

And order them:
By phone:

+39 0522 635257
By fax
+39 0522 635222

Min. amount invoiceable:
€40,00 (net of VAT)

Prices are ex works.

Express
delivery

deliverydigyi

Xpress
delivery

Goods collection:
via della Costituzione, 55
42015 Correggio, ltaly

14:00, the items in stock
(v) will be collected by
the courier on the same
day* and delivered
within 3 days* in all the
provincial capitals if you
choose standard service,
orin 1 day* if you choose
express service (10% exira
charge on the value of the
goods).

*Only for payments with
Credit Card or PayPal

Note: the above refers
to ltaly, for all shipments
to Foreign countries,
please contact our Sales
Department.

Easy
payment

.
=0 VISA
=

e Credit card
(immediate payment
receipt)

e PayPal (immediate
payment receipt)

e Bank wire transfer*
(payment receipt
within 72 hours,
see Point 5 of our
General Conditions
of Sale)

* Banca Popolare dell’

Emilia Romagna

Branch Correggio

IBAN: IT42R053876632
0000000661859

SWIFT: BPMOIT22

HandBook @) 2011 XX



Tte Ttalian Luality

Why do the BETT SISTEMI “Original components”
come in handbook format?

You'll soon find out that they are

* Practical e  Specific e Accurate
e Complete |e Original * Ecological
e Immediate | Complementary| ¢ Young

Guides and Handles,

linear tables hinges and feet
=N

7

]
L2
=

Guards, Kits Standard and
and accessaries g customized

components
for industry




TEETTIE
oniginat 54

COMPONENTS

You'll soon find out that ordering components has
never been this practical, easy and fast.

BETT SISTEMI
is ready to supply its “Original components” in:

www. bettsistemi

BETT SISTEMI is the Ideal partner
to handle your every supply need.






Components for
DIY construction of
linear guides

C-shaped guide profile

@p.8

End cap

Dp. |

End-stop buffer kit

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi regarding a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check IKe product updates at the website www.bettsistemi.com.




C-shaped guides
958 (@5 [T.]717| guide profile

Use: to construct linear guides.

anodised AFNOR 6060 aluminium 15 pm guide;
galvanised steel nuts and bolts.

State of supply for the pre-drilled version: complete with 15
M6x16 countersunk head screws and 15 M6 nuts part. 802.
Standard pack: 2 bars.

U5

&‘ © eﬂ & > @

Pg.10 || Pg.8 || Pg.9 || Pg.6 Pg.3 Pg.4

4 2l
original @4.6 hole for THIS PRODUCT

roll thread M5

. HAS BEEN UPPATEDP

the

= . 9" S
N Web Novelties

TU (CV\/LV\/@
holes

QUANTITY DISCOUNT

608241 78.42

AN Stock

659713 2x6m no 8 1 1.01 156.84
610321 2x3m yes 8 1 1.01 97.98
659743 2x6m yes 8 1 1,01 o 195,96

B e AIG L, minimum order: 2 bars, delivery in 10 days.

2 V‘ETTE www.hbettsisteni.com ~ Tel+39.0522.635111




r"l
Sliding runner 1247

Use: for profiles Part. 958.
Characteristics: runner for semi-finished product sliding.

AT High-density polyethylene.
Standard pack: 4 bars.

|Combinations |

Pg.2

QUANTITY DISCOUNT

Ei

661111 370 Yellow RAL 1006 170  B4828.05

Fax.+39.0522.635222  bsistemi@beltsistemi.com V‘ETTE 3




959  Runner for sliding
with adjustable friction

Use: in combination with guide Part. 958 to construct friction
sliding assemblies.

High-density polyethylene runner, 2 special wide-head
M8 screws in stainless steel, 1 M8x16 countersunk head screw, 2
M8 washers and 3 M8 square nuts in galvanised steel, 2 spacers in
brass.

Standard pack: 4 pieces.

Characteristics: using the central screw, you can adjust friction
inside the linear guide. As this is a runner with reduced clearance
and it is difficult to position on the profile, this adjustment has
been studied in order to obtain a friction level according to the
customer’s requirements (working conditions, temperatures or
other). In addition, given that the runner material might not
maintain the desired friction over time, this modification allows
recalibration during maintenance by tightening or loosening the
central screw.

[Combinations |

Piece

Discounts

660901 70 Yellow RAL 1006 82 4 18.53

4 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111




[21)] ¢
0nigat 5]

COMPONENTS

Have you
Y
30“' allFhe

i,
nnnnn




2054 = Runner with 3 rollers

Use: to construct sliding elements.

aluminium runner, 3 polyamide rollers, 3 steel bearings,
2 M8x20 socket head screws, 2 M4x16 grub screws, 1 M8 square nut
in galvanised steel.

Standard pack: 4 pieces.

Warning: set-up solely for vertical fitting; this part should be preferably
used instead of the roller with bearing part. 2053 to construct sliding
doors that require a higher load capacity (large doors).

The runners must always be used in pairs.

[Combinations |-

Characteristics: the position of the

the seat and the side rollers (the 2 side
rollers bear the load, while the central
roller is exclusively used to recover
clearance).

central roller can be adjusted in
order to offset any clearance between

QUANTITY DISCOUNT
Pieces

Discounts

ock

o z
682973 100 anodised 15 ym 245  [EAl69.14

6 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111




Runner with 3 rollers 2054

APPLICATION ON FIXED FRAME 45x45 DOOR FRAME 32x32

30.5 95 s
ol

%

(@ | 5

o2 e

Part. 8032
M8x20 Screw

.!'
3
r
r
>
T
)
c
5
d
o
z

9.5 30.5
le
i /@@
¢ =] 4@
N
{BQ)

APPLICATION ON FIXED FRAME 45x45 DOOR FRAME 45x45

5 s

17.5 22,5
D
<
©@
©
O

N,
op W /e

=
53

Part. 8045
M8x20 Screw

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ



C-shaped guides

LP2>aR 0 L gwithout bearing

Use: in combination with guide part. 958 to construct sliding
elements.

polyamide roller, 1 M8 wide round-head screw, 1 M8
square nut, 1 anti-crushing spacer and 1 M8 washer in galvanised
steel.

Standard pack: 12 pieces.

_4:7

Discounts

QUANTITY DISCOUNT

Pieces
%) on request

%

Order Finish Weigh —‘8 3
code [ piece
673661 35 Black RAL 9005 30 A 3.67
8 HandBook @) 2011 7‘ f TTE www.bettsistemi.com  Tel.+39.0522.635111



C-shaped guides

Use: in combination with guide part. 958 to construct sliding
elements.

polyamide roller, 1 8x22x7 ZZ steel bearing, 1 M8x26.5
wide round-head screw, 1 M8 square nut, 1 anti-crushing spacer
and 1 M8 washer in galvanised steel.

Standard pack: 12 pieces.

!\:7

—
o LZgwith bearing

2053

£ Loadon
& lindividual roller

Pieces

QUANTITY DISCOUNT

Discounts

Order Finish Weight 3 €
code g [ piece
682963 35 Black RAL 9005 41 A 4.55

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 9



C-shaped guides
2063 End cap

for linear guide

steel.
Standard pack: 8 pieces.

Combinations § »
Pg.18

Use: end cap for guides part. 958 and 2056.
polyamide end, 2 M5x20 socket head screws in galvanised ﬂ

\\\\\\\“

&

QUANTITY DISCOUNT
Pieces
Discounts
Order Colour Welght
code ﬁ piece
644717 Black RAL005 25 4 8.03

10 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111



B ‘ B C-shaped guides
== End-stop buffer kit 2246

Use: safety end-stop; it allows gentle impact absorption and
prevents stress on the mechanical sliding components.

[Tl aluminium end-stop support; rubber buffer with M8 rod;
M8 washer, M8 blind nut, M8 short hexagon nut, M8x25 socket head

screw in galvanised steel.
Characteristics: it can be positioned at any point, both at the head of

the guide and in an intermediate position.
Standard pack: 4 pieces.

= - ;
Pg.18

Pieces +
Discounts on request

Order Finish Weight —g, €
code g [ piece
634514 sand-blasted 171 M 36.74

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 11






Components for
DIY construction of

linear gui

J-shaped guide profile

Rollers

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi regarding a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




J-shaped guides
2019 B0 guide profiles

Use: for opposed guides, the rollers of the runner rest in the
V-shaped seat of the guide.

aluminium guide; M6x25 countersunk head screws and
galvanised steel M6 square nuts (only for the pre-drilled version).
Standard pack: 2 bars.

Characteristics: it is used when chippings or other material are to be
prevented from remaining stuck inside the guide, thereby preventing the
rollers from sliding.

| Combinations | )53
.
0| C, e

pg.10 || Pg.8 || Pg.9 || Pg.6 || Pg.11

DOOR UPPER SIDE

O RN T
O]

HEN ."

original @4.6 hole for
roll thread M5

DOOR LOWER SIDE

"

anodised 15 pm
683913 2x6m yes anodised 15ym  0.95 |4 215.52

B M AIG L, minimum order: 2 bars, delivery in 10 days.

14 VAETTIE vvbetsisemicom Tl439.0522635111




2054 peEE
Runner with 3 rollers

1292 psBE
LG Zgwithout bearing

2053 pomE
A gwith bearing

@

2246 B _
End-stop buffer kit

Fax.+39.0522.635222  bsistemi@bettsistemi.com V‘ETT£ 15






Components for
DIY construction

of linear
guides NS

C-shaped guide with rods

End cap

End-stop buffer kit

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi regarding a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




C-shaped guides with rods

2056 C-shapeadl- ][/ [-
with [z steel round bars

Use: to construct super smooth-sliding linear guides.

aluminium guide; round bars in AlSI 304 stainless steel;
15 M6x25 countersunk head screws and 15 galvanised steel M6
square nuts (only for the pre-drilled version).

Standard pack: 2 bars.
BE [T
ik &)
Pg.10 Pg.19 Pg.11

Fastening hole

original ©4.6 hole for
roll thread V5

Order L Pre-drilled Finish Weight § €
code Kg/m g piece
682993 2x3m no anodised 15 pm 1.60 K@ 152.31
689853 2x3m yes anodised 15 pm 1.60 EN171.84

B e AIG L, minimum order: 2 bars, delivery in 10 days.

18 y‘frr wwwhbettsistemi.com  Tel.+39.0522.635111




C-shaped guides with rods

in steel with race

Use: to construct sliding elements.

aluminium runner, 2 concentric grooved rollers and 1
eccentric grooved roller in steel, 3 M6 washers and 3 M6 nuts in
galvanised steel.

Characteristics: eccentric central roller to eliminate clearance on the
guide.

Warning: to be preferred to the runner with polyamide bearings,
part. 2054 to construct large and heavy doors (glass buffer) and for
applications that require horizontal fitting (e.g. sliding tunnels).

The runners must always be used in pairs.

Standard pack: 4 pieces.

[Combinations | )

Fastening holes
Vertical fitting

Pg.18

ey -
2 Runner with 3 rollers - 2055

Guide Part. 2056

“\ roller with

am

\11\2L\ L : Characteristics: the central roller with cam
offsets clearance between the seat and the

side rollers (in vertical assemblies, the 2 side

rollers bear the load, while the central one is
exclusively used to recover clearance).

QUANTITY DISCOUNT

Order L Finish Weight f‘d
code mm g &
682983 100 black anodised 212 78.73

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 19



2055  Runner with 3 rollers
in steel with race

APPLICATION ON FIXED FRAME 45x45 DOOR FRAME 32x32

< 55.5 >
M8
& e
@o @ @

¥ L @

< 110 .

. WALL APPLICATION

110

.@.@.

B
o
)
0
o

\ DLWN
M8
555 |
APPLICATION ON FIXED FRAME 45x45 DOOR FRAME 45x45

175 225
O &
/0
£@® 3
N
oOF O

25

M8x43 Screw

20 7‘ frrﬁ www.belisistemi.com  Tel.+39.0522.635111



2054 emE 1292 —psBE 2053 o By
Runner with 3 rollers Roller L[ dwith bearing

9

2063 —p.uBE 2246 pBE
End cap End-stop buffer kit

[N[€Z1] Linear tables

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ

21







Sliding shafts
and bushes

Flange mount with anti-friction bushing

The information provided is only intended and provided for component description purposes.
It shall not be understood as a statement made by us regarding a specific characteristic of the
same component or its suitability for a specific use. The data provided by us shall not relieve
the s from their responsibility fo evaluate, check and consequently use any and all
components. All information is based on the knowledge available at the time of publishing and
is not binding. We are not responsible for any incomplete or incorrect information or p055|b|e
damage resulting therefrom. The products may be sub|ect fo modlflcahon at any time. It is
therefore advisable to check for updates on our website www.b i.com

P




Sliding shafts and bushes
3270 Flage mount

with anti-friction bushing

Use: for linear sliding on drawn or ground shafts with possibility
of adjusting the clearance on the shaft; it allows application of

customised Fanges.
Aluminium bush, 1 polyamide anti-friction bushing, 1
DIN 7984 M8 socket head screw, 4 UNI 5931 M5 socket head screws,

1 M8 washer, 1 galvanised steel torque limiter and 1 polyamide
screw cap.

Standard pack: 4 pieces.

Characteristics: anti-friction bushing insensitive to dust and dirt,
resistant to corrosion and abrasion, silent, with possibility of using

it on not hardened shafts, operating temperature: +90°C to -50°C,
friction coefficient 0.08 - 0.18 pi

The limit switch prevents the bushings from locking on the shaft.

- nate
m"- # # E\,LSV\/;M d:‘vtstev M8 washer
et R 7 |

M8x16 socket head screw

Screw cap
38
s L ([=bl] 547
1 f ]
AL
N | &
© Fe © !
o < T -
) .
i
= L T I

46
for M5x12 UNI 5931
socket head screws
QUANTITY DISCOUNT
ay
Discounts m

Tolerance Finish Weight

600747 +0.04 +0.085 62 2650 18400 shot peening 277
602447 35 +0.04+0.085 68 3420 24000 shot peening 277 69.47

B [ ETAMGEEA minimum order: 4 pieces, delivery in 15 days.

24 7‘ fTTE wwwibeltsistemi.com  Tel.+39.0522.635111




L]
EB— Sliding shafts and bushes

ROBO ||r‘

=" With flange 3287
with anti-friction bushing

Use: for linear sliding on drawn or ground shafts with possibility

05 ad'ustini the clearance on the shaft.
Aluminium bush, 1 polyamide anti-friction bushing,
1 DIN 7984 M8 socket head screw, 1 M8 washer, 1 galvanised steel

torque limiter and 1 polyamide screw cap.

Standard pack: 4 pieces.

Characteristics: anti-friction bushing insensitive to dust and dirt,
resistant to corrosion and abrasion, silent, with possibility of using
it on not hardened shafts, operating temperature: +90°C to -50°C,
friction coefficient 0.08 - 0.18 p

The limit switch prevents the bushings from locking on the
shaft.

combinators [ o # ’ Ow reguest we can sup‘PLg

the bush complete wit

customised flange
Len/snafe
® JV‘-S\:CY M8 washer
Leavanet &
c M8x16 socket head screw
Screw cap
= 62
L) N 46 56

Order D1 e Max static Finish Weight g
code [7] load load (N g 2o
600787 30  +0.04 +0.085 2650 18400 shot peening 370 [N 86.67

B [ ETAMGEEA minimum order 4 pieces, delivery in 20 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 25




Sliding shafts and bushes
3828  With flange

with anti-friction bushing

Use: for linear sliding on drawn or ground shafts with possibility ’_MV_,,__,
-1 =

05 ad'ustini the clearance on the shaft. X :“' 3
Aluminium bush, 1 polyamide anti-friction bushing, 1 z AEY =

DIN 985 self-locking hexagon nut, 4 UNI 5931 socket head screws in T panl
galvanised steel.

Standard pack: 4 pieces.

Characteristics: anti-friction bushing insensitive to dust and dirt,
resistant to corrosion and abrasion, silent, with possibility of using
it on not hardened shafts, operating temperature: +90°C to -50°C,
friction coefficient 0.08 - 0.18 pi.

 corribin i ton's |4 #ﬁ g
Adj.,(stabLe
clearance
M8x35

7

[/
2]
® 34,9

QUANTITY DISCOUNT

D1 Tolerance Max dynamic  Max static
code [%) load (N) load (N) g
632068 30 +0,0+0,2 2650 18400 shot peening 270 [l 50,55

26 VAETTIE vvbetsisemicom Tl439.0522635111



o Sliding shafts and bushes
Guided fitting 3323

with anti-friction bushing

Use: for linear sliding on drawn or ground shafts with possibility
of adjusting the clearance on the shaft; it allows lock joining 35mm

wide £at bars.
Aluminium bush, 1 polyamide anti-friction bushing, 1

DIN 7984 M8 socket head screw, 1 M8 washer, 1 galvanised steel
torque limiter and 1 polyamide screw cap.

Standard pack: 4 pieces.

Characteristics: anti-friction bushing insensitive to dust and dirt,
resistant to corrosion and abrasion, silent, with possibility of using
it on not hardened shafts, operating temperature: +90°C to -50°C,
friction coefficient 0.08 - 0.18 p

The limit switch prevents the bushings from locking on the shaft.

F:
Ex &= M8 washer M8x16 socket head screw

Screw cap

Max static Finish

load (N g P
600767 35  +0.04 +0.085 3420 24000 shot peening 288 79.61

B [ TAMGEEA minimum order 4 pieces, delivery in 20 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 27




3285 Flange mount

with linear bearing

Use: for linear sliding on hardened and ground shafts; it allows
application on customised flanges.

Aluminium bush, 1 linear ball bearing, 1 DIN 7984 M8
socket head screw, 4 UNI 5931 M5 socket head screws, 1 M8 washer,
1 galvanised steel torque limiter and 1 polyamide screw cap.
Standard pack: 4 pieces.

2|

Bush/sh uft
clearance adjuster

shaft tolerance
@zo he

M8 washer

|| M8x16 socket head screw
a

Screw cap
46 38
‘ 3173
|
— = T
O < TT IO \ &
3 256 | = |
©|l e ! e AR I R U S I
3| _ = Fl-- 5N | ‘
S | L P
l.O_ P, i '
Qy L\ 0 2 I |
- &ﬁ ! i 45
- for M5x12 UNI 5931
socket head screws
| code o | >
600757 30 1960 1890 shot peening 312 JEN 30.13

B TG minimum order 4 pieces, delivery in 20 days.

28 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111



L]
B2— Sliding shafts and bushes

ROBO iN

~ =" With flange 3286

with linear bearing

Use: for linear sliding on hardened and ground shafts.
200 Aluminium bush, 1 linear ball bearing, 1 DIN 7984 M8
socket head screw, 1 M8 washer, 1 galvanised steel torque limiter
and 1 polyamide screw cap.

Standard pack: 4 pieces.

[Combinations] -3 g
B

Bush/sh u-ft .
OW Ve UELS]
cleavance “0‘:} uster lNc,owq:Lete

M8 washer
M8x16 socket head screw
 M8x16 socket head screw.

‘ | ¥ Screw cap

==l \ 4

the bush
with custowised flande

we can SWppLY

56
- @
956. 0’\ | |
N o | 7 /122
© 1724
2 | :
[=} [ ]
QL NS
[ _ﬁ I T
of | oss <7 %~
Shaft tolerd nee 60
¢30 he QUANTITY DISCOUNT
Discoums-
Order i Max static Finish  Weight &}
code load (N &5
600777 30 1960 1890 shot peening 4]0 L 63.

B [ ETAMGEEA minimum order 4 pieces, delivery in 20 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T THIE 29




Sliding shafts and bushes B——
2566 Slldmi shait
round [gE:1¢e [Ty [=le chrome—plated ground

use: for sliding bushes, suitable for linear ball bearing.
CF53 hardened steel (60-65 HRC).

Characteristics: profondita della tempra: 1 to 2.5 mm;
cromatura prof. 15 pm (950-1100 HV);

rettilineita: 0,5/1000 mm.

rugosita: <0,02 ym

Standard pack: 6 metres.

[V

QUANTITY DISCOUNT
Bars
Discounts -m
Order DI L Finish
code [7] m
654307 30 hé 3 hardened _chrome-plated ground 5.51 1195

B A minimum order 6 metres, delivery in 12 days.

30 VAETT! wwwbeisisteri.com Tel+39.0522.635111




oA — Sliding shafts and bushes

[gelllslslchrome plated ground

use: for sliding bushes, [ld@suitable for linear ball bear-

ing.
€45 steel shaft.
Characteristics: chrome-plating depth 15 pm (950-1100 HV);
rettilineita: 0,5/1000 mm.
rugosita: <0,02 ym
Standard pack: 6 metres.

e Sliding shaft 3291

L

QUANTITY DISCOUNT

m
641547 2 chrome-plated  ground
641437 30 h7 3 chrome-plated  ground
641557 35h7 2 chrome-plated ~ ground
641457 35h7 3 chrome-plated  ground

B A6 minimum order 6 metres, delivery in 12 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 31



Sliding shafts and bushes
3292  Sliding tube

in steel

Use: for sliding bushes.
ST52 steel / EN 10305-1.
Standard pack: 6 metres.

| Combinations | =3

0

D1 / /

/
Th ‘ | L % |
QUANTITY DISCOUNT
on request they may be delivered cut to size and bevelled Bars
(€3 per cut) and supplied in kits z— Discounts

Order D1 Th.

—

Finish We

m

621337 30+005/-015 5 2 brushed, not nickel-plated 69.16
641507 30 +0.05/015 5 2 brushing + electrolytic nickel-plating 3.09 101.66
621347 3540.05/015 5 2 brushed, not nickel-plated 3.88 76.45
689206  35+005/-015 5 2 brushing + electrolytic nickel-plating 3.88 108.95
621357 40+005/015 4 2 brushed, not nickel-plated 273 P4 74.84
602467 40 +005/:015 4 2 brushing + electrolytic nickel-plating 273 N 107.34
621367  50+0.05/015 5 2 brushed, not nickel-plated 578 KA 94.57
641517 50 40.05/-015 5 2 brushing + electrolytic nickel-plating 578 KM 127.07
621377 60+0.05/-015 5 2 brushed, not nickel-plated 7.06 I 106.40
641527  60+005/-015 5 2 brushing + electrolytic nickel-plating 7.06 N 138.90

Other thicknesses \j

on request
B AT 300, minimum order 3 bars; other diameters, minimum order 1 bar, delivery in 15 days.

32 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111




Sliding shafts and bushes

Ca ILT
for ﬁjbe T millimetres

Use: for end capping.
[MPITIET] RAL9005 black polyethylene
Standard pack: 200 pieces.
A
[11]
O
Th i
QUANTITY DISCOUNT
Order A Thickness B C Finish Weight A‘g €
2 5
O1ILT30A 30 1.03 5 16.5 Black RAL9005  3.44 8 0.28
O1ILT40A 40 1.0-3 5] 16.5 Black RAL 9005 59 48 0.34
01IL40TB 40 3.0-5 5 16.5 Black RAL9005  5.45 48 0.32
O1ILT50A 50 1.0-3 5 16.5 Black RAL 9005 9.7 8 0.40
01ILT50B 50 2545 5 16.5 Black RAL9005  7.45 8 0.40
O1ILT60A 60  1.0-3 5 23.5 Black RAL 9005 16.4 4 0.50

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 33






Components for
DIY construction of
010 - @20 single
linear quides

m Single guide

m Single guide

Grooved rollers

Carriage

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi regarding a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




010-@20 Single linear guides
S10-> [A[V Single guide

Use: when it is necessary to increase or reduce the distance between the
guides, when clearance must be set up between the 2 guides or when the
guides must be fitted inwards.

sliding shaft in hardened, chrome-plated and ground
Cf53 steel or hardened and ground AISI 431 stainless steel;
aluminium profile.

Characteristics: tolerance on diameter h7.

Tolerance on cut +1 mm.

Standard pack: 1 piece.

|Combinations | )53 @3.9

Pg.40  Pg.42
6-5‘ L (max 6000)
i
Q
2w U/
N| T ©
|
k. V©T>
5
14.5
QUANTITY DISCOUNT
Discoun
Order L Material Profile

of shaft finish

0300 300 steel anodised 0.318 11,12
0500 500 steel anodised 0.53 18,54
0600 600 steel anodised 0.636 22,25
0685 685 steel anodised 0.726 25,40
1000 1000 steel anodised 1.06 37,08

B e AIG e minimum order: 1 piece, delivery in 10 days.

36 VAETTIE vvbetsisemicom Tl439.0522635111




5[ Single guide WV S10

3
1100 1100 steel anodised 1.166 40,78
1500 1500 steel anodised 1.59 55,66
2000 2000 steel anodised 2.12 74,14
2500 2500 steel anodised 2.65 92,68
3000 3000 steel anodised 3.18 111,22
3500 3500 steel anodised 3.71 129,74
4000 4000 steel anodised 4.24 148,28
4500 4500 steel anodised 4.77 166,82
5000 5000 steel anodised 5.3 185,35
5500 5500 steel anodised 5.83 203,89
6000 6000 steel anodised 6.36 222,42

B A AIE T minimum order: 1 piece, delivery in 10 days.
To order other customised measurements, use the order code shown below:

Order code Ordering example

1600 10 TNl

[5]o]
Length L in mm (max 6000) (070 steel guide
with length L = 1250 mm)

Steel sliding shaft = A
Stainless steel sliding shaft =1

Recommendations to fit and fasten L
the rods: drill and fasten the guides using
M5 socket head screws following the drilling 0 < 300
distance between centres shown

at the side. Templates must be used
to drill and when tightening the
screws in order to obtain parallelism
between the guides. A

w A
A 4

A 4

M5 SOCKET HEAD SCREW

Example of an inward Example of an outdoor
or outward fitting or overlapping fitting

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ 37



010-@20 Single linear guides
S20 = [771i Single guide

Use: when it is necessary to increase or reduce the distance between the
guides, when clearance must be set up between the 2 guides or when the
guides must be fitted inwards.

sliding shaft in hardened, chrome-plated and ground
Cf53 steel or hardened and ground AISI 431 stainless steel;
aluminium profile.

Characteristics: tolerance on diameter h7.

Tolerance on cut +1 mm.

Standard pack: 1 piece.

|Combinations | =3 @8 (]

Pg.46  Pg.48

L (max 6000)

T

220
|

. 342
L 27
. 25
o,

27

Material Profile
finish

anodised

anodised

0500 500 steel anodised 1.50 48,85
0600 600 steel anodised 1.87 40,34
0685 685 steel anodised 2.13 46,05
0700 700 steel anodised 2.18 47,06
0800 800 steel anodised 2.50 53,78

B e AIG e minimum order: 1 piece, delivery in 10 days.

38 VAETTIE vvbetsisemicom Tl439.0522635111




o
e

[xp11] Single guide \ S20

N 3

mm »
1000 1000 steel anodised 3.12 67,23
1100 1100 steel anodised 3.432 73,95
1500 1500 steel anodised 4.68 100,85
2000 2000 steel anodised 6.24 134,34
2500 2500 steel anodised 7.8 168,08
3000 3000 steel anodised 9.36 201,69
3500 3500 steel anodised 10.92 235,31
4000 4000 steel anodised 12.48 268,92
4500 4500 steel anodised 14 302,54
5000 5000 steel anodised 15.6 336,15
5500 5500 steel anodised 17.16 369,77
6000 6000 steel anodised 18.72 403,38

a minimum order: 1 piece, delivery in 10 days.
To order other customised measurements, use the order code shown below:
Order code Ordering example
I A [1]2]5]0]
Length L in mm (max 6000) (020 steel guide

with length L = 1250 mm
Steel sliding shaft = A g )

Stainless steel sliding shaft =1

Recommendations to fit and fasten il >
the rods: drill and fasten the guides using 30 ., 300
M5 socket head screws following the drilling i
distance between centres shown at the side.
Templates must be used to drill and when
tightening the screws in order to

obtain parallelism between the guides.

A 4

M6 SOCKET HEAD SCREW

Example of an inward Example of an outdoor
or outward fitting ) or overlapping fitting

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ 39



010-020 Single linear guides
LG00 = Grooved rollers

for [ZIY guide

Use: for S10 and D10 guides.

[MIATIN AlSI 431 stainless steel or steel roller and pin (see table).
Characteristics: the pin is provided with a hexagon socket at the
two ends for pre-load adjustment from the easier side. The steel
rollers have a dust seal in the ZZ version, whereas the stainless steel
rollers have it in the 2RS version.

A nut is supplied together with a Belleville washer, which has the
dual function of a washer and a self-locking fitting.

Standard pack: 1 piece.

Pg.36  Pg.80 Pg.44  Pg.82

Legend :

0 axial load
@ radial load

Type of D d L1 2 13 L Bl B2 B3 B4 Es |

roller

106 22 M6 11 145 95 24 65 8 25 7 25 145 2.5

1

208 30 M8 14 18 14 32 9 9 45 95 3 18

2

210 39 MI0 18 225 19 415 11 115 4 15 5 22

2

40 7‘ fTTE wwwibeltsistemi.com  Tel.+39.0522.635111



010-@20 Single linear guides

Grooved rollers N/ LGOO
for [ZI1 guide

QUANTITY DISCOUNT

Type of Loads Version Material
roller

106 300 300 concentric steel
106 300 300 eccentric steel

[[eloloeRy208 A 208 400 1000 concentric steel 70 2 26,05
[[e)loNa208 A 208 400 1000 eccentric steel 70 4 26,05
[[e))ke210 A 210 600 1300 concentric steel 150 K48 30,03
[[ellol39210 A 210 600 1300 eccentric steel 150 4 30,03

feXelJ210 | 210 600 1300  concentric  HTIEYE steel 150 50,91
LGOO E Spafell 210 600 1300 eccentric [stainlessB ] 150 50,91
B [ e AR Eak minimum order: 2 pieces, delivery in 10 days.

To order other customised measurements, use the order code shown below:
Order code Ordering example

(1Goo_ s I LG0o C s [T

Stegl =A (for a 106-type concentric grooved roller,
Stainless steel =1 in " steel)
Type of roller P§.40 BE

Concentric roller = C
Eccentric roller = E

Characteristics of the grooved rollers:

® Our systems slide on grooved rollers with an idle pin.

o Each roller is sized with a concentric pin and eccentric pin. The concentric rollers obtain parallelism between
the plate and guide, any clearance is eliminated with the eccentric rollers and the system can be pre-loaded for
smoother or frictional sliding, according to the application requirements.

The 120° groove on the external ring guarantees even distribution of the load on 2 points of the guide, therefore
each carriage slides smoothly along its guide.

® The pin is provided with a hexagon socket at the two ends for pre-load adjustment from the easier side. A nut is
supplied together with a Belleville washer, which has the dual function of a washer and a self-locking fitting. If
the self-locking function is to be improved further, the normal nut can be replaced with a self-locking nut.

Fax.+39.0522.635222  bsistemi@bettsistemi.com V‘ETTE 41



010-020 Single linear guides
LG0O0  Cylindrical rollers

for 24l guide
Use: for S10 and D10 guides.
[MIATTAIN AlSI 431 stainless steel or steel roller and pin (see table).
Characteristics: the pin is provided with a hexagon socket at the
two ends for pre-load adjustment from the easier side. The steel
rollers have a dust seal in the ZZ version, whereas the stainless steel
rollers have it in the 2RS version.
A nut is supplied together with a Belleville washer, which has the
dual function of a washer and a self-locking fitting.
Standard pack: 1 piece.

[Combinations | )

i

| 3 @ radial load 400 N
Pg.36  Pg.80

1@ Jj I8

S “C” (UL roller
N

34 H7
Es.5

2 | 17 3
10.5011.5 4] 15
22 |19

41

Order Type of Loads Version

roller
210 1300 concentric steel 30,03
210 1300 30,03

Ieloo)efe2 10 | 210 1300 concentric stainlessPia] 50,91
2 10 1 210 1300 eccentric stainlessfiEe ! 50,91
a minimum order: 2 pieces, delivery in 10 days..
To order other customised measurements, use the order code shown below:
Order code steel - A Ordering example
—> Stainless steel = m
Type of roller Pg.40 B Ordering example fc%ype concentric

Concentric roller = € cylindrical roller, in 2 steel
Eccentric roller = E

42 7‘ fTTE wwwibeltsistemi.com  Tel.+39.0522.635111

eccentric steel




Fitting instructions
cylindrical and grooved rollers

cylindrical rollers
on the other side

grooved rollers
on one side

<

=

[

* O = angle due to errors in parallelism or the
structure on which the guides are installed

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬁ 43



LGOO=>» Carriages

for [53I1 guide
Use: for S10 and D10 guides.
[NIZZA N Fe37 steel or anodised aluminium carriage, steel rollers.

ST 07721 the carriages can be supplied with or without rollers. /A\
The complete versions are supplied with disassembled rollers for any B S -
subsequent working. e

Standard pack: 1 piece.

|Combinations |5 " ";

(3]
<
A A 4
3 y
4
‘ N
=)
< +H
I 2 <
SR N
>\ (Q“ =) A 4
S\ =
‘\E.J/’ ‘gJ, ¥ < Y
A
[52)
<
D (B4, D B3
» Bl B2 |B1
B+0,2
Dimensions of the STANDARD carriages Type of
A B H Al A2 A3* A4* Bl B2 B3* B4* D d DI roller

120 80 10 18.5 83 7.5 61 19.5 41 85 19 22 6 16 0.70 0.25 106
140 120 15 25 90 10 60 25 70 10 40 30 8 20 1.90 0.60 208
150 120 20 26 98 7 60 25 70 6 32 38 10 26 2.50 0.90 210

Indicative values based on eccentric adjustment.

Minimum dimensions for SPECIAL carriages Type of
A B H Al A2 A3* A4* Bl B2 B3* B4* D d DI | roller
107 51 10 12 83 1 61 12 27 1 5 22 6 16 106
122 67 15 16 90 1 60 16 35 1 5 30 8 20 208
138 77 20 20 98 1 60 175 40 1 5 39 10 16 210

44 7‘ frr wwwibeltsistemi.com  Tel.+39.0522.635111




Carriages WV LGOO
for m guide QUANTITY DISCOUNT

Pieces

Type of Rollers

roller
steel 0.82
aluminium 0.37
aluminium 0.25
steel 2.18
aluminium 0.88
aluminium 0.60
steel 3.10
steel 2.50
aluminium 1.50
aluminium 0.90

0 YT A Tk minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:

order code Ordering example
Wlth rollers = C
Wlthout rollers =S [£e10[0}208]§000 S
standard carriage = 000 (208-type standard carriage in

specml carriages = distance between centres B2 gluminium without rollers)
aluminium = L
st;'e, iniu Te208[]120 s
type of ro”ey Pg.40 BE (208-type distance between
centres B2=120 special carriage, in
_ aluminium without rollers)
INSTRUCTIONS TO ADJUST CLEARANCE ON THE CARRIAGES:
- fit and fasten the two concentric rollers marked with the letter C, on one of the two carriage sliding sides
(fig. 7).
- fit the other two eccentric rollers marked with the letter E, on the opposite side (fig. 1) and position them
using an Allen wrench in the point with greatest clearance.
- insert the guide in the carriage.
- adjust and tighten the two eccentric rollers E (fig.2) to give the correct pre-load (fig. 3).
ATTENTION: always fit the rollers in pairs as shown in the figure; do not pre-load the eccentric rollers
excessively so as to prevent premature wear of the bars and damaging the rollers.

Fig. 1 C . Fig. 2 Fig. 3 C
OEC ) CRO)

- > ] & -1 [ A

+ 4 m = T

Fax.+39.0522.635222  bsistemi@beltsistemi.com 7‘ frTE 45



LGOO = Grooved rollers
for 22\ guide

Use: for S20 and D20, G20 guides.

[MIIZZATN Alst 431 stainless steel or steel roller and pin (see table).

Characteristics: the pin is provided with a hexagon socket at the

two ends for pre-load adjustment from the easier side. The steel

rollers have a dust seal in the ZZ version, whereas the stainless steel

rollers have it in the 2RS version.

A nut is supplied together with a Belleville washer, which has the

dual function of a washer and a self-locking fitting.

Standard pack: 1 piece.

Combinations | -}
= ¢ G
Y™

Pg.38 Pg.l00 Pg.102 Pg.50  Pg.104 Pg.106

@ axial load
120°__ @ radial load
eccentric roller “E”

A <0 The 312 types do not
have the discharge

-

concentr

Type of D d L1 2 13 L Bl B2 B3 B4 Es | SE sl

roller
312 40 MI12 18 24 19 43 11 13 4 15 5 28 4 2
416 57 M16 22 335 24 575 145 19 10 14 8 35 8 35

46 7‘ frrﬁ wwwibeltsistemi.com  Tel.+39.0522.635111




— @10-020 Single linear guides

" Grooved rollers V LG0O

for 2211} guide

QUANTITY DISCOUNT

Type of Loads Version
roller A (N) R (N)
[elON312 A 312 800 1600 concentric steel 165

lelololla1312 A 312 800 1600 eccentric steel 165

el ON|416 A 416 1600 3500 concentric steel 415
eI 416 A 416 1600 3500 eccentric steel 415 43,28

B [ AR minimum order: 2 pieces, delivery in 10 days.

To order other customised measurements, use the order code shown below:
Order code Ordering example
.G00 C sEIPHIN
B Steel = A (312-type concentric grooved roller,
Stainless steel = | in stainless steel)

—=> Type of roller Pg.46 BE

Concentric roller = C
Eccentric roller = E

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 47



LGO0  Cylindrical rollers
for 52N guide

Use: for S20 and D20, G20 guides.

[MIIZZATN Alst 431 stainless steel or steel roller and pin (see table).

Characteristics: the pin is provided with a hexagon socket at the

two ends for pre-load adjustment from the easier side. The steel

rollers have a dust seal in the ZZ version, whereas the stainless steel

rollers have it in the 2RS version.

A nut is supplied together with a Belleville washer, which has the

dual function of a washer and a self-locking fitting.

Standard pack: 1 piece.

| Combinations | 5}
— 1P Gy
c9eG--O-M

Pg.38 Pg.l00 Pg.102 Pg.50 Pg.104 Pg.106

radial load
v

eccentric roller «g»

pH?
Es
T
il
L

s1 L l.'s
B1 |B2 B3| B4
L2, L3,

\ 4

Type of D d L1 2 13 L Bl B2 B3 B4 E Es | SHRS]
roller
312 36 MI2 20 235 19 425105 13 4 15 1 5 28 3 0.5
416 50 M16 25 34 24 58 15 19 10 14 15 8 35 65 25

48 7‘ frrﬁ wwwibeltsistemi.com  Tel.+39.0522.635111




_P 010-@20 Single linear guides
«= cylindrical rollers WV LGOO

for 5P guide

QUANTITY DISCOUNT

Type of Loads Version

roller

[elololefe312 A 1600 concentric steel 190
[[elololix@312 A 312 1600 eccentric steel 190

[[elololee 416 A 416 3500 concentric steel 480
lelooliFe416 A 416 3500 eccentric steel 480

B [ AR minimum order: 2 pieces, delivery in 10 days.

To order other customised measurements, use the order code shown below:

Order code Ordering example

416 |
B Stegl =A (416-type concentric cylindrical roller,

Stainless steel = 1 : H
in stainless steel)
—=> Type of roller Pg.46 B

Concentric roller = C
Eccentric roller = E

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 49



LG00 = Carriages
for 22N guide

Use: for S20 and D20 guides.
[NIZZA N Fe37 steel or anodised aluminium carriage, steel rollers.

ST 07721 the carriages can be supplied with or without rollers. /A\
The complete versions are supplied with disassembled rollers for any B S -
subsequent working. e

Standard pack: 1 piece.
s

Pg.38  Pg.100

(32]
<
A 4
= L
8 A I
@ a5
SA Y A
L o~
=)
< +
< < d
A
,,,,, a v
Y< v
: 4
\ ]
| <
D B3
Bl
Dimensions of the STANDARD carriages Type of
A B H Al A2 A3* A4* Bl B2 B3* B4* D d DI roller

180 150 20 27 126 9 78 30 90 9 48 42 12 30 3.80 1.30 312
200 180 25 40 140 11 82 40 100 11 42 58 16 36 7.00 2.60 416
Indicative values based on eccentric adjustment.

Minimum dimensions for SPECIAL carriages Type of
A B H Al A2 A3* A4* Bl B2 B3* B4* D d DI | roller
164 91 20 22 126 1 86 22 47 1 5 40 12 30 312
200 123 25 30 140 1 83 30 63 1 5 57 16 36 416

50 7‘ frr www.befisistemi.com  Tel.+39.0522.635111




Carriages N LGOO
for o)) gmde

QUANTITY DISCOUNT

Pieces

H  Rollers

aluminium 1.96

aluminium 1.30

steel 8.66

steel 7.00

aluminium 4.26

1600 7 | SN aluminium 2.60

[ = | minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:

omer code ith roll c Ordering example
=, With rollers =
= without rollers = S LGOO §000 S

(416-type standard carriage in

Stﬂ"dﬂm carriage = 000 aluminium without rollers)

special carriages = distance between centres B2

alummmm L LGOO [§220 S
steel = (416-type distance between
type of roller  Pg.46 B centres B2=220 special carriage, in

aluminium without rollers)

lNSTRUCT IONS TO ADJUST CLEARANCE ON THE CARRIAGES:

- fit and fasten the two concentric rollers marked with the letter C, on one of the two carriage sliding sides
(fig. 1).
- fit the other two eccentric rollers marked with the letter E, on the opposite side (fig. 1) and position them
using an Allen wrench in the point with greatest clearance.
- insert the guide in the carriage.
- adjust and tighten the two eccentric rollers E (fig.2) to give the correct pre-load (fig. 3).
ATTENTION: always fit the rollers in pairs as shown in the figure; do not pre-load the eccentric rollers
excessively so as to prevent premature wear of the bars and damaging the rollers.

Fig. 1 C — Fig. 2 Fig. 3 C L
OEC] ) CRO)

S 1= <

& + ., 4 + L

Fax.+39.0522.635222  bsistemi@beltsistemi.com 7‘ frTE 51



motor-driven

Jf“—\




Components for
DIY construction
of @ 12 double
linear quides

Profile with @12 shaft kit

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi re; ordinﬁ a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




012 Double linear guides 7
3837 Profile with ZEFIIA L Kit ¢

Use: inserted in the groove of Robomec profiles for DIY construction —
of @12 linear guides. M5 Safety retaining grub,

AFNOR 6060 aluminium profile, Cf53 steel shaft (60-65 screw (optional

HRC).

Shaft characteristics: hardening depth: from 1 to 2.5 mm; -
straightness: 0.5/1000 mm;

roughness: <0.02 ym.
Standard pack: 6 bars.

Compinations |3
8) 8,1

Pg.71  Pg.58 Pg.59 Pg.60  Pg.61

Fitting sequence:

1. insert the shaft-holder profile in
the Robomec profile groove

2. insert the shaft in the shaft-
holder profile.

[]
O é@b QUANTITY DISCOUNT

CLTRCNUNN 1+ | 6+ |12+ 24+

D LLTECNN 1+ | 3+ | 6+ 12+
DAL - [10%|-17%| on request

Order Length Finish Weight § €

1%}

692497 3 anodised 15 ym ground 1.24 B4 58,89
692507 <) anodised 15 pm ground 1.24 E@109,92
692517 3 anodised 15 ym _ chrome-plated and ground ~ 1.24 K@l 77,34
692527 6 anodised 15 ym__ chrome-plated and ground ~ 1.24 K4l 140,82

54 VAETTIE vvbetsisemicom Tl439.0522635111



L]
@12 Double linear guides
Fitting of part. 3837

combinations with Robomec profiles

o Single combinations:

@F%

©) ©)

Fax.+39.0522.635222  bsistemi@bettsistemi.com V‘ETTE 55



@12 Double linear guides
2160  Guide profile stopper
block

Use: to block shaft-holder profile part. 2130.

[MIATTl 1 aluminium block, 1 M6x25 UNI 5931 (1SO 4017) screw
and 1 galvanised steel M6 square nut.

Standard pack: 32 pieces.

QUANTITY DISCOUNT

Piece

PRI - [10%]17%] on request

Order Finish Weight § €
code g Pl piece
699033 sand-blasted 24 8 4,36

56 VAETTIE vvbetsisemicom Tl439.0522635111



IS ETTIR
0nigin 5]

COMPONENTS

Have you
Y
30“' allFhe



@12 Double linear guides

2190 (@] [d47144][s roller kit
with pin

Use: to construct sliding carriages.

[IIZZE N pin and spacer washer in burnished steel, grooved roller

in steel.
Standard pack: 16 pieces.

Spacer washer
H=3,5

De=@35 - d=@12

Concentric pin

(19 wrench)
QUANTITY DISCOUNT
Piece
PRIT - [10%]17%] on request
Order C d ds A Da Load coefficient Weight *g €
code Static (N) Dynamic (N) g iz piece
608974 159 12 12 21.75 33.1 6000 10500 110 8 14,19

58 7‘ frr www.befisistemi.com  Tel.+39.0522.635111



@12 Double linear guides
roller kit 2191

with pin
Use: to construct sliding carriages.
pin, eccentric bushing (eccentricity 2 mm) and spacer

washer in burnished steel, grooved roller in steel.
Standard pack: 16 pieces.

Spacer washer
H=35

Gothic arch roller
De=@35 - d=@12

Eccentric bushing 2 mm
(19 wrench)

Concentric pin
(4 hexagonal wrench)

QUANTITY DISCOUNT

Piece
10%| :

Order C d ds A Da Load coefficient Weig %‘6, €
code Static (N) Dynamic (N) g iz piece
608984 159 12 12 21.75 33.1 6000 10500 108 i 16,37

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 59



@12 Double linear guides
2132 AG roller kit

for Robomec groove

Use: to construct sliding carriages.

fastening plate and grub screw in galvanised steel, pin
and spacer washer in burnished steel, grooved roller in steel.
Standard pack: 2 pieces.

Fastening plate

Grub screw M8x10

Spacer washer
H=3,5

Gothic arch roller
Ed=@35 - 1d=@12

50

Concentric

19 wrench
QUANTITY DISCOUNT
Piece
Discounts
Order Load coefficient Weight A‘é €
code Static (N) Dynamic (N) g [l piece
696873 6000 10500 198 17,72

B T AIG A minimum order: 2 pieces, delivery in 5 days.

60 VAETTIE vvbetsisemicom Tl439.0522635111




L]
212 Double. linear guides
= [ZZTI0T4T AG roller kit 2133

for Robomec groove

Use: to construct sliding carriages.

fastening plate and grub screw in galvanised steel,
pin, eccentric bushing (eccentricity 2 mm) and spacer washer in
burnished steel, grooved roller in steel.

Standard pack: 2 pieces.

Fastening plate

% Grub screw M8x10

pacer washer
H=3,5

Gothic arch roller
Ed=@35 - Id=212

Eccentric bushing 2 mm
19 wrench

) Concentric pin
(4 hexagonal wrench)

QUANTITY DISCOUNT

Order Load coefficient
code Static (N) Dynamic (N)
696883 6000 10500

O Y TG TEL minimum order: 2 pieces, delivery in 5 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 61




012 Double linear guides

2134

Use: for @12 guides.
anodised aluminium profiles, 4 ABS end caps, 2 eccentric
roller kits, 2 concentric roller kits, 4 guards for rollers (see table)

Standard pack: 1 piece.

Profile carriage

696893

avds for
9" ollers

Other configurations Pg.63 BS

150.5

)

185

C

Version

without roller guards

anodised

692537 150.5 185 45 with roller guards anodised

696903 1955 185 90 without roller guards anodised  3.03 181,12
692547 1955 185 90 with roller guards anodised  3.13 266,12
673674 195.5 320 90 without roller guards anodised  2.60 193,71
692557 195.5 320 90 with roller guards anodised  2.70 278,71
696913 2855 185 180 without roller guards anodised  5.00 190,08
692567 2855 185 180 with roller guards anodised  5.10 275,08

B on request

B AR minimum order: 1 piece, delivery in 10 days.

7‘ ETTE www.betisistemi.com  Tel.+39.0522.635111

62 HandBook @) 2011



Double guide system [z

on Robomec profiles

Carriage
Code 696893

Carriage
Code 696903-673674

Carriage
Code 696913
nan| []
o] O
U o o ol

U (L5 UJ

Fax.+39.0522.635222  bsistemi@bettsistemi.com V‘ETTE 63



DRIVE

CARRIAGE WITH
BELT TENSIONER
BLOCK
#Pg.68

GUIDE PROFILE
WITH 012 SHAFT
¥EPg.70

CARRIAGE WITH
BELT TENSIONER
BLOCK

GUIDE PROFILE
WITH @12 SHAFT




Components for
DIY construction
of [“1F: motor-driven
linear guides

90x90 Series
By 10

p-176 g

45x90 and 90x90 Beam

Profile carriage with
belt tensioner block

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made bz Bett gistemi rey ordinﬁ a specific characteristic of the
component or its suitability for a specific use. The data provided shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




@12 Motor-driven linear guides
4153

Use: to motorise the linear guide with a 45x90 profile.

ST ETTAN head complete with 4 M8X20 UNI 5933 (1SO 10642)
screws and 4 M8 rectangular nuts to fasten to the beam, end-stop
buffer.

[MFTZETN aluminium head, steel pulley, galvanised steel nuts and
bolts, rubber end-stop buffer.

Technical characteristics: 1 turn of pulley = 200 mm.
Standard pack: 1 piece.

| 50 80
o | ‘@ e P
0] @
13 |
S . _
o ©
e [
|
o | Q 8
@ [
|
ol || lof:
' n
H7 <
12 mm depth (on both sides) -+29- RER
astewed
g 3 tf the beam
QUANTITY DISCOUNT
Pieces -
Discounts
Compatible Compatible Finish

code mm mm gearmotor belt
691937 14 68 8xM6 Bonf.MVF/30 692072 (AT 10/25) anodised 2.2
691947 18 68 8xM6 Bonf.MVF/44* 692072 (AT 10/25) anodised 2.2
691957 19 68 8xMé 692072 (AT 10/25) anodised 2.2
*Fit Bonf.MVF/44 B with adapter flange.
B e ATIG T minimum order: 1 piece, delivery in 10 days.

66 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111




4154

Use: to motorise the linear guide with a 90x90 profile.
SEATETTA head complete with 4 M8 fastening connectors to
fasten to the beam, end-stop buffer.

aluminium head, steel pulley, galvanised steel nuts and
bolts, rubber end-stop buffer.

Technical characteristics: 1 turn of pulley = 200 mm.
Standard pack: 1 piece.

.50 80 20

50
A
D\/\“

T
©

P ,
IS\ fastening
S B \&\ % /* ‘ bloc

\ 1
- TS |
. el R } o o
5 | < [o}
|
© ©
.
15 od7 | §
\12 mm depth (on both sides)
236 17 _
é_/\
o o astenedt
© N £p the beaw
QUANTITY DISCOUNT

Compatible Compatible

code mm mm gearmotor belt
691967 14 68 8xM6 Bonf.MVF/30 692072 (AT 10/25) anodised 2.2
691977 18 68 8xM6 Bonf.MVF/44* 692072 (AT 10/25) anodised 2.2
691987 19 68 8xMé 692072 (AT 10/25) anodised 2.2
*Fit Bonf.MVF/44 B with adapter flange.
O MG Sk minimum order: 1 piece, delivery in 10 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 67




I
@12 Motor-driven linear guides

- . y .

3815 Carriage for guides 251
with belt tensioner blocks

Use: to fasten components that are to be moved (when the
guide is to remain fixed and the carriage made to slide)
or to fasten the guide to a structure (when the carriage is
fixed and the guide is made to slide).
carriage complete with 4 end caps, 2
eccentric roller kits, 2 concentric roller kits, 4 guards for
rollers (see table), 2 belt tensioner blocks.
aluminium profile carriage, ABS end caps, steel
rollers, guards for rollers (on request, see table) in ABS,
aluminium belt tensioner blocks, galvanised steel nuts
and bolts.
Standard pack: 1 piece.

150
45 60

205

43.3

avds fov
@ﬁouevi

= el tenstoner
blocks

sorews for pieces NPT
belt temstoning %

Vers|

without roller guards anodised
621268 with roller guards anodised
B AR Tk minimum order: 1 piece, delivery in 20 days.

68 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111




L]
@12 Motor-driven lmear guides

Camageforguldes 3816

with belt tensioner blocks

Use: to fasten components that are to be moved (when
the guide is to remain fixed and the carriage made to
slide) or to fasten the guide to a structure (when the
carriage is fixed and the guide is made to slide).
carriage complete with 4 end caps,
2 eccentric roller kits, 2 concentric roller kits, 4 guards
for rollers (see table), 2 belt tensioner blocks.
aluminium profile carriage, ABS end caps,
steel rollers, guards for rollers (on request, see table)
in ABS, aluminium belt tensioner blocks, galvanised
steel nuts and bolts.

Standard pack: 1 piece.

A 195 )
45 105 45 | o
,ﬁF R
| [ |
|
| 7
| A -
! ]
} <
|
|
0 |
I |
N |

Ui \_ ©0 | [ |

45
;

I
i

45

70.7

5.7

T
|
|
|
|
|
|
|
|
|
|
|
I
|

45

180

UD [ L gw
A “ N voLLeYS MDD‘

‘ 150 ] < @gthw D Dguuvds‘f""

(o]
(3]
—_ ner L TES vollers
Lt ‘tﬂv\«S'v
be e 108/ b o W

QUANTITY DISCOUNT

serews for
Delt tenstoning

Version Carriage
621298 without roller guards anodised

621288 with roller guards anodised
DO T AIG Tk minimum order: 1 piece, delivery in 20 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 69




I
@12 Motor-driven linear guides

3837 Profile with ZIFIIA L kit

Use: inserted in the groove of Robomec profiles for DIY construction —
of @12 linear guides. M5 Safety retaining grub,

AFNOR 6060 aluminium profile, Cf53 steel shaft (60-65 screw (optional

HRC).

Shaft characteristics: hardening depth: from 1 to 2.5 mm; -
straightness: 0.5/1000 mm;

roughness: <0.02 ym.
Standard pack: 6 bars.

L Tl

Pg.71

Fitting sequence:

1. insert the shaft-holder profile in
the Robomec profile groove

2. insert the shaft in the shaft-
holder profile.

[]
O é@b QUANTITY DISCOUNT

CLTRNUNN 1+ | 6+ [12+] 24+

D Bar 6 m RERKEINEIS 12+
DAL - [10%|-17%)| on request

Order Length Finish Weight § €

1%}

692497 3 anodised 15 ym ground 1.24 B4 58,89
692507 <) anodised 15 pm ground 1.24 E@109,92
692517 3 anodised 15 ym _ chrome-plated and ground ~ 1.24 K@l 77,34
692527 6 anodised 15 ym __ chrome-plated and ground ~ 1.24 K41 140,82

70 VAETTIE vvbetsisemicom Tl439.0522635111



@12 Motor-driven linear guides
Guide profile stopper 2160
block

Use: to block the profile with shaft part. 2130.

[MIAZETN 1 aluminium block, 1 M6x25 UNI 5931 (1SO 4017) screw
and 1 galvanised steel M6 square nut.

Standard pack: 32 pieces.

QUANTITY DISCOUNT

Piece

DIETI - 10%17%) on request |

Order Finish Weight § €
code g Pl piece
699033 sand-blasted 24 8 4,36

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 71



C ts DIY

TSETTIE 53;.; ﬁm&éw
'if’me ; e

0 E conveymg gul es

COMPONENTS

i B

Have you
90“' allFhe



L]
_ =) 012 Motor-d-riven linear guides

7~ Belt for motor-drive 1964
guide

Use: to motorise the linear guide.

[T polyurethane with reinforced steel cables.
Maintenance: it is advisable to replace the belt every 3
years (when applied to linear guides).

Characteristics: temperature limits: from -5° to +70°C;
hardness characteristics: 92 shore A.

Standard pack: 20 m roll.

|

Part.3815

screws for
belt

elc ,
tenstonlng

QUANTITY DISCOUNT
Metres
Discounts

Order A pitch P Max tension

B ARl minimum order: 5 m, delivery in 10 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 73




@12 Motor-driven linear guides

Use: for the safe passage of electric cables along the linear

guide.

T chain links in glass fibre reinforced technopolymer;
galvanised steel couplings; stainless steel brackets; galvanised

steel nuts and bolts.

State of supply: cable holder chain of required length; 2
plates (to fasten the chain to the brackets) with 8 screws to
fasten the chain; 1 bracket (to fasten to the carriage) and
1 bracket (to fasten to the guide) with 6 M8x16 DIN7984
screws and 6 M8 square nuts with spring.

Standard pack: 1 piece.
Mechanical characteristics

- deformation resistance: 190 N/mm2

- expansion of rupture: 5%
- impact resistance: 45 KJ/m
- coefficient of friction: 0.3

Thermal characteristics

constant temperature range between

-30° and 120°.

- deformation module: 10000 N/mm?2 B ¢i -
Pg.77 | Pg!.’is'
fastening bracket
to carriage
63
w0 [»39:1 79.5
o l==0

SELF-SUPPORTING
cable weight
max 5 Kg/m

Ly

pitch P = 50 mm
(20 elements =1 m)

§ n3x@s |

chain fastening
couplings on brackets
63

[ Le199

S PEREISE] =
%} C (carriage travl;l) 165,185

159 &3 o\ o gI

fastening bracket
to guide

05 [T :

4—»‘4§T =‘=

Formula to determine the length of the chain [EY YRS TIEYrP N

[ T T A A T n = L/P (rounded to the next whole number).
once the length of the chain is determined, as pitch is P=50 mm, the chain is provided with a number of
links that rounds up the value calculated using the above formula.
If for example, a chain length of L=1025 mm corresponding to 20.5 links is calculated, the chain will be
supplied with 21 links corresponding to a length of L=1050.

74 HandBook @) 2011

7‘ frrﬁ www.betisistemi.com  Tel.+39.0522.635111



L]
@12 Motor-driven linear guides

[ )1 L QUANTITY DISCOUNT

Pieces

Discounts

Weight

231,55

L and C on request.

B AR minimum order: 1 piece, delivery in 15 days.
To order other customised measurements, use the order code shown below:

Order code Example of a cable holder chain L= 4000 mm
mL —=> length L in mm L 4000

Guide to choosing supports for the cable holder chain Fitting examples

Support bracket
Part. 2936 Pg.77 E

> on 90x90 guide D

[CXC)

[0 DBBDIBIBIB
C =800 + 1200

Support duct

Part. 4151 Pg.76_[BE

pitth400 [
C> 1200

Fax.+39.0522.635222  bsistemi@bettsistemi.com V‘ETTE 75



@12 Motor-driven linear guides

4151  Support T4

for cable holder chain

Use: as a support for cable holder chains Part. 2969 on guides
whose travel exceeds 800 mm, to be fastened at the end of the guide
(opposite side to the chain coupling).

stainless steel duct and bracket, galvanised steel nuts and

bolts.

ST ETTAM 1 bracket and 1 support steel plate, 1 M8x16
DIN7984 screw and 1 M8 square nut with spring to fasten to the
profile groove, 2 screws to fasten the steel plate to the bracket.

Standard pack: 1 piece.

L)

18]

Support bracket ) :
part. 2936 Pg.77 BE O /

pitch400 |

C >1200 Discounts
Order L Finish Weight § €
&
ARl L 0350 350 AlSI304 stainless steel 740 Ll 78,42
L on request (max 3000). .

B AR minimum order: 1 piece, delivery in 10 days.

76 VAETTIE vvbetsisemicom Tl439.0522635111



L]
aa— @12 Motor-driven linear guides

N ROBO i

i Support . 2936
for cable holder chain

Use: as a support for cable holder chains Part. 2969 on guides
whose travel is less than 800 mm, or together with the support duct
Part. 4151 on guides whose travel exceeds 1200 mm (every 400 mm).
stainless steel bracket, galvanised steel nuts and bolts.
complete with 1 M8x16 DIN7984 screw and 1 M8
square nut with spring to fasten to the profile groove.

Standard pack: 3 pieces.

Y

|Combinations | )

Pg.76
Support duct
Part. 4151 Pé.75 E
H\MH\\°]HH°]HH°]HH°NN°]H|#H|°JH|°JH|°]H|°] 2
pitch 400 QUANTITY DISCOUNT
C > 1200 Pieces

Discounts

Order Finish

code

620498 AlSI304 stainless steel

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 77



seat for end-Stop
Sensors



Components for DIY
construction of 10-012
double linear guides

{'ill i (1
e I =
#p.82

#p.86

(%5 P pouble guide
................................................................. Dp.88 A

s

................................................................. ) p.90 \/

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi re; ordinﬁ a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check IKe product updates at the website www.bettsistemi.com.




LGOD = [i[il Double guide

set-up for end-stop sensors

Use: the guide is ready for installation; it only needs to be
drilled to be fastened to the structure using the relative
indent in the centre of the profile. It does not require
lubrication or further maintenance.

It sliding shafts in hardened, chrome-plated and
ground Cf53 steel or hardened and ground AISI 431 stainless
steel; aluminium profile.

Characteristics: tolerance on diameter h7.

parallelism tolerance of the steel bars: 0.03 mm/m.

tolerance on cut: £1 mm.

Standard pack: 1 piece.

~

E e 72 8
E@Fe,9%,

°
7

Pg.82 Pg.84 Pg.40  Pg.42

5.8

35

20

3 )

L (max 6000)

7.3
5.3

3

5
steel anodised 15 pm 1.55 47,38
steel anodised 15 pm ~ 3.10 94,77
steel anodised 15 pm  4.65 142,15
steel anodised 15 pm ~ 6.20 189,54
steel anodised 15 ypm  7.75 236,92
steel anodised 15 pm ~ 9.30 284,31

B e ATG ek minimum order: 1 piece, delivery in 10 days.

80 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111



L]
010-012 Double linear guides
mﬂo ||r‘

|
~ == 3111 Double guide WLGOD
set-up for end-stop sensors

additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.
To order other customised measurements, use the order code shown below:

Order code Ordering example

tcop D10 HEEE Length L in mm (max 6000) Gop 01 oENKIFIAI

Steel sliding shaft = A (210 steel guide with length
Stainless steel sliding shaft = 1 L =1250 mm)

INSTRUCTIONS TO FIT THE END-STOP SENSORS

Fig.3 Fig.4

Fig.1: New aluminium profile with 812 mm hardened and ground steel bars, tear-off grooves with set-up for
end-stop sensors.

Fig.2: Fitting the end-stop sensor in the relative groove. The sensor is supplied with a 2.5 m cable.

Fig.3: If the guide is to be fitted on the upper side of the 45x90 profile, use the sensors to prevent accidental
impact of the carriage against the heads.

Fig.4: The presence of the sensor in a side fitting prevents the carriage detaching from its guide.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 81




LGO1 = Carriage
for Y[V double guides

Use: for @10 double guides.

[IIIZZAl anodised aluminium carriage, steel rollers.

ST BT the carriages can be supplied with or without rollers.
The complete versions are supplied with disassembled rollers for any
subsequent working, 4 button magnets.

Standard pack: 1 piece.

Combinations | /
.95

H0,02 )
L | v Y
) AN = -
= g ) <
& T
] 3
il © < o X
8 ;& < <
s ®
£ If the 4 button magnets inserted
1 D)y D) o=t in the lower part at the sides of
Ll 4 e y< the carriage, are combined with
A.L | ) the end-stop sensors on the guide,
, B3 D B4 D B3 they protect the system against
ev";‘:y?g”;ﬁ%” B1L B2 .|B1 impact with the heads, due to
M'E fine-corsa B:o2 a malfunction in the electronic
* > control unit.

@ = Zone in cui non & possibile eseguire forature per staffaggi

Dimensions of the STANDARD carriages Type of

) H Al A2 A3* A4* Bl B2 B3* B4* D d DI roller
120 80 10 185 83 7.5 641 195 41 85 19 22 6 16 0.25 106
140 120 15 25 90 10 60 25 70 10 40 30 8 20 0.60 208
150 120 20 26 98 7 60 25 70 6 32 38 10 26 0.90 210

Indicative values based on eccentric adjustment.

82 7‘ ETTE www.befisistemi.com  Tel.+39.0522.635111




Carriage Vv LGO1
for YNV double guides

QUANTITY DISCOUNT

H  Rollers Magnets E
&
80 aluminivm  0.37 168,55
106 120 80 10 no yes  aluminium  0.25 78,58
208 140 120 15  vyes yes _ aluminium  0.88 191,51
208 140 120 15 no yes  aluminium  0.60 87,42
210 150 120 20 yes yes  aluminium  1.50 214,58
LGO1 [§JOO0OS 210 150 120 20 no yes  aluminium  0.90 95,31

a minimum order: 1 piece, delivery in 10 days.
[ETIE0E additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:
Order code Ordering example
000 [{clO)R208§000 S
with rollers = € order example for 208-type standard
without rollers = S carriage in aluminium without rollers.

Type of roller Pg.40 S

INSTRUCTIONS TO ADJUST CLEARANCE ON THE CARRIAGES:

- fit and fasten the two concentric rollers marked with the letter C, on one of the two carriage sliding sides
(fig. 1).

- fit the other two eccentric rollers marked with the letter E, on the opposite side (fig. 1) and position them
using an Allen wrench in the point with greatest clearance.

- insert the guide in the carriage.

- adjust and tighten the two eccentric rollers E (fig.2) to give the correct pre-load (fig. 3).

ATTENTION: always fit the rollers in pairs as shown in the figure; do not pre-load the eccentric rollers
excessively so as to prevent premature wear of the bars and damaging the rollers.

Fig. 1 C — Fig. 2 Fig. 3 C L
© &

] oo

e 5 ,
GJM locking @ @M

Fax.+39.0522.635222  bsistemi@beltsistemi.com 7‘ frrﬂ 83




LGOC=> Cross carriage
for PN double guides

Use: allows the piece to be positioned parallel to the fitting plane to be
connected and made to slide on two axes.

MFATZELN anodised aluminium carriage, steel rollers with stainless
steel pin, galvanised steel nuts and bolts.

Standard pack: 1 piece.

™)
<
= m <
sl =l o 3
<
8
ol S
3 [ <<

(9 2

Hz0,02

Dimensions of the STANDARD carriages Type of

A B H Al A2 A3* A4* Bl B2 B3* B4* D d DI roller
165 120 10 185 83 7.5 161 185 83 85 61 22 6 16 0.50 106
200 140 15 25 90 10 60 25 90 10 60 30 8 20 1.00 208
220 150 20 25 98 55 59 26 98 65 59 39 10 26 1.70 210

Indicative values based on eccentric adjustment.

84 7‘ frrﬁ wwwibeltsistemi.com  Tel.+39.0522.635111




Cross carriage W LGOC
for IV double guides

QUANTITY DISCOUNT

§

roller &
120 10 D10 no aluminium 0.50 82,05
106 165 120 10 D10 yes aluminium 0.62 155,65
208 200 140 15 D10 no aluminium 1.00 89,74
208 200 140 15 DIO yes aluminium 1.28 188,72
210 220 150 20 DIO no aluminium 1.70 106,66
210 220 150 20 DIO yes aluminium 2.30 220,51

a minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:
Order code Ordering example
000 Teve 208000 s

W':E roller;: ¢ s (208-type standard carriage in
without roflers = aluminium without rollers)

Type of roller  Pg.40 IS

INSTRUCTIONS TO ADJUST CLEARANCE ON THE CARRIAGES:

- fit and fasten the two concentric rollers marked with the letter C, on one of the two carriage sliding sides
(fig. 1).

- fit the other two eccentric rollers marked with the letter E, on the opposite side (fig. 1) and position them
using an Allen wrench in the point with greatest clearance.

- insert the guide in the carriage.

- adjust and tighten the two eccentric rollers E (fig.2) to give the correct pre-load (fig. 3).

ATTENTION: always fit the rollers in pairs as shown in the figure; do not pre-load the eccentric rollers
excessively so as to prevent premature wear of the bars and damaging the rollers.

Fig. 1 C — Fig. 2 Fig. 3 C L
OO s %

R : —
S B

Fax.+39.0522.635222  bsistemi@beltsistemi.com 7‘ frrﬂ 85




L
010-012 Double linear guides

LGAS = il Double guide
with carriage set-up for end-stop sensors

Use: simple and safe system to be used when
the guide is to remain fixed and the roller-hold-
er carriage made to slide or when the carriage
is fixed and the guide is made to slide.

ground, hardened and chrome-
plated (or AISI431 stainless steel) Cf53 steel

sliding shafts, anodised aluminium carriage
and profile, steel rollers.
Standard pack: 1 piece.

Q:T/

9.95
Fitting the sensors Pg.96 IS
— D —»
CH >t P i
- axial Ioa’d_‘G_L‘_‘
o N
m o AR y ¢ ‘ ‘ z
ENET 4 L ===
u
E . O o e (maxs6000) K
73 VZDL{E\G/\ES radial load Ql <
© 53
8 2l Yo sl i
) &5 © ® u I
- 7N N
holes to fasten t0 i
the beam

, @ 4
B1» 4+-B2+ l«B1 %
f¢——C=L-B———»i«—B—>

A1

Typeof dl A H Al A2 Bl B2 N CH P O

ro||er @ mm mm mm mm mm mm mm mm wrench mm mm wrench mm mm mm N
106 10 120 80 10 18.5 83 19.5 41 54 2 20 30,5 10 20 25 58 800 400
208 10 140 120 15 25 90 25 70 54 3 20 37 13 20 25 58 1600 2000
210 10 150 120 20 26 98 25 70 54 5 20 44 17 20 25 58 2400 2600

86 VAETTIE vvbetsisemicom Tl439.0522635111



X[, Double guide W LGAS

with carriage set-up for end-stop sensors

QUANTITY DISCOUNT

LGA SA 000 1000 steel 3.5 215,08
106 4000 steel 12.8 499,38
208 1000 steel 4.0 238,15
208 3000 steel 10.2 427,69
208 4000 steel 14.3 522,46
210 1000 steel 4.6 262,46
210 3000 steel 10.8 452,00
210 4000 steel 14.9 546,77

0 e ATG ek minimum order: 1 piece, delivery in 10 days.
[OETIGAE additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.
To order other customised measurements, use the order code shown below:

Order code Ordering example

TN 208¥0 5 0 0

Length L in mm (max 6000) Ordering example for 208-type
Chrome-plated steel sliding shaft = A linear guide, length L= 500 mm,
Stainless steel sliding shaft =1 steel shaft, with set-up for end-stop.

Type of roller Pg.40 BE

FITTING RECOMMENDATIONS

A thin groove in the centre of the profile indicates the axis where to drill for it to be anchored to the
structure (it is recommended to drill every 500 mm; use M6 screws).

UPPER SIDE
CARRIAGE CARRIAGE

carriage Guide with
LGA carriage
LGA

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ 87



LG00 = [XPi Double guide

set-up for end-stop sensors

Use: the guide is ready for installation; it only needs to be
drilled to be fastened to the structure using the relative
indent in the centre of the profile. It does not require
lubrication or further maintenance.

AT Sliding shafts in hardened, chrome-plated and
ground Cf53 steel or hardened and ground AISI 431 stainless
steel; aluminium profile.

Characteristics: tolerance on diameter h7;

parallelism tolerance of the steel bars: 0.03 mm/m;

tolerance on cut: £1 mm.

Standard pack: 1 piece

0‘91/

Pg. 90 Pg.58  Pg.59

0.8 \

3.5

{(
1

L (max 6000)

23.8

steel anodised 15 pm 3.8 164,26
steel anodised 15 pm 57 186,20
steel anodised 15 pm 7.6 217,58
steel anodised 15 pm 9.5 249,18
steel anodised 15pm  11.4 281,12

[ = | minimum order: 1 piece, delivery in 5 days.

88 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111



L]
010-012 Double linear guides
mﬂo ||r‘

' “[i1F Double guide \V LGOO

set-up for end-stop sensors
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.
To order other customised measurements, use the order code shown below:
Order code

) Ordering example
Length L in mm (max 6000) 1coo 012 INKIAIER
Steel sliding shafts = A (212 steel guide with length
Stainless steel sliding shafts = 1 L =1250 mm)

INSTRUCTIONS TO FIT THE END-STOP SENSORS

7/

Fig.3 3 Fig.4

Fig.1: New aluminium profile with 812 mm hardened and ground steel bars, tear-off grooves with set-up for
end-stop sensors.

Fig.2: Fitting the end-stop sensor in the relative groove. The sensor is supplied with a 2.5 m cable.

Fig.3: If the guide is to be fitted on the upper side of the 45x90 profile, use the sensors to prevent accidental
impact of the carriage against the heads.

Fig.4: The presence of the sensor in a side fitting prevents the carriage detaching from its guide.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 89




L
©010-012 Double linear guides

LGOO  Carriage
for PYP] double guides

Use: for @12 double guides.

anodised aluminium carriage, steel rollers.

ST BT the carriages can be supplied with or without rollers.
The complete versions are supplied with disassembled rollers for any
subsequent working, 4 button magnets.

Standard pack: 1 piece.

[ Combinations | )5 /
.95

=<
o
o
H
I <
o
Magneti B3 B4 B3 @ = Zonein cuinon &
dpcr sensort B1, B2 ,/B1 possibile eseguire
i fine-corsa B02 forature per staffaggi
Dimensions of the STANDARD carriages Weight | Type of

A B H Al A2 A3* A4* Bl B2 B3* B4* D DI Kg roller
150 120 20 26.3 97.3 8.85 623 25 70 75 35 35 18 0.70 308

Indicative values based on eccentric adjustment.
QUANTITY DISCOUNT

Order Typeof A B H  Rollers Magnets. Material  Weight lell €

Teo®)308[Mo00s 308 150 120 20  no  yes aluminivm 0.7 [EZN 83,18
feoJ308§o00C 308 150 120 20  yes  yes aluminium 1.1 [R4172,02
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

90 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111




L]
= 010-012 Double linear guides

= Carriage WLGO0O
for PYF double guides

Fig.1: The new 308-type carriage does not have spot-
facings on the upper part, for the screws that fasten
the rollers. The latter are fitted by tightening them on
the lower side making it easier to clean the carriage.
The pre-load is adjusted by acting on the two eccentric
rollers, like for traditional carriages.

Fig.2: The new rollers with a gothic arch profile
guarantee wider contact surfaces than traditional
rollers with a V-shaped profile. This reduces the contact
pressures and increases the applicable loads, reliability
and durability.

Fig.3: If the 4 button magnets inserted in the lower
part at the sides of the carriage, are combined with the
end-stop sensors on the guide, they protect the system
against impact with the heads, due to a malfunction in
the electronic control unit.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 91



I
©010-012 Double linear guides

LGA=> [Pl Double guide
with carriage set-up for end-stop sensors

Use: simple and safe system to be used when
the guide is to remain fixed and the roller-
holder carriage made to slide or when the
carriage is fixed and the guide is made to slide.
[IZZEdl ground, hardened and chrome-
plated steel h7 sliding shafts, anodised
aluminium carriage and profile, steel rollers.
Standard pack: 1 piece.

= /
.95

Fitting the sensors Pg.96 IS
54
20
2 wl axialload @
. I~ E © ~
= At g‘% =y
cH5 [ neH1o t, L (max 6000) .
i B
o, Jvollers , radial load @ @
~ th gothte
1) wul a%h ﬁ,\*l 8 N
Pg5sBE == n
7.3 B o o 3
2 @T o o 95°
re] ﬁ noles to fastew to ) 5
1 the beanw 10,0, s
o 25/ {70,125 §
Bel 7
C=L-120 120 9

92 7‘ frr www.belisistemi.com  Tel.+39.0522.635111



L]
010-012 Double linear guides

bXP Double guide  WLGA

with carriage set-up for end-stop sensors

QUANTITY DISCOUNT

YO——>

00

(o)
for sensors of shafts

TN 308)45 000 538,85
B AR as minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:

Order code Ordering example

length L in mm (max 6000) Ordering example for 308-type linear
Chrome-plated steel sliding shafts = A guide, length L= 500 mm, steel
stainless steel sliding shafts = 1 shafts, with set-up for end-stop

type of roller Pg.58 BE

FITTING RECOMMENDATIONS

A thin groove in the centre of the profile indicates the axis where to drill for it to be anchored to the
structure (it is recommended to drill every 500 mm; use M6 screws).

UPPER SIDE
CARRIAGE CARRIAGE

carriage Guide with
LGA carriage
LGA

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 93



I
@10-012 Double linear guides

2712 End-stop buffer kit

for linear guides

Use: as a mechanical end-stop for D10, D12, D20, G20 linear guides.
aluminium angle, rubber buffer, 1 galvanised steel
square nut.

Standard pack: 1 piece.

94 VAETT wwwabettsistemi.com  Tel.+39.0522.635111



L]
B — 010-012 Double linear guides
—mﬂo in

i End-stop sensor 2341

Use: end-stop for D10 and D10 guides.

Standard pack: 2 pcs.

Characteristics: operating voltage: AC/DC 10-30V.
maximum drive current: 500 mA.
maximum drive power: 6 W.
operating temperature: -25 +75 °C.
cable: black three-pole.
conductor section: 0.14 mm.

10 == 5 |

Fitting the sensors Pg.96 B

QUANTITY DISCOUNT

2000
656764 5000 reed
a minimum order: 2 pieces, delivery in 10 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 95




I
©010-012 Double linear guides

Steps to open
the seats for the sensors

Removable diaphragms

Fig. 1: the profile has two removable diaphragms with Fig. 2: mark the indents on the profile at about 30 mm
indents in the centre of the grooves for the sensors. from the end of the guide.

Fig. 3: use a punch to engrave the markings just made Fig. 4: Drill the profile using a 5.25 bit right through the
on the profile. removable diaphragm.

Fig.6 { &
Fig. 6: use flat pliers to remove the diaphragm up to the
hole.

Fig. Ll
Fig. 5: Drilled profile in line with the marking.

96 7‘ frr www.belisistemi.com  Tel.+39.0522.635111



010-012 Double linear guides

the seat

Fig. 9: the sensor can be turned over inside the groove to
be easily inserted.

Steps to open
or the sensors
]

o SRR
Fig. 8: Profile with open groove and ready for the sensor
to be fitted.

Fig.10: place the sensor in its seat and block it with the
relative screw.

vead through

en groove
the open 9

read

through
holes

Fig.11: the SICK sensor can also be turned over inside the
groove.

ATTENTION: to avoid weakening the profile in the work
areas of the carriage, only open the sensor grooves in line
with the ends of the guide.

Fig.12: alternatively, set-up for the sensors can be done by
making 2 holes for each sensor, according to diagram in
fig. 12, without having to remove the diaphragm.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T

97






Components for
DIY construction
of @20 double linear
guides

P11 Double guide

%11 Carriage

[#1) carriage

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi regarding a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




LG00 = [¥Ii] Double guide

Use: the guide is ready for installation; it only needs to be drilled to
be fastened to the structure using the relative indent in the centre of
the profile. It does not require lubrication or further maintenance.
IAZALN heé sliding shafts in hardened, chrome-plated and
ground steel or hardened and ground AlSI 431 stainless steel;
anodised aluminium profile.
Characteristics:

guide width tolerance: +0.2 / 0

parallelism tolerance of the steel bars: 0.03 mm/m

tolerance on cut: +1 mm.
Standard pack: 1 piece.

Combinations |\ i)
| Combinations J Q > § o (] ®

Pg.104 Pg.46  Pg.48

i L (max 6000)

Eap M5 COUNTERSUNK
30, 300 " HEAD SCREW

b Py &
= &

0

-

[T &

70
£
20
75
90%*

@ @44 w

S

(&)}
Il
e

QUANTITY DISCOUNT

Pieces 8+
Discounts -

Stock

steel 2.12 50,78

350 steel 2.97 50,78

[[efololoyde) A 0400 400 steel 3.40 58,03
[[eloloipyie) A 0500 500 steel 4.25 72,54

100 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111



[021i) Double guide Y LGOO

T 3

mm &»
lelol)pyIy A 0 53 5 535 steel 4.55 77,62
elol)pyIy A 0 6 00 600 steel 5.10 87,05
kelol)pyiy A 07 0 0 700 steel 5.95 101,55
lelojoloyis) A 08 00 800 steel 6.80 116,06
[kelol)pyiy A 1 000 1000 steel 8.50 145,08
[Kelojolyis) A 13 60 1360 steel 11.56 197,31
[kelol)pyiy A 1 500 1500 steel 12.75 217,62
[kelol)pyis A 2 0 0 O 2000 steel 17.00 290,15
[Kelojoloyie) A 2 500 2500 steel 21.25 362,69
[kelol)pyiy A 27 0 O 2700 steel 22.95 391,71
[felojejoyie) A 3000 3000 steel 25.50 435,23

0 YA Tk minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.
To order other customised measurements, use the order code shown below:

Order code

dering example
Oor
100 D20 IEN TERIBE A [1]2[5]0]

l% Length L in mm (max 6000)
Chrome-plated steel sliding shafts = A
Stainless steel sliding shafts = 1

Ordering example for @20 steel guide
with length L= 1250 mm

For lengths of more than 6000mm, contact our Sales Department.

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ 101



LG00 = [ Double guide

Use: guarantees better stability, considering the increase of the
support base and the distance between the guides, compared to
the D20 version.
h6 sliding shafts in hardened, chrome-plated and ground
steel or hardened and ground AISI 431 stainless steel; anodised
aluminium profile.
Characteristics:

guide width tolerance: +0,2 / 0

parallelism tolerance of the steel bars: 0.03 mm/m

tolerance on cut: +1 mm.
Standard pack: 1 piece.

binations I SR SC) (
Q?ngg@

Pg.106  Pg.46  Pg.48

o |[I
™
1 ' L (max 6000)
I ] T
mimalrs ' ry
8o 1589
. © < <
S L :
& 5 sl

QUANTITY DISCOUNT

[kelolo)eyiy A 0450 450 steel 4.86 87,82
elojolleyi A 0500 500 steel 5.40 97,46
[fefol)ely A 0600 600 steel 6.48 116,95

102 7‘ frrﬂ www.befisistemi.com  Tel.+39.0522.635111



o
00

[e#1i) Double guide W LGOO

T 3

mm &
[lelojoleylo) A 0670 670 steel 7.24 130,60
(eloloieys) A 08 00 800 steel 8.64 155,94
[efololey( A 1000 1000 steel 10.80 194,92
feloloeyi A 1700 1700 steel 18.36 331,37
[efololeyi) A 2 000 2000 steel 21.60 389,85
feloloeyio) A 2 0 6 O 2060 steel 22.25 401,54
feloloieyiy A 2100 2100 steel 22.68 409,34
lelojolieyie) A 2180 2180 steel 23.54 424,93
[Lelolofeyiy) A 2 430 2430 steel 26.24 473,66
[lelolofeyi) A 2980 2980 steel 32.18 580,97
[telolofeyiy) A 3000 3000 steel 32.40 584,77
[Kelolofeyiy A 4300 4300 steel 46.44 838,17
[lelolofe W A 6000 6000 steel 64.80 1169,54

B T ME A TIG Iak minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.
To order other customised measurements, use the order code shown below:

Order code
Ordering example

100 c20 INHIFAABEN

Ordering example for @20 steel guide
with length L =1250 mm

Length L in mm (max 6000)
Chrome-plated steel sliding shafts = A
Stainless steel sliding shafts = 1

For lengths of more than 6000mm, contact our Sales Department.

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ 103



LG00 = Carriages

for PPN guide

Use: for S20 and D20 guides.
[NIZZA N Fe37 steel or anodised aluminium carriage, steel rollers.

ST 07721 the carriages can be supplied with or without rollers. /A\
The complete versions are supplied with disassembled rollers for any ~ G -
subsequent working. - )

Standard pack: 1 piece.

(32]
<
A 4
= L
8 A I
@ a-%
SA Y A
L o~
o
< +
< < d
A
,,,,, a v
Y< v
: 4
\ 3]
| <
D B3
Bl
Dimensions of the STANDARD carriages Type of
A B H Al A2 A3* A4* Bl B2 B3* B4* D d DI roller

180 150 20 27 126 9 78 30 90 9 48 42 12 30 3.80 1.30 312
200 180 25 40 140 11 82 40 100 11 42 58 16 36 7.00 2.60 416
Indicative values based on eccentric adjustment.

Minimum dimensions for SPECIAL carriages Type of
A B H Al A2 A3* A4* Bl B2 B3* B4* D d DI | roller
164 91 20 22 126 1 86 22 47 1 5 40 12 30 312
200 123 25 30 140 1 83 30 63 1 5 57 16 36 416

104 7‘ ETTE wwwibeltsistemi.com  Tel.+39.0522.635111




Carriages W LGOO
for PYY) guide
QUANTITY DISCOUNT

Pieces
Discounts

Typeof A B H  Rollers

1ele)312[ooo ¢ aluminium 1.96
[Ieel)312000S 312 180 150 20  no aluminium 1.30
416 200 180 25 yes steel 8.66
416 200 180 25 no steel 7.00

416 200 180 25 yes aluminium 4.26

B T e AG ek minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:
Order code Ordering example

Teee)4 16ooo s
with rollers = C (416-type standard carriage in
without rollers = § aluminium without rollers)
standard carriage = 000
special carriages = distance between centres B2 flefolo)4 16i8220 S
aluminium = L (416-type distance between
steel = A centres B2=220 special carriage, in
type of roller Pg.46 B aluminium without rollers)

INSTRUCTIONS TO ADJUST CLEARANCE ON THE CARRIAGES:

- fit and fasten the two concentric rollers marked with the letter C, on one of the two carriage sliding sides
(fig. 1).

- fit the other two eccentric rollers marked with the letter E, on the opposite side (fig. 1) and position them
using an Allen wrench in the point with greatest clearance.

- insert the guide in the carriage.

- adjust and tighten the two eccentric rollers E (fig.2) to give the correct pre-load (fig. 3).

ATTENTION: always fit the rollers in pairs as shown in the figure; do not pre-load the eccentric rollers
excessively so as to prevent premature wear of the bars and damaging the rollers.

Fig. 1 C — Fig. 2 Fig. 3 C L
CEO) ® @

- + +] e e
+ 4 m =

Fax.+39.0522.635222  bsistemi@beltsistemi.com 7‘ frTE 105




L]
@020 Double linear guides

LGOO  Carriages

for [PV guide

Use: for the G20 guides.
aluminium carriage, 4 pins and 4 rollers in stainless steel,
galvanised steel screws. @
Standard pack: 1 piece. -3
-4
@
> /
-
™
<
A B .
4 L
/ \ <
- B o ©1——9 "«
Y V{
N
o
<+ N +
< < <«
= 7
| @) 1) oY
NS 2 ~
~ CJ, A AP~ ¢ y
A
\ \ ™
> leH£0.02 ‘ i 2
B3 D B4 D B3
Bl B2 /Bt
B+0,2

Additional carriage dimensions

A2 A3 A4 Bl B2 B3

roller

275 300 25 40 195 18 137 40 220 18 162 58 16 36 416

106 7‘ frr www.befisistemi.com  Tel.+39.0522.635111




Carriages N LGOO
(134G 20 guide

QUANTITY DISCOUNT

Typeof A B H  Rollers

Stock

LGOOG 416 275 300 25 yes aluminium 2,60 . 290,54
feol416/€000S 416 275 300 25 no aluminium 1,94 108,74

a minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:

Order code Ordering example
1600 ARG ' 1600 FARGENE
Bw‘t" rollers = C order example for 416-type standard

without rollers = S

standard carriage = 000
> special carriages = distance between centres B2

carriage in aluminium without rollers

INSTRUCTIONS TO ADJUST CLEARANCE ON THE CARRIAGES:

- fit and fasten the two concentric rollers marked with the letter C, on one of the two carriage sliding sides
(fig. 7).

- fit the other two eccentric rollers marked with the letter E, on the opposite side (fig. 1) and position them
using an Allen wrench in the point with greatest clearance.

- insert the guide in the carriage.

- adjust and tighten the two eccentric rollers E (fig.2) to give the correct pre-load (fig. 3).

ATTENTION: always fit the rollers in pairs as shown in the figure; do not pre-load the eccentric rollers
excessively so as to prevent premature wear of the bars and damaging the rollers.

Fig. 1 C — Fig. 2 Fig. 3 C
CEC) & @ S ©)
+ + 0 [ e | % +
4% *# ) \ # ©- © i # # | |
JICECTITEIF I i Mio=0]

Fax.+39.0522.635222  bsistemi@beltsistemi.com V‘ETT£ 107



LGAD = [71i] Double guide

with carriage

Use: simple and safe system to

be used when the guide is to
remain fixed and the roller-holder
carriage made to slide or when
the carriage is fixed and the guide
is made to slide.

h6 sliding shafts in
hardened, chrome-plated and
ground steel or hardened and
ground AlSI 431 stainless steel;
anodised aluminium profile and
carriage, steel rollers.

Standard pack: 1 piece.

D
p axial load
| T
ik 0
| | h 4 [ ]|
2 T u.%‘ == == \Zi
| | =g i
‘@ ot L (max 6000) .
e grooved radial load el <
evs
Pg;sE -3 S 3 T
o § Nl
] ©- @ ©-
ol & <
- @ &
oles to fastew to ; : ‘
the beaw 5, L @L %9 Y ‘
B1 B2 B1
«—C=LB ;sz

ypeofd]ABHA1A2B]B2DEFNCHPORSA R
312 20 180150 20 27 126 30 90 70 6 30 51 19 20 20 75 300 3200 3200
416 20 200 180 25 30 140 40 100 70 8 30 61,5 24 20 20 75 300 6400 7000

108 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111



C ".
p

(%11 Double guide

with carriage

WLGAD

QUANTITY DISCOUNT
Piees
O - [ 5% [10%[on eques]

o

E
(%]
100 steel 4.1 233,55
312 180 150 150 300 steel 45 235,52
312 180 150 350 500 steel 6.2 255,31
312 180 150 450 _ 600 steel 7.1 269,82
312 180 150 510 660 steel 7.6 278,52
312 180 150 600 750 steel 8.3 291,58
312 180 150 1350 1500 steel 14.7 400,38
I/v)312l1 750 312 180 150 1600 1750 steel 168 436,66
oaoo 416 200 180 620 800 steel 8.8 !363,60
Te)416/1 500 416 200 180 1320 1500 steel 14.7 465,15

a minimum order: 1 piece, delivery in 10 days.
[OGAEAE additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:

Order code Ordering example
[ W —= tengthLin mm (max6000)
Ordering example for 312-type
> steel sliding shafts = A linear guide, length L = 1250 mm,
stainless steel sliding shafts =1 with steel shafts.

type of roller Pg.46 BE

For lengths of more than 6000mm, contact our Sales Department.

FITTING RECOMMENDATIONS

A thin groove in the centre of the profile indicates the axis where to drill for it to be anchored to the

structure (it is recommended to drill every 500 mm; use M6 screws).

UPPER SIDE
CARRIAGE CARRIAGE

carriage
LGA

carriage
LGA

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ

Guide with

109



LGAG = [e#1i] Double guide

with carriage

Use: simple and safe system to be used
when the guide is to remain fixed and
the roller-holder carriage made to slide or
when the carriage is fixed and the guide
is made to slide.

AT hé sliding shafts in hardened,
chrome-plated and ground steel or
hardened and ground AISI 431 stainless
steel; anodised aluminium profile and
carriage, steel rollers.

Standard pack: 1 piece.

D >
N P axial load
- T
o \ch Y L [ | ¢°} ]
= s w|f = == I Zi
- : :
‘ob,\ = t L (max 6000) N
ved i -
grooves 2 radial load el >
@) O Pé.46 E » S »> @ 4@ Y
A
P @] @] ~
Les to astew o ﬁ B < <
oles ¢ wam = - ol
e
B1 B2 B1
e c=LB ;ifBJ*

ypeof dl A B H Al A2B1 B2 D E F N CH P O R S A R
416 20 275300 25 40 195 40220125 8 3061.5 24 65 17 130300 6400 7000
516 20 275300 25 40 195 40 220125 8 30 61.5 24 65 17 130300 17200 8400

110 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111




(e#11) Double guide V LGAG

with carriage

QUANTITY DISCOUNT

s I ICAY)
=

Typeof A B C L ]
Iz
275 300 500 800 steel 11,2 640,25
IN1 500 416 275 300 1200 1500 steel 18,8 .776,69

a minimum order: 1 piece, delivery in 10 days.
additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:

Order code )
Ordering example

B B >t
ength L in mm (max ) LGAGA 2350

Steel sliding shafts = A Qrdering 'example for 416-type
Stainless steel sliding shafts =1 linear guide, length L = 1250

mm, with steel shafts.
Type of roller  Pg. 110

For lengths of more than 6000mm, contact our Sales Department.

FITTING RECOMMENDATIONS

A thin groove in the centre of the profile indicates the axis where to drill for it to be anchored to the
structure (it is recommended to drill every 500 mm; use M10 screws).

Fax.+39.0522.635222  bsistemi@beltsistemi.com 7‘ frrﬂ 111



I4 £TTR:

[ 111 N EESERVICE
system partner




C53E5 Motor-driven
06 linear guides
in pre-assembled kits

With narrow carriage

Bracket fitting nut

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi re; ordinﬁ a specific characteristic of the
component or its suitability for a specific use. The data providec? shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such 113
information. The products may be modified at any time without prior notice, we therefore recommend

that you always check the product updates at the website www.bettsistemi.com.




4137 D6 Pre-assembled linear guide kit

IFAZEN hardened and chrome-plated
steel rollers and guides; anodised aluminium
carriage, heads and profile; polyurethane
toothed belt; galvanised steel nuts and bolts.

Standard pack: 1 piece.

- Compact and sturdy profile.

- Maximum carriage speed: 5 m/s*.

- Maximum carriage acceleration: 12 m/s**.
- Theoretical precision: +0.1 mm**

-1 turn of pulley: 138 mm.

* The indicated maximum speed and acceleration
are indicative and must be verified case by case.

** the indicated PRECISION is theoretical. The actual
precision depends on the real conditions of use and

14 ,
%DY wotor drive

must consider the details concerning the kinematic
chain consisting of the gearbo; H_
connection joints and perform
control system (encoder, etc.).

THIS PRODUCT
HAS BEEN UPDATED!

Download B  news

the - 55
Web Novelties *‘/ ‘
é
\_ _J
@014 H7 34 19
< axma T
d ° E
C (travel) 180 60_||_6 < <
6 x M6 6. I8
el
0 @ © © @ © \;
? ? ?
899 20/ 70 70
70 L 70
LT (L+140)

114

[¢,]
o

VAETTIE vvbetsisemicom Tl439.0522635111



_

A . 55x55 Motor-driven linear guides in kits

651438

chromeplated steel

820 930 650

Pre-assembled linear quide kit 4137
narrow carriage

QUANTITY DISCOUNT

Piees
4 B

691357 720 580 400 chromeplatedsteel 820 930 650 12 28 40 4,5 419,50
650428 770 630 450 chromeplatedsteel 820 930 650 12 28 40 4,7 427,50
632708 820 680 500 chromeplated steel 820 930 650 12 28 40 5,0 435,00
670388 1070 930 750 chromeplatedsteel 820 930 650 12 28 40 7,2 472,50
649178 1120 980 800 chromeplated steel 820 930 650 12 28 40 7,5 477,00
651448 1320 1180 1000 chromeplatedsteel 820 930 650 12 28 40 9,0 510,00
691397 1520 1380 1200 chromeplated steel 820 930 650 12 28 40 10,5 540,00
650028 2520 2380 2200 chromeplated steel 820 930 650 12 28 40 12,5 690,00

LT, L and C on request (L: min 360 - max 4000 mm).
O Y AR Tak minimum order: 1 piece, delivery in 15 days.

Bradket fitting nut 1141

Use: for the bracket fitting of the linear guide Part. 4137 on the
supporting structures.

TN galvanised steel.
Standard pack: 1 piece.

V\,se\’tﬂd w ﬂ/\e

ove through
<l ;to L the LaLEY w/u,t

D
s ||

10

O

20
Finish

QUANTITY DISCOUNT

Pieces

Discounts

galvanised
galvanised
galvanised

B Y AR Tak minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ

00 |00 |00 |i=

691487 M6

115



N TTE

{111 N ERSERVICE
system partner



"LJICIi Motor-driven
010 linear guides
in pre-assembled
kits

With upper single
carriage

With right-side single
carriage [XdIQ

With left-side single
carriage A2

With combined
double carriage [TdT

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi re; ordinﬁ a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




ground, hardened and chrome-plated
(AISI431 stainless steel on request) Cf53 steel

rollers and sliding shafts, silver-coloured anodised
aluminium carriage, heads and profile; polyurethane
belt with steel cables; galvanised steel nuts and bolts.
Standard pack: 1 piece.

- Maximum carriage speed: 3 m/s*.

- Maximum carriage acceleration: 12 m/s**.

- Theoretical precision: +0.1mm**.

-1 turn of pulley: 200 mm.

* The indicated maximum speed and acceleration are

indicative and must be verified case by case.

** the indicated PRECISION is theoretical. The actual
precision depends on the real conditions of use and
must consider the details concerning the kinematic
chain consisting of the gearbox, the motor, any
connection joints and performance of the position
control system (encoder, etc.).

[Combinations | S}
S g
Pg.166  Pg.168 Pg.169
fab seat gearmotor 25,70 toothed belt idler and
- tensioning unit
ﬂ@)&, XM AT 10116
6L & & \ 7/
a SR \
© © '
C (travel)
(@14 h7
LT (L+200) N
100 L 100 _
.1 50 , 50 <
fael
8 |
]
8 v ©
- o
Y ° 0 * hd
130 Support profile

118 7‘ frrﬁ www.belisistemi.com  Tel.+39.0522.635111



.(n." - ;

?—”' D10 Pre-assembled linear i uide | G/VIA
lqdwith upper single carriage *

Recommended

moments and loads.

To obtain the values of
the tolerable moments

and loads, see charts | QuANTITY DISCOUNT

on Pg126 Pieces |3 3+
Discounts |8 ‘on request

Stock

LGMA210A0350 :
LGMA210A0400 600 400 280 650 200 200 10 10 20 83

654,03
LGMA210A0500 700 500 380 650 200 200 10 10 20 89 679,15
LGMA210A0600 800 600 480 650 200 200 10 10 20 946 704,28
LGMA210A0700 900 700 580 650 200 200 10 10 20 10.2 729,40
LGMA210A0800 1000 800 680 650 200 200 10 10 20 109 754,52
LGMA210A0900 1100 900 780 650 200 200 10 10 20 11.5 779,65
LGMA210A1000 1200 1000 880 650 200 200 10 10 20 122 804,77
LGMA210A1100 1300 1100 980 650 200 200 10 10 20 1238 829,89
LGMA210A1200 1400 1200 1080 650 200 200 10 10 20 135 855,02
LGMA210A1300 1500 1300 1180 650 200 200 10 10 20 14.1 880,14
LGMA210A1400 1600 1400 1280 650 200 200 10 10 20 1438 905,26
LGMA210A1500 1700 1500 1380 650 200 200 10 10 20 154 930,38
LGMA210A1600 1800 1600 1480 650 200 200 10 10 20 16.1 955,51
LGMA210A1700 1900 1700 1580 650 200 200 10 10 20 167 980,63
LGMA210A1800 2000 1800 1680 650 200 200 10 10 20 174 1005,75
LGMA210A1900 2100 1900 1780 650 200 200 10 10 20 180 1030,88
LGMA210A2000 2200 2000 1880 650 200 200 10 10 20 187 1056,00
LGMA210A2100 2300 2100 1980 650 200 200 10 10 20 193 1081,12
LGMA210A2200 2400 2200 2080 650 200 200 10 10 20 200 1106,25
LGMA210A2300 2500 2300 2180 650 200 200 10 10 20 206 1131,37
LGMA210A2400 2600 2400 2280 650 200 200 10 10 20 213 1156,49
LGMA210A2500 2700 2500 2380 650 200 200 10 10 20 21.9 1181,62
LGMA210A2600 2800 2600 2480 650 200 200 10 10 20 226 1206,74
LGMA210A2700 2900 2700 2580 650 200 200 10 10 20 232 1231,86
LGMA210A2800 3000 2800 2680 650 200 200 10 10 20 239 1256,98
LGMA210A2900 3100 2900 2780 650 200 200 10 10 20 245 1282,11
LGMA210A3000 3200 3000 2880 650 200 200 10 10 20 252 1307,23

LT, L and C (L: min 350 mm - max 6000 mm), stainless steel rollers and shafts.
B M ATIGaIak minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com 7‘ frrﬁ 119




>

Tl ground, hardened and chrome-plated
(AISI431 stainless steel on request) Cf53 steel

rollers and sliding shafts, silver-coloured anodised
aluminium carriage, heads and profile; polyurethane
belt with steel cables; galvanised steel nuts and bolts.
Standard pack: 1 piece.

- Maximum carriage speed: 3 m/s*.

- Maximum carriage dacceleration: 12 m/s?*.

- Theoretical precision: +0.1mm**
- 1 turn of pulley: 200 mm.

* The indicated maximum speed and
acceleration are indicative and must be
verified case by case.

** the indicated PRECISION is theoretical.
The actual precision depends on the real
conditions of use and must consider the
details concerning the kinematic chain

position control system (encoder, etc.).

Ly
¢« & / '
Cable holder chain | Pg.166 | Pg. 168 Pg.169 Pg Pg.172  Pg.173

opposite side of carriage carriage side
tab seat gearmotor toothed belt idIer_an_d )
@, ™ 1 AT 10/25 tensioning unit
o 8xM6 “’i
& ‘ <
T e s N
- N
b ot 4‘- i “I
)
A N C (travel) N g‘
— LT (L+260)
236
- 100 L o 100
268 ©
4 50 , 50 Qg
¥ ] L2 "
v Tg @l -
© -
3 B 83 P —
h T+ |8 i of §
® @ = > # 5
Q
& L 8 . |
25 70 ~ Support profile

120 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111



= *~"D10 Pre-assembled linear guiide AGIVIA
Y dwith right-side sing| ﬂ:{; carriageli)

c Recommended
i ‘“ e SiMz <23 ~fmoments and loads.

To obtain the values of
the tolerable moments

\ and loads, see charts | quANTITY DISCOUNT

‘ on Pg126 Pieces [} 3+
Discounts |8 ‘on request

Stock

AGMA210A0350 2000 .
AGMA210A0400 660 400 280 2000 200 200 10 20 10 87

736,95
AGMA210A0500 760 500 380 2000 200 200 10 20 10 94 763,77
AGMA210A0600 860 600 480 2000 200 200 10 20 10 100 790,58
AGMA210A0700 960 700 580 2000 200 200 10 20 10 107 817,40
LGMA210A0800 1060 800 680 2000 200 200 10 20 10 113 844,22
AGMA210A0900 1160 900 780 2000 200 200 10 20 10 120 871,03
AGMA210AT000 1260 1000 880 2000 200 200 10 20 10 126 897,85
AGMA210AT100 1360 1100 980 2000 200 200 10 20 10 133 924,66
AGMA210A1200 1460 1200 1080 2000 200 200 10 20 10 139 951,48
AGMA210A1300 1560 1300 1180 2000 200 200 10 20 10 1446 978,29
AGMA210A1400 1660 1400 1280 2000 200 200 10 20 10 152 1005,11
AGMA210A1500 1760 1500 1380 2000 200 200 10 20 10 159 1031,92
AGMA210A1600 1860 1600 1480 2000 200 200 10 20 10 16.5 1058,74
AGMA210A1700 1960 1700 1580 2000 200 200 10 20 10 172 1085,55
AGMA210A1800 2060 1800 1680 2000 200 200 10 20 10 1738 1112,37
AGMA210A1900 2160 1900 1780 2000 200 200 10 20 10 185 1139,18
AGMA210A2000 2260 2000 1880 2000 200 200 10 20 10 19.2 1166,00
AGMA210A2100 2360 2100 1980 2000 200 200 10 20 10 198 1192,82
AGMA210A2200 2460 2200 2080 2000 200 200 10 20 10 205 1219,63
AGMA210A2300 2560 2300 2180 2000 200 200 10 20 10 21.1 1246,45
AGMA210A2400 2660 2400 2280 2000 200 200 10 20 10 21.8 1273,26
AGMA210A2500 2760 2500 2380 2000 200 200 10 20 10 224 1300,08
AGMA210A2600 2860 2600 2480 2000 200 200 10 20 10 23.1 1326,89
AGMA210A2700 2960 2700 2580 2000 200 200 10 20 10 237 1353,71
AGMA210A2800 3060 2800 2680 2000 200 200 10 20 10 244 1380,52
AGMA210A2900 3160 2900 2780 2000 200 200 10 20 10 250 1407,34
AGMA210A3000 3260 3000 2880 2000 200 200 10 20 10 257 1434,15

LT, L and C (L: min 350 mm - max 6000 mm), stainless steel rollers and shafts.
B M ATIG AIak minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬁ 121




L]
45x90 Motor-driven linear guides in kits

MGMA D10 Pre-assembiled linear quide
= S [ dwith left-side single carriage

AT ground, hardened and chrome-plated
(AISI431 stamless steel on request) Cf53 steel

rollers and sliding shafts, silver-coloured anodised
aluminium carriage, heads and profile; polyurethane
belt with steel cables; galvanised steel nuts and bolts.
Standard pack: 1 piece.

- Maximum carriage speed: 3 m/s*.

- Maximum carriage dacceleration: 12 m/s?*.

- Theoretical precision: +0.1mm**

- 1 turn of pulley: 200 mm.

With left-ciy
to the h?ad}i&?maﬂe respect

* The indicated maximum speed and
acceleration are indicative and must be
verified case by case.

** the indicated PRECISION is theoretical.
The actual precision depends on the real
conditions of use and must consider the
details concerning the kinematic chain
consisting of the gearbox, the motor, any
connection joints and performance of the
position control system (encoder, etc.).

B
@ ’ WY .
cable holder chain ' Pg.166 ~ Pg.168 Pg 169 Pg.i70  Pg.i72  Pg.73
\9 opposite side of carriage carriage side
idler and toothed belt gearmotor tab seat
tensioning unit -
lensioning unif AT 10/25m 8xM6 \9:\@
ﬁ'l o s \
—o >
\ i @ T N B
I \ ; | = A
“ 1
8‘ & C (travel)
LT (L+260) R
100 L 100
S . 8 & L1 50, 50
0

67.5
2|
| ]
@
EJ\
©
< ]
o
9]
50
130

80

) & ¢ — & e ®
© Y 130
Support profile ~ 25 70

122 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111




" D10 Pre-assembled linear guide \iGIA
kit ME[IE v

Recommended
moments and loads.
To obtain the values of
the tolerable moments
and loads, see charts | quANTITY DISCOUNT
on Pg.124 Z Pieces |ES 3+

Discounts |8 ‘on request

Stock

MGMA210A0350 610 230 2000

. 723,55
MGMA210A0400 660 400 280 2000 200 200 10 20 10 87

736,95
MGMA210A0500 760 500 380 2000 200 200 10 20 10 94 763,77
MGMA210A0600 860 600 480 2000 200 200 10 20 10 10.0 790,58
MGMA210A0700 960 700 580 2000 200 200 10 20 10 107 817,40
MGMA210A0800 1060 800 680 2000 200 200 10 20 10 113 844,22
MGMA210A0900 1160 900 780 2000 200 200 10 20 10 120 871,03
MGMA210A1000 1260 1000 880 2000 200 200 10 20 10 126 897,85
MGMA210A1100 1360 1100 980 2000 200 200 10 20 10 133 924,66
MGMA210A1200 1460 1200 1080 2000 200 200 10 20 10 139 951,48
MGMA210A1300 1560 1300 1180 2000 200 200 10 20 10 1446 978,29
MGMA210A1400 1660 1400 1280 2000 200 200 10 20 10 152 1005,11
MGMA210A1500 1760 1500 1380 2000 200 200 10 20 10 159 1031,92
MGMA210A1600 1860 1600 1480 2000 200 200 10 20 10 16.5 1058,74
MGMA210A1700 1960 1700 1580 2000 200 200 10 20 10 172 1085,55
MGMA210A1800 2060 1800 1680 2000 200 200 10 20 10 178 1112,37
MGMA210A1900 2160 1900 1780 2000 200 200 10 20 10 185 1139,18
MGMA210A2000 2260 2000 1880 2000 200 200 10 20 10 192 1166,00
MGMA210A2100 2360 2100 1980 2000 200 200 10 20 10 198 1192,82
MGMA210A2200 2460 2200 2080 2000 200 200 10 20 10 205 1219,63
MGMA210A2300 2560 2300 2180 2000 200 200 10 20 10 2I.1 1246,45
MGMA210A2400 2660 2400 2280 2000 200 200 10 20 10 21.8 1273,26
MGMA210A2500 2760 2500 2380 2000 200 200 10 20 10 224 1300,08
MGMA210A2600 2860 2600 2480 2000 200 200 10 20 10 23.1 1326,89
MGMA210A2700 2960 2700 2580 2000 200 200 10 20 10 237 1353,71
MGMA210A2800 3060 2800 2680 2000 200 200 10 20 10 244 1380,52
MGMA210A2900 3160 2900 2780 2000 200 200 10 20 10 250 1407,34
MGMA210A3000 3260 3000 2880 2000 200 200 10 20 10 257 1434,15

LT, L and C (L: min 350 mm - max 6000 mm), stainless steel rollers and shafts.
B M ATIG AIak minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬁ 123




|
45x90 Motor-driven linear guides in kits B -

)=
ROBO |ir

EGMA D10 Pre-assembled linear quide |
> " dwith combined doul a le carriage)

ground, hardened and chrome-plated
(AISI431 stainless steel on request) Cf53 steel

rollers and sliding shafts, silver-coloured anodised
aluminium carriage, heads and profile; polyurethane
belt with steel cables; galvanised steel nuts and bolts.
Standard pack: 1 piece.

- Maximum carriage speed: 3 m/s*.

- Maximum carriage dacceleration: 12 m/s?*.

- Theoretical precision: +0.1mm**

- 1 turn of pulley: 200 mm.

14 ,
?DY motor drive

* The indicated maximum speed and acceleration
are indicative and must be verified case by case.
** the indicated PRECISION is theoretical. The
actual precision depends on the real conditions

of use and must consider the details concerning
the kinematic chain consisting of the gearbox, the
motor, any connection joints and performance of
the position control system (encoder, etc.).

Combinati 5%’%

Pg.172  Pg.173

tab seat gearmotor dor and
@' EMG b= : : < ::\)1?(213;‘]22&( tensioning unit
B vy = == ; .
2 % \ | |
D 1%, > = b @ |
NG 1R i B S O = P = = |
o of N e 3 L
™ + +
A ® £ 3 8
120 C (travel)
" [e14 h7
236 LT (L+260)
g 100 L 100
] © -
“j{ 50 T 50 & g
: X A z = p! ©
s 8 *‘@’ & B 8
2 Ly 8 - f@+
S 1| s | o
© *‘@’ {5 S & &
F—]
J |
N
° / 2 25 70 > 2 Support profile

Grooved o
rollers Cylindrical rollers

124 7‘ frrﬁ wwwibeltsistemi.com  Tel.+39.0522.635111




D10 Pre-assembiled linear guide EG\IA
'qdwith combined double carriage v

Recommended
" moments and loads.
To obtain the values of
the tolerable moments
and loads, see charts | quANTITY DISCOUNT
on Pg.124 Z Pieces |ES 3+

Discounts |8 ‘on request

Stock

EGMA210A0350 610 230 600 40 924,41

EGMA210A0400 660 400 280 2000 600 600 30 40 20 122 942,55
EGMA210A0500 760 500 380 2000 600 600 30 40 20 13.1 978,85
EGMA210A0600 860 600 480 2000 600 600 30 40 20 14.1 1015,13
EGMA210A0700 960 700 580 2000 600 600 30 40 20 150 1051,43
EGMA210A0800 1060 800 680 2000 600 600 30 40 20 16.0 1087,73
EGMA210A0900 1160 900 780 2000 600 600 30 40 20 17.0 1124,01
EGMA210A1000 1260 1000 880 2000 600 600 30 40 20 179 1160,31
EGMA210A1100 1360 1100 980 2000 600 600 30 40 20 189 1196,60
EGMA210A1200 1460 1200 1080 2000 600 600 30 40 20 199 1232,90
EGMA210A1300 1560 1300 1180 2000 600 600 30 40 20 208 1269,18
EGMA210A1400 1660 1400 1280 2000 600 600 30 40 20 218 1305,48
EGMA210A1500 1760 1500 1380 2000 600 600 30 40 20 227 1341,77
EGMA210A1600 1860 1600 1480 2000 600 600 30 40 20 237 1378,06
EGMA210A1700 1960 1700 1580 2000 600 600 30 40 20 247 1414,35
EGMA210A1800 2060 1800 1680 2000 600 600 30 40 20 254 1450,65
EGMA210A1900 2160 1900 1780 2000 600 600 30 40 20 2646 1486,93
EGMA210A2000 2260 2000 1880 2000 600 600 30 40 20 2746 1523,23
EGMA210A2100 2360 2100 1980 2000 600 600 30 40 20 285 1559,53
EGMA210A2200 2460 2200 2080 2000 600 600 30 40 20 295 1595,81
EGMA210A2300 2560 2300 2180 2000 600 600 30 40 20 304 1632,11
EGMA210A2400 2660 2400 2280 2000 600 600 30 40 20 314 1668,40
EGMA210A2500 2760 2500 2380 2000 600 600 30 40 20 324 1704,70
EGMA210A2600 2860 2600 2480 2000 600 600 30 40 20 333 1740,98
EGMA210A2700 2960 2700 2580 2000 600 600 30 40 20 343 1777,28
EGMA210A2800 3060 2800 2680 2000 600 600 30 40 20 353 1813,57
EGMA210A2900 3160 2900 2780 2000 600 600 30 40 20 362 1849,86
EGMA210A3000 3260 3000 2880 2000 600 600 30 40 20 372 1886,15

LT, L and C (L: min 350 mm - max 6000 mm), stainless steel rollers and shafts.
B M ATIG AIak minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬁ 125




L]
45x90 Motor-driven linear guides in kits

Duration of carriage rollers
Z | based on applied loads
D10 guide with upper single carriage

i i
= =
S \ S \\
g N g \\
\\ \\\ Su
™
\\ \\\_ \\\‘ i
———— ‘\\=:
S Load [N] * E MomentNm]*

= Recommended load in table|

* upon customer request the charts complete with values are supplied by our technical department.

mmm—— Recommended moment in table ‘
—

IYdY) - EMA D10 guide with side single carriage
ez
| 2

Mz d'\‘ :
: ‘ . i My
= = MxX¥
8 8 \\
] ] N
S AD SN
N NN
\\ \\\- \\\ \\~
T —— ‘;‘z—
Load [N] * Moment [N m] *
= Recommended load in table ’——_ Recommended moment in table

* upon customer request the charts complete with values are supplied by our technical department.

126 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111



L]
45x90 Motor-driven linear guides in kits
Duration of carriage rollers K
based on applied loads
[d2 D10 guide with double carriage

R
= =
s \ NG 8
E NN g
a NN a
Load [N] * Moment [N m] *

— —_— -
s Recommended load in table mmmm—— Recommended moment in table

* upon customer request the charts complete with values are supplied by our technical department.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 127



A ETTI

{111 N ERSERVICE
system partner



CICN, Motor-driven
linear quides

in pre-assembled
kits

With upper single

carriage [{[d

With right-side
single carriage [

With left-side
single carriage N[dI)

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi regarding a specific characteristic of the
component or its suitability for a specific use. The data providec? shall not relieve the customers
from their responsibilities of luating, checking and using the components. Al information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




>

ground, hardened and chrome-plated
(AIS1431 stainless steel on request) Cf53 steel

rollers and sliding shafts, silver-coloured anodised
aluminium carriage, heads and profile; polyurethane
belt with steel cables; galvanised steel nuts and bolts.
Standard pack: 1 piece.

- Maximum carriage speed: 3 m/s*.

- Maximum carriage dacceleration: 12 m/s?*.

- Theoretical precision: +0.1mm**.

- 1 turn of pulley: 200 mm.

* The indicated maximum speed and acceleration are
indicative and must be verified case by case.

** the indicated PRECISION is theoretical. The actual
precision depends on the real conditions of use and
must consider the details concerning the kinematic
chain consisting of the gearbox, the motor, any
connection joints and performance of the position
control system (encoder, etc.).

&7

Pg.166 | Pg.169  Pg.168

tab seat o toothed  idler and
@ s N belt tensioning unit
DA X AT 10/50
P \ \
- Y | e AN
NSk PR ——
& &
© 2 v
— C (travel) |
225
A LT (L+200) »
| 290 100 L .. 100
125 9 50 , 50 |40
\‘ B { v i ,
[ JJ H ] 3 ‘[yé; = | @o
H (=3 \ ;@ =
> ] 2 o WA
@ o v - e * — &
2 Support profil
» 239 130 » E upport protile

130 I4ETTH

www.betisistemi.com  Tel.+39.0522.635111



v D10 Pre-assembled linear guide HG\ID
X Swith tipner single carriagelialiey

Recommended
moments and loads.
To obtain the values of
the tolerable moments
and loads, see charts QUANTITY DISCOUNT
0N pg.134 :

Z Pieces [HE3 3+

Discounts |8 ‘on request

Stock

HGMD416A0500 1200 40 60

HGMD416A0600 800 600 260 650 600 1200 40 60 110 19.8 1421,15
HGMD416A0700 900 700 360 650 600 1200 40 60 110 214 1466,80
HGMD416A0800 1000 800 460 650 600 1200 40 60 110 23.0 1512,45
HGMD416A0900 1100 900 560 650 600 1200 40 60 110 244 1558,10
HGMD416A1000 1200 1000 660 650 600 1200 40 60 110 262 1603,75
HGMD416A1100 1300 1100 760 650 600 1200 40 60 110 27.8 1649,40
HGMD416A1200 1400 1200 860 650 600 1200 40 60 110 294 1695,06
HGMD416A1300 1500 1300 960 650 600 1200 40 60 110 309 1740,71
HGMD416A1400 1600 1400 1060 650 600 1200 40 60 110 325 1786,36
HGMD416A1500 1700 1500 1160 650 600 1200 40 60 110 34.1 1832,01
HGMD416A1600 1800 1600 1260 650 600 1200 40 60 110 357 1877,66
HGMD416A1700 1900 1700 1360 650 600 1200 40 60 110 373 1923,31
HGMD416A1800 2000 1800 1460 650 600 1200 40 60 110 389 1968,96
HGMD416A1900 2100 1900 1560 650 600 1200 40 60 110 405 2014,61
HGMD416A2000 2200 2000 1660 650 600 1200 40 60 110 42.1 2060,26
HGMD416A2100 2300 2100 1760 650 600 1200 40 60 110 434 210591
HGMD416A2200 2400 2200 1860 650 600 1200 40 60 110 452 2151,56
HGMD416A2300 2500 2300 1960 650 600 1200 40 60 110 46.8 2197,21
HGMD416A2400 2600 2400 2060 650 600 1200 40 60 110 484 2242,86
HGMD416A2500 2700 2500 2160 650 600 1200 40 60 110 50.0 2288,52
HGMD416A2600 2800 2600 2260 650 600 1200 40 60 110 5146 2334,17
HGMD416A2700 2900 2700 2360 650 600 1200 40 60 110 532 2379,82
HGMD416A2800 3000 2800 2460 650 600 1200 40 60 110 54.8 2425,47
HGMD416A2900 3100 2900 2560 650 600 1200 40 60 110 564 2471,12
HGMD416A3000 3200 3000 2660 650 600 1200 40 60 110 57.9 2516,77

LT, L and C (L: min 500mm - max 6000 mm), stainless steel rollers and shafts.
B M AGeIak minimum order: 1 piece, delivery in 15 working days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬁ 131



>

Tl ground, hardened and chrome-plated
(AISI431 stainless steel on request) Cf53 steel

rollers and sliding shafts, silver-coloured anodised
aluminium carriage, heads and profile; polyurethane
belt with steel cables; galvanised steel nuts and bolts.
Standard pack: 1 piece.

- Maximum carriage speed: 3 m/s*.

- Maximum carriage dacceleration: 12 m/s?*.

- Theoretical precision: +0.1mm**

- 1 turn of pulley: 200 mm.

. . araoe
with Y'@mﬂfﬂégd dm?e unit

yespeo’c to

* The indicated maximum speed and
acceleration are indicative and must be
verified case by case.

** the indicated PRECISION is theoretical.
The actual precision depends on the real
conditions of use and must consider the
details concerning the kinematic chain
consisting of the gearbox, the motor, any
connection joints and performance of the
position control system (encoder, etc.).

tab seat gearmotor
N toothed belt Support profile idler and
3 AT 10/50 © o tensioning unit
o < S ﬁg—
< 3
RIT| e 44 &
& b6 o 3
| 2
o == ¥
o
- ° m.T
225 300 c s
244
LT (L+2
090 (£+260)
130 L 130
315, 25
i S 100
v v
l 3‘ °o o ® =
o S > o
<
T 8 |
Jd 8 5
N -l 2 8
~ «©
& &
: <
S v ©
40 @ ¢
o 2
220 0 & 8

132 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111



~" D10 Pre-assembled linear guide BG/\D
klt N7

Recommended
moments and loads.
To obtain the values of
the tolerable moments
and loads, see charts QUANTITY DISCOUNT
0N pg.134 :

Z Pieces [HE3 3+

Discounts |8 ‘on request

¥

Stock

BGMD416A0500 200 2000 600 1200 40 60

BGMD416A0600 860 600 300 2000 600 1200 40 110 60 20.8 1515,84
BGMD416A0700 960 700 400 2000 600 1200 40 110 60 224 1561,50
BGMD416A0800 1060 800 500 2000 600 1200 40 110 60 24.0 1607,15
BGMD416A0900 1160 900 600 2000 600 1200 40 110 60 254 1652,80
BGMD416A1000 1260 1000 700 2000 600 1200 40 110 60 272 1698,45
BGMD416A1100 1360 1100 800 2000 600 1200 40 110 60 28.8 1744,10
BGMD416A1200 1460 1200 900 2000 600 1200 40 110 60 304 1789,75
BGMD416A1300 1560 1300 1000 2000 600 1200 40 110 60 319 1835,40
BGMD416A1400 1660 1400 1100 2000 600 1200 40 110 60 335 1881,05
BGMD416A1500 1760 1500 1200 2000 600 1200 40 110 60 35.1 1926,70
BGMD416A1600 1860 1600 1300 2000 600 1200 40 110 60 36.7 1972,35
BGMD416A1700 1960 1700 1400 2000 600 1200 40 110 60 383 2018,00
BGMD416A1800 2060 1800 1500 2000 600 1200 40 110 60 399 2063,65
BGMD416A1900 2160 1900 1600 2000 600 1200 40 110 60 415 2109,30
BGMD416A2000 2260 2000 1700 2000 600 1200 40 110 60 43.1 2154,96
BGMD416A2100 2360 2100 1800 2000 600 1200 40 110 60 4446 2200,61
BGMD416A2200 2460 2200 1900 2000 600 1200 40 110 60 46.2 2246,26
BGMD416A2300 2560 2300 2000 2000 600 1200 40 110 60 478 229191
BGMD416A2400 2660 2400 2100 2000 600 1200 40 110 60 494 2337,56
BGMD416A2500 2760 2500 2200 2000 600 1200 40 110 60 51.0 2383,21
BGMD416A2600 2860 2600 2300 2000 600 1200 40 110 60 5246 2428,86
BGMD416A2700 2760 2700 2400 2000 600 1200 40 110 60 542 2474,51
BGMD416A2800 3060 2800 2500 2000 600 1200 40 110 60 5538 2520,16
BGMD416A2900 3160 2900 2600 2000 600 1200 40 110 60 574 2565,81
BGMD416A3000 3260 3000 2700 2000 600 1200 40 110 60 589 2611,46

LT, L and C (L: min 500mm - max 6000 mm), stainless steel rollers and shafts.
B G Tk minimum order: 1 piece, delivery in 15 working days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬁ 133



>

Tl ground, hardened and chrome-plated
(AISI431 stainless steel on request) Cf53 steel - ¢25
rollers and sliding shafts, silver-coloured anodised B TCDV Wotor Dlrl:\/e
aluminium carriage, heads and profile; polyurethane -

belt with steel cables; galvanised steel nuts and bolts.
Standard pack: 1 piece.

- Maximum carriage speed: 3 m/s*.

- Maximum carriage dacceleration: 12 m/s?*.

- Theoretical precision: +0.1mm**

- 1 turn of pulley: 200 mm.

With left.
to the hﬁ;;ﬁ,ﬂw H’Lagg respect

* The indicated maximum speed and
acceleration are indicative and must be
verified case by case.

** the indicated PRECISION is theoretical.
The actual precision depends on the real
conditions of use and must consider the
details concerning the kinematic chain
consisting of the gearbox, the motor, any
connection joints and performance of the
position control system (encoder, etc.).

. gearmotor tab seat
idler and support profile toothed belt ] -
tensioni it i ; : —
ensioning uni 8L ) AT 10/50 : o 4xM8 o \Ei@
- % 3 / [ T
\ i
[ o= = 9 ® (=4
2 o o0 ¢ ® SR
-~ |
Y L =
‘ 2 @ ®
LD.T =l P ]
o C (travel) 300 225
LT (L+260) ’;‘;‘;
130 L 130 e
2| 25 315 o
100 S| 150,50 9 ) ~
® @ | '
- © o o i
- ) —
E @ +’ © 8
8 o 7 uﬁ’
+ * ©
g N
2 4 1@ © LI 2
48 - 220 40

134 7‘ fTTE wwwibeltsistemi.com  Tel.+39.0522.635111



~ D10 Pre-assembled linear guide \G\ID
Ludwith left-side sing] d‘g carviageliy

Recommended

moments and loads.
To obtain the values of
the tolerable momenty

and loads, see charts QUANTITY DISCOUNT

on
Pg.139 Pieces |3 3+
Discounts |8 ‘on request
[ Oder T L C & & oMk My M: Weighll €
o]
o

&

NGMD416A0500 200 2000 600 1200 40 60 1470,19

NGMD416A0600 860 600 300 2000 600 1200 40 110 60 20.8 1515,84
NGMD416A0700 960 700 400 2000 600 1200 40 110 60 22.4 1561,50
NGMD416A0800 1060 800 500 2000 600 1200 40 110 60 24.0 1607,15
NGMD416A0900 1160 900 600 2000 600 1200 40 110 60 25.6 1652,80
NGMD416A1000 1260 1000 700 2000 600 1200 40 110 60 27.2 1698,45
NGMD416A1100 1360 1100 800 2000 600 1200 40 110 60 28.8 1744,10
NGMD416A1200 1460 1200 900 2000 600 1200 40 110 60 30.4 1789,75
NGMD416A1300 1560 1300 1000 2000 600 1200 40 110 60 31.9 1835,40
NGMD416A1400 1660 1400 1100 2000 600 1200 40 110 60 33.5 1881,05
NGMD416A1500 1760 1500 1200 2000 600 1200 40 110 60 35.1 1926,70
NGMD416A1600 1860 1600 1300 2000 600 1200 40 110 60 36.7 1972,35
NGMD416A1700 1960 1700 1400 2000 600 1200 40 110 60 38.3 2018,00
NGMD416A1800 2060 1800 1500 2000 600 1200 40 110 60 39.9 2063,65
NGMD416A1900 2160 1900 1600 2000 600 1200 40 110 60 41.5 2109,30
NGMD416A2000 2260 2000 1700 2000 600 1200 40 110 60 43.1 2154,96
NGMD416A2100 2360 2100 1800 2000 600 1200 40 110 60 44.6 2200,61
NGMD416A2200 2460 2200 1900 2000 600 1200 40 110 60 46.2 2246,26
NGMD416A2300 2560 2300 2000 2000 600 1200 40 110 60 47.8 229191
NGMD416A2400 2660 2400 2100 2000 600 1200 40 110 60 49.4 2337,56
NGMD416A2500 2760 2500 2200 2000 600 1200 40 110 60 51.0 2383,21
NGMD416A2600 2860 2600 2300 2000 600 1200 40 110 60 52.6 2428,86
NGMD416A2700 2760 2700 2400 2000 600 1200 40 110 60 54.2 2474,51
NGMD416A2800 3060 2800 2500 2000 600 1200 40 110 60 55.8 2520,16
NGMD416A2900 3160 2900 2600 2000 600 1200 40 110 60 57.4 2565,81
NGMD416A3000 3260 3000 2700 2000 600 1200 40 110 60 58.9 2611,46

LT, L and C (L: min 500mm - max 6000 mm), stainless steel rollers and shafts.
B AR ek minimum order: 1 piece, delivery in 15 working days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬁ 135



L]
90x90 Motor-driven linear guides in Kits =z

Duration of carriage rollers
Z | based on applied loads
[[€15, D20 guide with upper single carriage

‘“Cz
S 7

\
N\ E N

=

Duration [h]
V.
/
/
/
Duration [h]
/

B8 Load [N] * g B £ Moment (N m] *

| e .
s Recommended load in table] ’—— Recommended moment in table ‘

* upon customer request the charts complete with values are supplied by our technical department.

Mz
A0, D20 guide with side single carriage \Q“‘
. “ Cz : ° . \

2.
O ‘ g (] Ty
d = B
\ 0 \ \
\\ .:" \\ \\
N NG N
51N s T~
= N =
g N I o~
a NG a ~N—7T
e~ T~

B Load [N] * E B Moment [N m] *

— — -
s Recommended load in table] mmmm—— Recommended moment in table

* upon q the charts lete with values are supplied by our technical department.

136 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111




I ETTIR:
0nigat ]

COMPONENTS

Have you
60‘!' al Hhe



Possible configurations

Z

in pre-assembled kits

For further
services

ISETTIR

{111 N ERSERVICE
system partner

Tel: +39 0522 635111

Please do not hesitate to_ask for support
from the Bett Service System Partners
whenever you require more than just DIY
components.

Where:
Correggio
Faenza
Bologna

Milan ltaly

Switzerland Zurich

Holland

Barcelona

Madrid
Utrecht

Spain

Australia

Stutigart  Germany
Melbourne

Toronto Canada

T4 £TTHR
X ad 3

COMPONENTS

If you require pre-assembled
kits like those shown in the
following pages, complete
the technical questionnaire
found on page 141 and send

it by fax (+39 0522 635222)

or e-mail  (bsistemi@
bettsistemi.com) to request
the support of one of our
System Partners.

The BETT SERVICE SYSTEM PART-
NERS are centres authorised by
BETT SISTEMI with the aim of
adding value to the “Original
Components”, thanks to their
engineering and services.
Besides a vast System Partner
network within Bett Sistemi,
authorised centres are also
present in various cities in It-
aly and abroad.

138

VSETTIE

www.betisistemi.com  Tel.+39.0522.635111



L]
Possible configurations
0 in pre-assembled kits

s ETTR

1111 N EESERVICE

system partner

BEPg.166
AGMA |
kgﬁﬂﬁw B=Pg.120 ~

LGOD N

00
wspgd0  PEPOE0 /

2343
EEI Mod. 4|

AGMA
BEPg.120

EGMA
B Pg.124

2
»\l
MGMA
BEPg.122 /

=Py 166 9= Pg.166
EGMA AGMA
BEPg.124 B Pg.120

Iz
“~.

N
EGMA MGMA
B Pg.124 A,/' ¥EPg.122 .('
[ Mod. 7| P73 Mod. 8 2343
: B Pg.166 §EPg.166
EGMA - AGMA
¥ Pg.124 BEPg.120

~
re

GMA
¥EPg.124 %

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 139

N
EP@.‘IZZ‘x/




L]
Possible configurations
in pre-assembled kits

A £TTHR

1111 8 EESERVICE
system partner

2343
B Pg.166

AGMA
B Pg.120

MGMA
w=Pg.122

Z
EGMA 2343 NI
BEPg.124 ¥=Pg.166 ‘X/'

B Pg.124

AGMA
»EPg.120

43
¥EPg.166
EGMA
B Pg.124 AGMA
¥ Pg.120

EGMA = Pg.
¥EPg.124 27:3166 ™~ wPg122 N
7 7
Wod. 13 R od. 14

85 Pg.166 5 Pg.166
EGMA ="
wrPg.124 ECA AGMA . EGMA

»=Pg.124 55 Pg.120 T BE Pg.124

Iz
~

X

140 VAETTIE vvbetsisemicom Tl439.0522635111

Z
EGMA I
EPg.80 EPg.124‘>

X

¥ Pg.122




V£ £ T T tecHNIcAL QUESTIONNAIRE M 11Q.REY 21
/111mmmaseRVICE| FOR PRE-ASSEMBLED KITS Page 1/5

system partner

Customer:

Purchasing contact:

Technical manager:

Supply to be delivered before: ..............ccccccoiiniininiinns Kit to be delivered before: .............cccccccoviniiini.
Type of customer:  Manufacturer [ /3 System integrator [ Qj User [J @

1)} DESCRIPTION OF USE

A description of the type of work that the guide must perform is required together with a sketch indicating the dimensions.

USE (required field): (5

Tick the work position: x Tick the work position:

i CEy  [0f , TP

[Mod. 3]

Tick the work position:

Cie




V£ 4 T T recHNICAL QUESTIONNAIRE M 11.REY 21

111 EmmasSERVICE| FOR PRE-ASSEMBLED KITS Page 2/5

system partner

Tick the work position:

O
| Mod. 9 [ g  Mod. 10|
Iz
™
Tick the work position: Tick the work position: ‘X/.

e
Og Of , [Of O

¢




V£ £TTIR: tecunicaL quesTionNaRe M 110.REY 21
/11rEmmmsERVICE| FOR PRE-ASSEMBLED KITS Page 3/5
system partner age

Tick the work position:

Mod. 12

Tick the work position:

Og

O

Tick the work position:

Tick the work position:

O

O

If the desired

guration is not

g the 14 il

Ll dol ]

corresponding drawing and characteristics.

P

send us the

KN DESCRIPTION OF THE TECHNICAL CHARACTERISTICS
3.1 - DIMENSIONS OF THE AXES
T(':;SI* KﬁcElls\ll'lo'ln on m)slhomng (mm) *
obhlnable precision 0.1 mm
X-AXIS P I b ¥ these fields are COMPULSORY.
) ** for travel exceeding 500 mm or
Y-AXIS - @ I ! heavy loads, the Z-axis may have to
o be lifted completely BEFORE moving
Z-AXIS™ | @ I @ the other axes.




V£ T T tecHNICAL QUESTIONNAIRE M 119.REY, 21

/111 A mmSERVICE| FOR PRE-ASSEMBLED KITS Page 4/5

system partner

3.2 - WORK CYCLE CHARACTERISTICS:
1 Simultaneous movement of the axes: NO [ YES [ @

5 Work days in a year:
6 Guide speed (m/sec): (
7 Work cycles in the time unit: ..............ccoooiiininnns @
These fields are COMPULSORY

Points 6 and 7 are optional: complete one or the other.

3.3 - CHARACTERISTICS OF THE APPLIED LOAD:
Mass to be transported: £ ............ kg

Weight of the support structure of the mass (if present): B kg

Overall dimensions of the mass to be transported: H

Position of the mass to be transported respect fo the carriage (or to the Z-axis):...................
The guide is used to move products: No [l oves O B
The guide is used to perform mechanical work: No [ faves [

(e.g. removal of chippings, engraving, etc.)

External forces acting on the carriage or on the mass: NO [ 9YES [ £ ... kg

3.4 - WORK CONDITIONS AND ENVIRONMENT:
O Lat y [0 Mechanical workshop [T Warehouse [ Other: ....oovvveeicce

3.5 - EXPECTED DURATION OF THE GUIDE:
(indicate the expected maintenance inferval) Months: ............ (2



V£ 4 T T tecHNICAL QUESTIONNAIRE M 119.REY, 21
/111 mmmmsERVICE| FOR PRE-ASSEMBLED KITS
system partner Page 5/5

3.6 - ACCESSORIES:
- Cable holder chain YES [ NO [ £

FIXED
PART

E) ATTENTION: the cable GEARMOTOR

older chain is mounted on
the gearmotor side with the
fixed part next fo it.

- Integrated overtravel and zero sensors2

YESO NoO O P
(only for @10 and @12 guides)

)l GENERAL NOTES AND DRAWING

- Notes:

- Are customised works required on the carriage?

B OIYES (provide drawing) B ONo

(ATTENTION: it is advisable for Bett to perform these works before mounting the guide, otherwise it
must be dismantled and re-assembled.)

Completion date of questionnaire Signature of Applicant




[SISTEMI|

i References from SETTE
Items not provided system partner

in the questionnaire

For further Discover all the solutions
services realized with our components

T4 ETTIE www.bettsistemi.com

1111 N B SERVICE H )
system partner

Tel: +39 0522 635111

Please do nof hesitate to_ask for support
rom the Beft Service

e ers
sy require more than just DIY
components

Where:

Correggio

Faenza

Bologna

Milan ltaly
Switzerland Zurich

Barcelona

Madrid Spain
Holland  Utrecht

Stutigart  Germany
Australia  Melbourne

Toronfo __ Canada @

AGMA
¥ Pg.120

MGMA
B Pg.122

146


http://www.bettsistemi.com/guides-and-linear-tables-p27/refs.html

- eferences from
@ R AETTIR

Illll.-SEllVICE
- stem

Items not provided e parimer

in the questionnaire

AGMA
¥ Pg.120

147



1111 8 B SERVICE
LGMA system partner
BEPg.118

> eferences from
@ R ‘ TEETTIRE

AGMA
B Pg.120

LGMA
¥ Pg. 118

HGMD
#EPg.130

148




1111 B SERVICE
LGMA system partner
»=Pg.118

- eferences from
@ R AETTIR

EGMA
PG4

AGMA
B Pg.120

149



1111 8B SERVICE
system partner

t‘ Reference.s from VS ETTIE

EGMA
B Pg.124

LGMA
¥=Pg. 118

2343
B Pg.166

AGMA
¥ Pg.120

] 50 HandBook e 2011



/111 B SERVICE
LGMA system partner
wEPg.118

- eferences from
@ R AETTIR

2343
¥EPg.166

MGMA

¥EPg.122
o /

¥EPg.166

2343
B=Pg.166

151



References from S ETTIE

1111 1B SERVICE
system partner

152

HandBook @) 2011




References from S ETTIE
yitem pariner

Z

153

HandBool




CABLE
PROTECTION
CHAIN KIT
#5 Pg.166

WITH UPPER ="
IDLER
CARRIAGE UNIT

¥ Pg.160 BEPg.158
BELT
9= Pg.164

< N 45x90
HEAD DRIVE W&
A - BEAM

¥ Pg.157 =L

\ @, CARRIAGE

CHAIN KIT
CABLE PROTECTION
L5

HEAD DRIVE | ©
UNIT |

\ GUIDE
\ WITH DOUBLE CARRIAGE
e

L5



Components for
DIY construction of
:5.¢l), motor-driven
010 linear guides

45x90 Beam

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi re; ordinﬁ a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




L]
45x90 Motor-driven @10 linear guides

8090 45x90 17111

Use: grooved profile support, which provides guide rigidity, with a
compartment for the belt to pass through. The grooves allow the
guide to be anchored to the structure and the end-stops, sensors,
etc. to be applied.

aluminium.

Characteristics:

4 open sides.

bending moment of inertia: ly = 96 cm* | Iz = 26 cm*
torsion moment of inertia: 13 cm*

Standard pack: 8 bars.

QUANTITY DISCOUNT
COTRNUMN 1+ | 8+ | 16+| 32+
Bar6 m RERRINRIS 16+

(UL - -10%|-17%] on request
Order L Finish Weight § €
&
684661 8x3m anodised 9.9 2 97,62
67773 8x6m anodised 19.8 8 19524
L on request (max 6000 mm). =

O [ A xak minimum order: 1 bar, delivery in 10 days.

156 VAETTIE vvbetsisemicom Tl439.0522635111




nr'-

L]
45x90 Motor-driven @10 linear guides

Use: to motorise the linear guide.

ST I head complete with 4 M8X20 UNI 5933 (1SO 10642)
screws and 2 M8 rectangular nuts to fasten to the beam.
aluminium head, steel pulley, galvanised steel nuts and

bolts.

Technical characteristics: 1 turn of pulley = 200 mm.

Standard pack: 1 piece.

“Head drive unit

1961

Y
-
e 50 50 i 30
centring 3 ¢ Pt 3
/ b
/ \
0d1)” 3+ /ﬁ% o |
S i K] j @
3 \)%K:X ﬁ/ }
] — 1
NP P N
0 =] |
~ ©| |
© O
L
F! H7 :
f 12 mm depth (on both sides) d 15 &

Pieces

Discounts

Order  d dl d2 Compatible Compatible Finish

code  mm mm mm gearmotor belt
For guides with upper carriage

628183 14 36 68 8xM6 Bonf.MVF/30 692062 (AT 10/16) anodised 2.2 K48 152,85
628053 18 36 87 4xM6 Bonf.MVF/44 692062 (AT 10/16) anodised 2.2 |48 162,85
628193 19 36 68 8xMé6 692062 (AT 10/16)  anodised 2.2 162,85
_For guides with side/ carriage

658503 14 36 68 8xM6 Bonf.MVF/30 692072 (AT 10/25) anodised 2.2 162,85
658513 18 36 87 4xMé Bonf.MVF/44 692072 (AT10/25) anodised 2.2 162,85
691927 25 44 90 4xM8 Bonf.MVF/49 692072 (AT 10/25) anodised 2.2 162,85

B TGSk minimum order: 1 piece, delivery in 10 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ

157




L]
45x90 Motor-driven @10 linear guides

1963 [[7|[F; unit
with eccentric wheel

Use: applied on the opposite side of the head drive unit, it allows

the belt to return.

ST ETTAN head complete with 4 M8X20 UNI 5933 (ISO 10642) 3 {
L B

screws and 2 M8 rectangular nuts to fasten to the beam.
aluminium head, galvanised steel screws.

Standard pack: 1 piece. N i
g
£ L -
- mm
30 e 50 50 |
2
(C )
Z
A
o &1,
[ } -
2 \
< o
| @
3 € |
© ©
= !
0
| 130 | 15
QUANTITY DISCOUNT

Compatible belt

628063 692062 (AT 10/16) anodised
658533 692072 (AT 10/25) anodised 1.93

158 VAETTIE vvbetsisemicom Tl439.0522635111







LGAD=>  [ok[i Double guide

with carriage

Use: simple and safe system to be used when
the guide is to remain fixed and the roller-
holder carriage made to slide or when the
carriage is fixed and the guide is made to slide.
ground, hardened and chrome-
plated (or AISI431 stainless steel) Cf53 steel
guides, anodised aluminium carriage and
profile, steel rollers.
Standard pack: 1 piece.

axial load
[ .
[ u_#}\ = == I ZI
. L (max 6000) .
vooved radial load @ P
vollers 30 S l
Pg.40 BE ] > @ § %
A
©: ® ® S
stew to i@z fid <
holes 2 fon - 5 s
—»7‘5 L @ _@‘ 1 v

ﬁ LB2d leB1
e C=L-B B

Typeof d1 A B H Al A2 Bl B2 D E F N CH P O R S A R
roler @ mm mm mm mm mm mm mm mmwench mm mm wench mm mm mm mm N N

210 10 150120 20 26 98 25 70 54 5 20 44 17 25 25 58 150 2400 2600

160 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111




Q ".
10

[0i[1) Double gu

with carriage

ide V LGAD

[NGEEE hpeot L

Stock

2101 000 210 1000 chrome-plated steel 4.6
21043000 210 3000 chrome-plated steel 10.8
IN210f4000 210 4000 chrome-plated steel 14.9

[ = | minimum order: 1 piece, delivery in 10 days.
GG additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:

Order code
LCA DAY
l% length L in mm (max 6000)

chrome-plated steel guide = A
stainless steel guide = 1

type of roller Pg.40 B

FITTING RECOMMENDATIONS

Ordering example

2100500

Ordering example for 210-type
linear guide, length L = 500 mm,
steel guides.

A thin groove in the centre of the profile indicates the axis where to drill for it to be anchored to the
structure (it is recommended to drill every 500 mm; use M6 screws).

UPPER SINGLE SIDE SINGLE
CARRIAGE LH CARRIAGE

COMBINED DOUBLE
RH CARRIAGE
30
Code 630327
Plate with
clamp

Code 630317

|\ Guide with E E &
carriage

LGA

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ 161



L]
45x90 Motor-driven @10 linear guides

LGAS => [bi[t Double guide
with carriage set-up for end-stop sensors

Use: simple and safe system to be used when
the guide is to remain fixed and the roller-hold-
er carriage made to slide or when the carriage
is fixed and the guide is made to slide.

ground, hardened and chrome-
plated (or AISI431 stainless steel) Cf53 steel
sliding shafts, anodised aluminium carriage
and profile, steel rollers.

Standard pack: 1 piece.

Q:T/

.95

Fitting the sensors Pg.96 IS

re————— L (max 6000)

radial load @

© ©

A1

oles to f“sw'” 0

the beamw 7 @ P v

e
A2
f———— A——»

B1w»l + B2+ leB1

j¢——— C=L-B———»i«—B—»

Al

Typeof d1 A B H Al A2 Bl B2 D E F N CH P O R A R
roler @ mm mm mm mm mm mm mm mm wench mm mm wench mm mm mm N N

210 10 150 120 20 26 98 25 70 54 5 20 44 17 20 25 58 2400 2600

162 VAETTIE vvbetsisemicom Tl439.0522635111




[X[1, Double guide W LGAS

with carriage set-up for end-stop sensors

[NGEEE hpeot L

Stock

2101 000 210 1000 steel 4.6
le/N210[3000 210 3000 steel 10.8
2104000 210 4000 steel 14.9

[ = | minimum order: 1 piece, delivery in 10 days.
OGO additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.

To order other customised measurements, use the order code shown below:

Order code Ordering example
> length L in mm (max 6000) Ordering example for 210-type linear
chrome-plated steel sliding shafts = A guide, length L = 500 mm, steel
stainless steel sliding shafts = I shafts, with set-up
type of roller Pg.40 B\ for end-stop.

FITTING RECOMMENDATIONS

A thin groove in the centre of the profile indicates the axis where to drill for it to be anchored to the
structure (it is recommended to drill every 500 mm; use M6 screws).

UPPER SINGLE SIDE SINGLE COMBINED DOUBLE
CARRIAGE LH CARRIAGE RH CARRIAGE
30
Code 630327
Plate with
clamp

Code 630317

|\ Guide with E E &
carriage

LGA

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬂ 163



1964 = Belt for motor-drive
guide

Use: to motorise the linear guide.
[MIZZETN polyurethane with reinforced steel cables.

Maintenance: it is advisable to replace the belt every 3
years (when applied to linear guides).

Characteristics: temperature limits: from -5° to +70°C;
hardness characteristics: 92 shore A.

Standard pack: 20 m roll.

|

Pl 3

9

~

-
\

A pitch P Max voltage 3
&
692062 16 10 2190 AT 10/16 0.09 B%
692072 * 25 10 3660 AT 10/25 0.14 .

EXRIEYEAIYM the belt (code 692072) cannot be used for applications that require the belt to pass
through the sliding channel (in D10 and D20 guides) for clearance-relted purposes; it must therefore only
be used in applications with carriages mounted sideways; see diagram Pg.1658%. .

B T ATIG AIas, minimum order: 5 m, delivery in 10 days.

164 7‘ frrﬂ wwwibeltsistemi.com  Tel.+39.0522.635111



Belt for motor-drive W 1964

quide
APPLICATION ON UPPER APPLICATION ON SIDE
t SINGLE CARRIAGE SINGLE OR COMBINED
DOUBLE CARRIAGE

| D10-D20

v 4 I

D10 - D20

o] Il O
10

Fax.+39.0522.635222  bsistemi@beltsistemi.com 7‘ frTE 165



2343 =» Cable holder chain kit

) L]

Use: for the safe passage of electric cables along the
linear guide with an upper or side carriage (opposite
side of the carriage).

I chain links in glass fibre reinforced technopolymer;
galvanised steel couplings; stainless steel brackets; galvanised
steel nuts and bolts.

State of supply: cable holder chain of required length; 2
plates (to fasten the chain to the brackets) with 8 screws

WAl

to fasten the chain; 2 brackets (to fasten to the carriage 2 PtG
and guide) with 6 M8x16 DIN7984 screws and 6 M8 square \‘GN\P‘ \,\GN\D
nuts with spring. ‘0" N\(,N\P‘ g“'\des

Standard pack: 1 piece.
Combinations 1Sl NEgRi)
@ @

- deformation resistance: 190 N/mma2. e e
- deformation module: 10000 N/mm2. Pg.169 | Pg.168

- expansion of rupture: 5%.

- impact resistance: 45 Kj/m.

- coefficient of friction: 0,3. fastening brackets to
carringe/guide
constant temperature range between 63

-30° and 120°

79.5

==L m
FEQ ﬂ o] o

SELF-SUPPORTING

cable weight 0 ¥
max 5 Kg/m ;5

chain fastening
couplings on brackets
63

pitch P = 50 mm o &
(20 elements =1 m) 7ﬂ ‘_‘ '_l
m @Ejf 3 38
g3 ﬁ (e IS 165] (85w

= o [ o)\ o5

(carriage travel)

Formula to determine the length of the chain [REYENcAE> {IEY PPN

n=L/P (rounded to the next whole number).

once the length of the chain is determined, as pitch is P=50 mm, the chain is provided with a number
of links that rounds up, the value calculated using the above formula. If for example, a chain length
of L=1025 mm corresponding to 20.5 links is calculated, the chain will be supplied with 21 links
corresponding to a length of L=1050.

166 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111



9]

Cable holder chain kit 2343
Wwith short support

T

Stock

L 230 0,3
L 1000 1000 730 0,6
L 1500 1500 1230 0,9
L 2000 2000 1730 1,2
L 2500 2500 2230 1.5
L 3000 3000 2730 1,8

[EETRAAL and C on request.
B T ATIGRIasE minimum order: 1 piece, delivery in 15 days.
To order other customised measurements, use the order code shown below:

Order code Example of a cable holder chain L = 4000 mm.
EEL —=> length L in mm L 4000

Guide to choosing supports for cable holder chain Fitting examples

ﬂ ; > UPPER
= '[a/'@ carg'i';lge
&
L EPNEREEENY

Support bracket

Part. 2632 ﬁ.TSQE

< => on SIDE carriage
(s D) (opposite side of carriage)
C =800 + 1200 m ‘ _:Di

ol

Support duct

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ 167



2650

side to the chain coupling).

[T stainless steel duct and bracket, galvanised steel nuts and

bolts.

ST 1 bracket and 1 support steel plate, 1 M8x16 DIN7984
screw and 1 M8 square nut with spring to fasten to the profile groove, 2

screws to fasten the steel plate to the bracket.
Standard pack: 1 piece.

Support ['}!Eqi
me gable older chain

Use: as a support for cable holder chains Part. 2343 on guides whose
travel exceeds 800 mm, to be fastened at the end of the guide (opposite

Y

[[o)Te)le o) T T o)l o)l o) =)l

C =800 + 1200

[e]

pitch400 |~
C > 1200

Support bracket ) :
‘- Part. 2632 Pg. 1698 @
o

L 0350 350

AlSI304 stainless steel 665

L on request (max 3000).

- Stock

B G ek minimum order: 1 piece, delivery in 10 days.

168

V‘ frr@ www.betfsistemi.com  Tel.+39.0522.635111



Support | i 2632
for cable holder chain

Use: as a support for cable holder chains Part. 2343 on guides

whose travel is less than 800 mm, or together with the support duct
Part. 2650 on guides whose travel exceeds 1200 mm (every 400 mm).
stainless steel bracket, galvanised steel nuts and bolts. -
BT complete with 1 M8x16 DIN7984 screw and 1 M8

square nut with spring to fasten to the profile groove. ’
Standard pack: 3 pieces. B

Combinations | M

Support duct

Part. 2650 Pé.'IGSE

BD)DIBD)D) HI% | DDE

pitch 400
C > 1200

690924 AISI304 stainless steel 160

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ 169

™~

| D)B)D)4

~
]
2
&»

AN




2969 =» Cable holder chain kit
A )9 L]

Use: for the safe passage of electric cables along the linear
guide with a side or double carriage (carriage side).
[T chain links in glass fibre reinforced technopolymer;
galvanised steel couplings; stainless steel brackets; galvanised
steel nuts and bolts.

State of supply: cable holder chain of required length; 2
plates (to fasten the chain to the brackets) with 8 screws to
fasten the chain; 1 bracket (to fasten to the carriage) and
1 bracket (o fasten to the guide) with 6 M8x16 DIN7984
screws and 6 M8 square nuts with spring.

Standard pack: 1 piece.

- deformation resistance: 190 N/mm2.

- deformation module: 10000 N/mm2. BE =2 .
- expansion of rupture: 5%. AN "Nod
- impact resistance: 45 KJ/m. Pg.173  Pg.172

- coefficient of friction: 0,3. .

fastening bracket

to carriage

constant temperature range between

-30° and 120° 3%31
SELF-SUPPORTING Sl 85
cable weight ey
max 5 Kg/m S N

(o [l sy,

. < > chain fastening
pitch P = 50 mm =) .
(20 elements =1 m) 7 aouPngvgs on brackets

[ 1 EHEL!
ST (o MO e
‘5% C (carriage travl;l)
159

fastening bracket @ rmm"ﬁ
95 [T *— |

to gudide

Formula to determine the length of the chain IR E¥ AL EYPF SN

n=LJP (rounded to the next whole number).

once the length of the chain is determined, as pitch is P=50 mm, the chain is provided with a number
of links that rounds up, the value calculated using the above formula. If for example, a chain length of
L=1025 mm corresponding to 20.5 links is calculated, the chain will be supplied with 21 corresponding to
a length of L=1050.

170 7‘ fTTE www.befisistemi.com  Tel.+39.0522.635111



T

[/ D

Cable holder chain kit ¥ 2969
with lohg support

Stock

L 230 0.3
L 1000 1000 730 0.6
L 1500 1500 1230 0.9
L 2000 2000 1730 1.2
L 2500 2500 2230 1.5
L 3000 3000 2730 1.8

[EETRAAL and C on request.
B M ATIG aIak minimum order: 1 piece, delivery in 15 days.
To order other customised measurements, use the order code shown below:

Order code

m L —=> length L in mm

Guide to choosing supports for cable holder chain

Support bracket

Part. 2936 Pé.76 BE

/410 0] D)D) DIDBD)E

C =800 + 1200

Support duct

Part. 4151 Pé.77 BE

o

2] ) ) ) )

ool

pitch 400 T
c

> 1200

Example of cable gland chain with length L = 4000
L 4000

Fitting examples

=> on DOUBLE
carriage

=> on SIDE carriage
(carriage side)

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ 171



4151 Support [[/di .
for cable holder chain

Use: as a support for cable holder chains Part. 2969 on guides whose
travel exceeds 800 mm, to be fastened at the end of the guide (opposite
side to the chain coupling).

[T stainless steel duct and bracket, galvanised steel nuts and
bolts.

ST 1 bracket and 1 support steel plate, 1 M8x16 DIN7984
screw and 1 M8 square nut with spring to fasten to the profile groove, 2
screws to fasten the steel plate to the bracket.

Standard pack: 1 piece.

[Combinations | -JE=N

Y

3] 3 ) ) ) ) ) ) ) )

C =800 + 1200 ‘ —
Support bracket
Part. 2936 Pé.173E '

pitch400 T

L on request (max 3000)

C > 1200
L] 3
1%}
L 0350 350 AISI304 stainless steel 740 .

B S ATIG Ik minimum order: 1 piece, delivery in 10 days.

172 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111



support J[ddEi . . 2936
for cable holder chain

Use: as support for cable holder chains Part. 2969 on guides whose
travel is less than 800 mm, or together with the to support duct Part.

4151 on guides whose travel exceeds 1200 mm (every 400 mm).
JEITIAlIN stainless steel bracket, galvanised steel nuts and bolts. = .
[State of suppy —

A complete with 1 M8x16 DIN7984 screw and 1 M8
square nut with spring to fasten to the profile groove.
Standard pack: 3 pieces.

Support duct
Part. 4151 Pé.17ZE
== == =] { [ee)I=]=)
pitch 400
C> 1200
I 3
| code 2
620498 AISI304 stainless steel 275

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬁ 173



CABLE PROTECTION
CHAIN KIT
»=Pg.166

WITH UPPER :
CARRIAGE

¥ Pg.180

HEAD DRIVE
UNIT

¥=Pg.177

HEAD DRIVE
UNIT
L

WITH SIDE
CARRIAGE
s



Components for

DIY construction of
I, motor-driven

020 linear guides

90x90 Beam

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett gistemi re ardinﬁ a specific characteristic of the
component or its suitability for a specific use. The data provideg not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.

shal




L]
90x90 Motor-driven @12 linear guides

8990L  90x90 [:JZ7I71]

Use: grooved profile support, which provides guide rigidity, with a
compartment for the belt to pass through. The grooves allow the
guide to be anchored to the structure and the end-stops, sensors,
etc. to be applied.

aluminium.

Characteristics:

4 open sides

hollow inside

bending moment of inertia: ly =167 cm* [ 1z =167 cm*

torsion moment of inertia: 48,3 cm*

Standard pack: 6 bars.

Order L Finish Weight § €
(%]
688833 6x3m anodised 28,8 v
685722 b6xbm anodised 28,8 v
L on request (max 6000 mm). ]

O [ A Yk minimum order: 1 bar, delivery in 10 days.

176 VAETTIE vvbetsisemicom Tl439.0522635111




L]
I 90x90 I\/lotor-dnven @12 linear guides
. l- ROBO ||

= Head 2526
for 73X shaft

Use: to motorise the linear guide.

ST BT head complete with 4 M8X20 UNI 5933 (1SO 10642)
screws and 2 M8 rectangular nuts to fasten to the beam.
aluminium head, steel pulley, galvanised steel nuts and
bolts.

Technical characteristics: 1 turn of pulley = 200 mm.

Standard pack: 1 piece.

@44 1"

50

od1

'
»r
|
I

130

90
105

225

F od "7 15
12 mm depth
(on both sides)

130

o 80
o3
"L ©

Order Compatible Compatible Finish  Weight

gearmotor belt
674154 25 90 4xM8 Bonf.MVF/49 692082 (AT 10/50) anodised 4.0

Ll Stock

B AR ek minimum order: 1 piece, delivery in 10 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 177




L]
90x90 Motor-driven @12 linear guides

2527 |[EG unit

with eccentric wheel
Use: applied on the opposite side of the head drive unit, it allows
the belt to return.

ST T head complete with 2 M8X20 UNI 5933 (1SO 10642)
screws and 2 M8 rectangular nuts to fasten to the beam.

aluminium head, galvanised steel screws.
Standard pack: 1 piece.

A |
¥ 3
| —
I 0
<Q } = 2 8
\ 0
© | © b
Y 1 ‘ v Y vy [~ _v
0
N\ 15 le 130 N
Order Compatible belt Finish Weight § €
code Kg [ piece
674164 692082 (AT 10/50) anodised 3.7 .

O e ATG el minimum order: 1 piece, delivery in 10 days.

178 VAETT! wwwbetsisteri.com Tel+39.0522.635111




Belt for motor-drive 1964
guide

Use: to motorise the linear guide.

polyurethane with reinforced steel cables.
Maintenance: it is advisable to replace the belt every 3
years (when applied to linear guides).

Characteristics: temperature limits: from -5° to +70°C;
hardness characteristics: 92 shore A.

Standard pack: 20 m roll. f

APPLICATION ON SIDE AND UPPER
SINGLE CARRIAGE

A pitch P Max voltage

tock

w
692082 50 10 8050 ar1o/50 o028 [
O e aG aas, minimum order: 5 m, delivery in 10 days.

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬂ 179




LGAG = [e1i) Double guide

with carriage

Use: simple and safe system to be used
when the guide is to remain fixed and
the roller-holder carriage made to slide or
when the carriage is fixed and the guide
is made to slide.

AT 6 sliding shafts in hard-
ened, chrome-plated and ground steel
or hardened and ground AlSI 431 stain-
less steel; anodised aluminium profile
and carriage, steel rollers.

Standard pack: 1 piece.

axial load
«| T
(\iJ A, L [ } ¢0} ]
— ] w| I==am== I Zi
T ; “
5 L t L (max 6000)
0o
ved i —
grooves . radial Ioadel <
) O Pé.46 E S > @ 4@ ?
A
P - @ ©- ~
o fastew to — Y < <
holes to fr= 0 3 e
S e
B1 B2 B1
e c=LB ;LBJ¢

ypeof dl A B H Al A2 B1 B2 D E F N CH P O R S A R
roler @ mm mm mm mm mm mm mm mm wench mm mm wench mm mm mm mm N N
416 20 275300 25 40 195 40 220125 8 30 61.5 24 65 17 130300 6400 7000
516 20 275300 25 40 195 40 220125 8 30 61.5 24 65 17 130300 17200 84600

180 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111




ROBO [in®

oW

[€#1i) Double guide Y LGAG

with carriage

Typeof A ) H L §
5
275 300 25 800 steel 11.2
A1 500 416 275 300 25 1500 steel 18.8 .

a minimum order: 1 piece, delivery in 10 days.
BRI additional working (drilling/threading) on the carriage: 5 additional delivery days, price to follow.
To order other customised measurements, use the order code shown below:

Order code Ordering example
m:.:% Length L in mm (max 6000,
g ( ) erXel4146f1 250
Steel sliding shafts = A (_)rdering 'example for 416-type
Stainless steel sliding shafts =1 linear guide, length L = 1250

mm, with steel shafts.

Type of roller  Pg.46 S

FITTING RECOMMENDATIONS

A thin groove in the centre of the profile indicates the axis where to drill for it to be anchored to the
structure (it is recommended to drill every 500 mm; use M10 screws).

UPPER SIDE
CARRIAGE LH CARRIAGE RH
i = HE- Plate with
i clam
Cod.630337
Clamp ) )
Cod.630347 Guide with
aneee Guide with
carriage
LGA

Fax.+39.0522.635222  bsistemi@beltsistemi.com forrﬂ 181






Components for
DIY construction
of manually driven
linear tables

Pre-assembled linear table kit

WARNINGS

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi re; ordinﬁ a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components.. All information is
based on the data available at the time of publisfﬂng and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




TL  Pre-assembled D10 linear
1177 "4 ' dwith manual drive

Use: precise positioning and adjustment of
manually driven work units with high loads. 10
ITZZA N chrome-plated, hardened and ground @Mi,ples
Cf53 steel sliding shafts (on request, AISI431
stainless steel) on anodised aluminium profile;
anodised aluminium head with polyethylene
caps and galvanised steel screws; anodised
aluminium carriage with polyamide runners
(or steel rollers) and galvanised steel plates and
nuts and bolts; burnished leaded high speed
steel screw with trapeze thread.

Standard pack: 1 piece.
Technical characteristics B iglRUJ(

screw, pitch 4 (1 turn = 4 linear mm).

[Combinations |3

Pg.& qu. 94
Pg.196 %.4

44 ~ L=guide length LC=carriage length C=carriage travel
N © LU=carriage width
j /r o Q _
<
© 8
i °@ ©° O © ©
12
W 26 LC C=L-LC
Holes for revolution counter LG (max 2000)
cewtnwg ©
W~
<~ N
o © T
SRS 8 °
== ——] ©
S SR 1
o
2ol P S 20
N

184 7‘ ETTE wwwibeltsistemi.com  Tel.+39.0522.635111



TL

QUANTITY DISCOUNT
Piees
R - [5% [157%]on request

P SPIUIA 0125
P SPIIJA 0150

125
150

25 1500 1090 1090 30 20 20 2.58 429,27
100 50 1500 1090 1090 30 20 20 2.69 430,47
100 75 1500 1090 1090 30 20 20 2.80 431,77
100 100 1500 1090 1090 30 20 20 2.91 432,86
100 125 1500 1090 1090 30 20 20 3.02 434,06

I P LPIMA 0125 125 100 25 1500 1090 1090 30 20 20 2.63 409,14
I P LA 0150 150 100 50 150010901090 30 20 20 2.74 410,34
WP LPIJA 0175 175 100 75 1500 1090 1090 30 20 20 2.85 411,54
100 100 1500 1090 1090 30 20 20 2.96 412,73
100 125 1500 1090 1090 30 20 20 3.07 413,93

0125 125 100 25 1500 900 900 40 45 80 2.64 487,62
0150 150 100 50 1500 900 900 40 45 80 2.75 488,82
0175 175 100 75 1500 900 900 40 45 80 2.86 490,02
0200 200 100 100 1500 900 900 40 45 80 2.97 491,21
0225 225 100 1251500 900 900 40 45 80 3.08 491,41

grooves
0125 125 100 25 1500 900 900 40 45 80 2.69 467,49

0150 150 100 50 1500 900 900 40 45 80 2.80 468,69
TL D]O A 0175 175 100 75 1500 900 900 40 45 80 2.91 469,89
0200 200 100 100 1500 200 900 40 45 80 3.02 471,08
0225 225 100 125 1500 900 900 40 45 80 3.13 472,28
L, LC and C; stainless steel rollers and sliding shafts.

[ = | minimum order: 1 piece, delivery in 15 days.
To order other customised measurements, use the order code shown below:
Order code Ordering example

———=> Length L in mm (max 2000) _
Steel guide = A - Stainless steel guide =1 i ED] OEE
With end-stop sensors set-up = C Ordering example for table
Without end-stop sensors set-up = D with @10 steel shafts, carriage
Carriage with grooves = S - Carriage without grooves = L with runners, without grooves
Carriage with runners = P - Carriage with rollers =R and length L =250 mm.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬁ 185




I
Manually driven linear tables

Guide to DIY construction

CARRIAGES
B Pg.190-Pg. 191

HEAD
drive side

HEAD

opposite side
§ BEPg.189
g
GUIDE
BEPg.187
SCREW
BT Pg.192
Dee=]
LG-LC

DD] - -
LC
REVOLUTION
COUNTER LG

+ ADAPTER

BEPg.193 L=guide length

LC=carriage length
C=carriage travel

HANDWHEEL
BEPg.194

186 VAETT! wwwbeisisteri.com Tel+39.0522.635111



—
Manually driven linear tables

Double guide LGOF

set-up for end-stop sensors

Use: the guide is ready for installation; it only needs to be drilled to
be fastened to the structure using the relative indent in the centre of
the profile. It does not require lubrication or further maintenance.
ground, hardened and chrome-plated (on request AlSI431
stainless steel) Cf53 sliding shafts, anodised aluminium profile.
Standard pack: 1 piece.
Characteristics:

parallelism tolerance of the steel bars: 0.03 mm/m

tolerance on cut: +1 mm.

. - !
Pg.1 Pg. Pg.190 Pg.191 *Pg.95

End-stop sensors
¥EPg.96
o
) N QUANTITY DISCOUNT
LG (max 2000) t Pices

Order LG Material
of guides
LGOF D10g
LGOF D10ORa
LGOF D10g

LGOF D10g:

B e AG s minimum order: 1 piece, delivery in 5 days.
To order other customised measurements, use the order code shown below:
Order code Ordering example

ésteel slﬁzrgtz /l; in mm (max 2000) LGOF D1 OEE

Stainless steel shafts = | Ordering example for guide with
With end-stop sensors set-up = C @10 steel shafts and length
Without end-stop sensors set-up = D L=250 mm

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 187



I
Manually driven linear tables

4130 Head

drive side

Use: handwheel driven double guide linear tables control side
closing head.

anodised aluminium head, polyethylene caps, galvanised
steel screws, brass anti-friction washer.
Standard pack: 1 piece.

|Combinations |3

Tei0b e
Pg.187 % Pg.193  Pg.194 Pg.196

%

®s

Holes for bracket fitting
44
2135 34 Holes for revolution counter
@85 o centring
, \
| o =
J N wé | Q
© ! ! '
g ! @ = ; ! <
U R I
I T s
| ~ [
i ©- @1 |
- [ L

Y
Hole for trapeze M6x30 Socket head screws

screw support to fasten the gulde
100
9 82 9
4 D), ©
© 1
D)i D =
T ¢ J] :
Order Finish
code
691017 anodised

Weight Ag, €

278 Gl 43,00

O T AR ETak minimum order: 1 piece, delivery in 20 days.

188 VAETTIE vvbetsisemicom Tl439.0522635111



—
Manually driven linear tables

Head 4131

opposite side

Use: handwheel driven double guide linear tables control opposite
side closing head.

anodised aluminium head, polyethylene caps, galvanised
steel screws, brass anti-friction washer.

Standard pack: 1 piece.
B . @

Pg.187 Pg.192

M8x20 Socket head screws for frictlon
and to block the trapeze screw tail

@ ' 1 |
Ll ~=T cap
AN
! 3
of u&A
” : — }
ms|__|
M6X30 Socket head scre m8 SD“‘“W
100 to fasten the guide head scre
for Lineay
9 82 9 Dote
— : fastening
N T
DL ©® Q@ -
2 &
QUANTITY DISCOUNT
Pieces
Discounts
Order Finish Weight
code
691027 anodised

O AR Eak minimum order: 1 piece, delivery in 20 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 189




I
Manually driven linear tables

4134 [0 carriage

Use: to fasten components that are to be moved on handwheel driven
double guide linear tables.

anodised aluminium carriage, polyamide runners,
galvanised steel plates and nuts and bolts.

Standard pack: 1 piece.

[Combinations 1S [ ]

Pg.187 Pg.192

27.5, : 45 ‘
‘ ‘
9B
100
O
|
at for ww 100
S%“Sé‘w"wej grub 243 ‘
SCrews = j
8
° (j i
8 © :
LK 5 o
4
Whde/carriage
ara
;L;J;stvvwm sorews
@u.'w\e cliding QUANTITY DISCOUNT

YUWWEYS

Version

Pieces
Discouns -

Finish Weight

691167 100 with grooves anodised

691177 100 without grooves anodised 1610 144,62

B [ AR Xak minimum order: 1 piece, delivery in 20 days.

190 VAETTIE vvbetsisemicom Tl439.0522635111



I
Manually driven linear tables

=TT carriage 4135

Use: to fasten components that are to be moved on handwheel driven
double guide linear tables.

anodised aluminium carriage, steel rollers.
Standard pack: 1 piece.

[Combinations | S @

Pg.187 Pg.192

45__45__45_ ©
85 | 243 ‘ N
=Nl

O

i max load = 40 Kg

L3 &
L]
.9 o
Y
) 135
2 o~
() g
(&) ) —
— t
_ _ seat for W
( ( fastening
N N grub 29, 243
SCrews ] I8
o3 Q{W @
)
guide
sliding
yollers

QUANTITY DISCOUNT
Piees
Discounts

691227 100 with grooves anodised 223,10
691237 100 without grooves anodised 1670 202,97

B M ATIG ek minimum order: 1 piece, delivery in 20 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 191




I
Manually driven linear tables

4132 Trapeze T4
with threaded nut

Use: for the carriage to be driven by the handwheel.

[MITZZEN burnished leaded high speed steel with trapeze thread.

Characteristics: permissible axial load = 3.9 kN.

Standard pack: 1 piece.

= % @ ’
Pg.1 l;g.1 Pé. 90  Pg.191
Pé‘{% qu. 94 Pg! 5  Pg.196

1 A
ats for drive A )
14,5 = asfcvvw\'@ gru tail
6 SOvew nandwheel
and counter

seat for carviage

drive aw
stening
fa QUANTITY DISCOUNT
drive side Pieces

oo AP

Order Weight [ €
617548 4 Burnished
617558 16 4 214 Burnished 250 N 72,85
617568 16 4 239 Burnished 280 N 73,25
617578 16 4 264 Burnished 310 LN 73,65
617588 16 4 289 Burnished 340 Ll 74,05

L on request (max 2064) .
O T AR Eak minimum order: 1 piece, delivery in 20 days.

192 VAETTIE vvbetsisemicom Tl439.0522635111




—
Manually driven linear tables

Revolution counter 4136

Use: numerical reading indicator of movements on the linear table.

RAL7035 grey technopolymer casing, burnished steel
adapter pin, RAL9006 painted aluminium fastening flange, galva-
nised steel nuts and bolts, black polyurethane gasket.
Characteristics: increasing values with clockwise rotation;

pitch 4 (1 handwheel turn = 004 on counter = 4 linear mm).

Standard pack: 1 piece.

[ Combinations |5
08 ©
Pg.18 ﬁg Pg.194 | Pg-195 | Pg.196

33 31

‘ ‘_A, UNI 6604-
— ‘ 2x2x12
|- seat for tab
0 W2z
< < IR SN | ANNNNNNNNN §
-|o =| R
B S
i 14| 9
= 8
RIGHT-SIDE WRONG-SIDE
Counter Counter

Counter

691107 RIGHT-SIDE 4
691117 WRONG-SIDE 4 8 8 725 KA 3935

Fax.+39.0522.635222  bsistemi@beltsistemi.com y‘frrﬁ 193




I
Manually driven linear tables

1897 Handwheel
with LI grip

Use: to manually drive the linear table. The folding grip reduces the
dimensions and the risk of movements caused by accidental impact.

black reinforced polyamide, RAL1006 yellow reinforced
polyamide cover, galvanised steel insert, burnished steel UNI 5927
(1SO 4027) grub screw.

Standard pack: 1 piece.

cover in RAL colour on request, in adequate

quantities.
LS
Pg.193
R
D
/f > ~
/
’
, /
T ,/

-
AR o ©
Ccustomisable RAL ‘d1 S
d2
d3

drive and fastening grub screw

QUANTITY DISCOUNT
Pieces

Discounts

S

%) g mm mm mm mm mm
697983 8H7 20 28 100 37 48 57 10 22 M3x6 164
697973 8H7 20 24 80 28 45 49 10 22 M3x6 138

D TG A minimum order: 20 pieces, delivery in 15 days.

194 7‘ fTTE wwwibeltsistemi.com  Tel.+39.0522.635111




—
Manually driven linear tables

Embossed knob 1983
with ¢ grip

Use: to manually drive the linear table. The embossed knob allows

a secure and comfortable grip for greater sensitivity in precision
adjustments; the grip speeds-up rotation for adjustments requiring
several turns.

[MIAZTN black polypropylene knob, black polyamide grip, brass insert,
burnished steel UNI 5925 (ISO 4028) grub screw.

Standard pack: 1 piece.
=

Pg.193

I
- ST
! N |
AN ol
d2
d3 S

drive and fastening grub screw

QUANTITY DISCOUNT

(JESTTY Net |on request

Order dl d2 d3 D R L H G h S Weight €

658823 6H? 14 20 50 17 25 19 5 19 M3x8 75

11,24
691277 8H9 17 23 60 22 29 23 5 22 M3x8 75 17,46

B Y TG T minimum order: 10 pieces, delivery in 20 days.
Alternatively, we recommend using handwheel 1897 in stock.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 195




4148 Knob

Use: to manually drive the linear table with light loads.

black anodised aluminium, RAL1006 yellow reinforced
polyamide cover, galvanised steel insert, burnished steel grub screw.
Standard pack: 1 piece.

|Combinations |

Pg.193

@19 _, g e

{astewuwa

D
grud serew ®
ow P

r \
|
o "% -
N N
= = ©
f i)
revolutionw a1
counker ring d2 S

wit fastCVbW\f@ ol fustew'W@ grulb
@w,dl) screw <covew seat ow

: revolutiow
seat o P counter ring Wi

‘ QUANTITY DISCOUNT

Positioner d1 d2 d3 D L G1 G2 hl
combinations @ @ @ @ mm mm mm mm mm

692067 218,220 6H7 197 31 32 23 28 11 58 17 M3x4 40
691737 230 8H7 19.7 31 32 23 2.8 11 58 17 M3x4 40 B4

196 7‘ frrﬁ www.befisistemi.com  Tel.+39.0522.635111




ISETTIR
X d B

COMPONENTS

Have yon
goJr All Hhe






Components for DIY
construction of linear

tables with columns
925 Columns.

Sliding
columns

Metric and trapeze screws, (f
with threaded nut o,

Sliding bushings

The information contained in this catalogue is exclusively meant for component description purposes and
shall not be understood as a statement made by Bett Sistemi regarding a specific characteristic of the
component or its suitability for a specific use. The data provideg shall not relieve the customers
from their responsibilities of luating, checking and using the components. All information is
based on the data available at the time of publishing and is not binding. Bett Sistemi shall not be held liable
for any incomplete or wrong information, and for any damage which may arise in connection with such
information. The products may be modified at any time without prior notice, we therefore recommend
that you always check the product updates at the website www.bettsistemi.com.




|
Linear tables with columns

Selecl:on uide:
with B« (71771 Jwith recirculating balls

with PP I TS END HEAD

COLUMNS
Part.2556 B pg.201

020 COLUMNS
Part.3858 B pg.205

CARRIAGE FOR 2 COLUMNS
Part.2557 gs pg.202

DRIVE

HEAD FOR 2
COLUMNS METRIC SCREVV Part.3856 B pg.214

Part.2556 B pg.201 TRAPEZE SCREW Part.3855 B pg.216

with
[, A1 @16 column

020 COLUMNS
Part.3858 Epg.ZO

END HEAD

FOR 3

COLUMNS
Part.2560 85 pg.203

@16 COLUMN
Part.3858 g pg.205

CARRIAGE FOR 3 COLUMNS
Part.2561 B pg.204

DRIVE

HEAD FOR 3

COLUMNS METRIC SCREW Part.3856 B= pg.214
Part.2560 Bs pg.203 TRAPEZE SCREW Part.3855 B pg.216

200 7‘ £TT www.belisistemi.com  Tel.+39.0522.635111



Head for 2 /71, columns 2556

Use: as an end head of linear guides for 2 @20 columns with
carriage/columns contact by means of recirculating ball bushings.
NIZTAN anodised black aluminium head, 2 anodised black
aluminium reduction bushings, 2 burnished steel washers, 2 UNI
5931 (ISO 4017) M8x50 galvanised steel screws, 1 brass screw support
bushing, 1 galvanised steel self-locking ring nut,

2 black polyamide end caps.

Standard pack: 1 piece.

T EL LB

OUTER SIPE NER SIDE
o O ol
©| K| ©

Woles for
\/Dl,l/tti«DV\/ couwkter 107
ve tring Spotifacing for
oerr Auctlonw , screwNBUNISS
e e noles for,
bushind bracket fitting
SCYews
(=]
H T
=
q PRIVE HEAP
N
—— END HEAD
145
QUANTITY DISCOUNT
GEE 1+ | 2+ | 4+ 8+

Discoums-

on request

[ TOier T 1 Version | 3

S

| code 1%}
689174 65 drive  Recirculating bushings  High Low 1,69 180,00
650478 65 end  Recirculating bushings  High Low 1,69 180,00

LT= other measurements on request P2TABE . RN ANATIGEIak minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ 201



2557  Carriage for 2 [/710
columns

Use: to fasten and slide on @20 columns (by means of recirculating
ball bushings).

MPATLN anodised black aluminium carriage, 2 hardened and
ground steel recirculating ball bushings, 1 threaded nut (see table),
6 black polyamide drilled end caps.

Standard pack: 1 piece.

Combinations | S8 ; ;
N
Pg-203

107

XN

>

35

RS

. rechrenlating
'p' ball
N % | bushings
= 4 s _part.2652
8| P20 Part.2570 M3 UNISO31 o4 & [Z]e=pg.218

[(Z)#=pg.217
M20 Part.3153
[Z)#=pg.215

oF

oy bracket
V\%kgbi@ SCYEWS

o
<

= 45 =

CARRIAGE

QUANTITY DISCOUNT
Discoums- 5% |10% |on request
~
S
&
689204 70 TP20  Recirculating bushings  High Low 1,82 220,00
650528 70 M20  Recirculating bushings  High Low 1,80 220,00

LC= other measurements on request P21 AL eI AAGTIak minimum order: 1 piece, delivery in 15 days.

202 7‘ frrﬁ www.belisistemi.com  Tel.+39.0522.635111



Head for 3 ["PIJi[Z columns 2560

Use: as an end head of linear guides for 3 columns with carriage/
columns contact by means of recirculating ball bushings.
[Tl anodised black aluminium head, 3 anodised black
aluminium reduction bushings, 3 burnished steel washers, 3 UNI
5931 (ISO 4017) M8x50 galvanised steel screws, 1 brass screw support
bushing, 1 galvanised steel self-locking ring nut,

2 black polyamide end caps.

Standard pack: 1 piece.

T RLL S

OUTER SIPE INNER SIPE
- Spot-facing for
_ screw M8 UNI5931
(=]
©
(=]
el
Woles for ‘
ve\/omttt.ow reduction
couwter bushings noles fov,
centring pracket LeeLng
2 1 SCYEWS
- J
© 53,5

DRIVE HEAP
END HEAP

QUANTITY DISCOUNT
Piees
Discoums- 5% |10%

Stock

689234 65 drive  Recirculating bushings  High Low 1,81 220,00
650538 65 end  Recirculating bushings  High Low 1,81 220,00
LT= other measurements on request PE2TIBE minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ 203




2561 Carriage for 3 [72)il5
columns IS T LR

Use: to connect and slide on 20/@16 columns by means of
recirculating ball bushings.

MPATLN anodised black aluminium carriage, 3 hardened and
ground steel recirculating ball bushings, 1 threaded nut (see table),
6 black polyamide drilled end caps.

Standard pack: 1 piece.

Combinations | S8 ; ;
N
Pg-203

107

A A LR,

POARRIAXRNAR
—————

bushings
Part.2652
[Z ®=pg.218

TP20 Part.2570
~ for screw
BEpg.217 M8 UNI5931
M20 Part.3153
[Z)e=pg.215

v bracket
M%t@ffa SOYEWS

QUANTITY DISCOUNT

Piees

Discoun's- 5% | 10% |on request

Stock

689264 70 TP20  Recirculating bushings  High Low 1,87 260,00
650558 70 M20  Recirculating bushings  High Low 1,85 260,00

LC= other measurements on request P21 AL eI AAGTIak minimum order: 1 piece, delivery in 15 days.

204 7‘ frrﬁ wwwibeltsistemi.com  Tel.+39.0522.635111




|
Linear tables with columns

_ Lo es WIth colmne
== Sliding column [Z0AE 3858

round EI{[Til=Ts| chrome-plated ground

Use: for the carriage to slide, suitable for recirculating ball
bearing.

hardened Cf53 steel (60-65 HRC).
Characteristics: hardening depth: from 1 to 2.5 mm;
chrome-plating depth 15 pm (950-1100 HV);

straightness: 0.5/1000 mm.

roughness: <0,02 ym

Standard pack: 1 piece.

L g

LG
30
B —————F :
¥ {/
© ,
= threadind A
to fastew Q
on head
16 L
5 LT 5 C=L-(LT*2)-LC-30 5 LC 10 LT 5
[1
i YWY VRS 720
| QT
! ' b =016
21 LG 21
LV=L+12 QUANTITY DISCOUNT
L=table lenght LT=heads lenght LC=carriage lenght
C=carriaqge travel LV=screw lenaht LG=columns lenaht
Order LA Finish

g
651198 20 hé 410 hardened  chrome-plated  ground 500
651208 16 hé 410 hardened  chrome-plated  ground 400
L = cut to measure on request
minimum order: 1 piece, delivery in 15 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 205




|
Linear tables with columns

Se_lectiom guide:
Z \with [775 columns ST
with END HEAD

FOR 2 COLUMNS
Part.2554 B= pg.207

@25 COLUMNS
Part.3859 ¥ pg.211

CARRIAGE FOR 2 COLUMNS
Part.4214 v pg.208

DRIVE
HEAD FOR 2
COLUMNS

Part.2554 B pg.207

714143 925 columns

025 COLUMNS
Part.3859 ¥ pg.211

METRIC SCREWV Part.3856 B pg.214
TRAPEZE SCREW Part.3855 0 pg.216

END HEAD
FOR 3 COLUMNS
Part.2558 B pg.209

CARRIAGE FOR 3 COLUMNS
Part.4215 #£'pg.210

DRIVE
HEAD FOR 3

COLUMNS METRIC SCREW Part.3856 8= pg.214
Part.2558 B pg.209 TRAPEZE SCREW Part.3855 B pg.216

206 7‘ £TT www.belisistemi.com  Tel.+39.0522.635111



Head for 2 /7% columns 2554

Use: as an end head of linear guides for 2 @25 columns with
carriage/columns contact by means of sliding bushings.

NIZTAN anodised black aluminium head, 2 anodised black
aluminium reduction bushings, 2 burnished steel washers, 2 UNI
5931 (ISO 4017) M8x50 galvanised steel screws, 1 brass screw support
bushing, 1 galvanised steel self-locking ring nut,

2 black polyamide end caps.

TN ELL S

OUTER SIPE INNER SIPE
o O w0
©| N <
\
45
N holes for 107 |
revolutiow, Spotfacing
counter centrtng reduction screw M3 UNISG31
S
bushing noles for.
pracket frtnd
Screws
(=]
H ¥
il
&
— DRIVE HEAD
145 EeND HEAP
QUANTITY DISCOUNT
Pieces 2+ | 4+ 8+
Discounls- 5% |10% | on request
[[Oder 1 Version | 3
[%]
2
1%}
689154 65 drive Sliding bushings Average Average 1,69 180,00
650488 65 end Sliding bushings Average Average 1,69 180,00

LT= other measurements on request PE2TABE RN AN ATIGIak minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ 207



4214  Carriage for 2
columns m

Use: to fasten and slide on @25 columns (by means of sliding
bushings).

MPATITN anodised black aluminium carriage, 4 steel sliding
bushings in electrochemically treated tin-coated steel and anti-
friction coating, 1 threaded nut (see table), 2 black polyamide
drilled end caps.

Standard pack: 1 piece.

Trr gLl

i i
| | j
‘5@ sliding
3 () 6) bushinds
= Part.2651
| TP20 Part.2570 for screw 7 ®¥Epg.219
0’ [z wepg.217 M8 UNI5931 %ﬂ/ fom AL
1120 Part.3153 /@‘
[z ¥spg.215 noles E
vacket {v tt“’“@
/ SCYEWS
= 51 =
40
1 ] CA\?_R!AQE
SHPS
25 Q] 9
o
a2 oo )
o) fol
! T Cl) QUANTITY DISCOUNT

145 Pieces -

Dm:oun's- 5% |10% |on request

;

689184 70 TP20 Sliding bushings Average Average 1,76 200,00
650928 70 M20 Sliding bushings  Average Average 1,74 200,00

LC= other measurements on request [ MIESEATIETTEY minimum order: 1 piece, delivery in 15 days.

208 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111




Head for 3 columns 2558

Use: as an end head of linear guides for 3 columns with carriage/
columns contact by means of sliding bushings.

TGN anodised black aluminium head, 2 anodised black
aluminium reduction bushings, 3 burnished steel washers, 3 UNI
5931 (ISO 4017) M8x50 galvanised steel screws, 1 brass screw support
bushing, 1 galvanised steel self-locking ring nut,

2 black polyamide end caps.

Standard pack: 1 piece.

TR gL LB

DMTET?-S(DE ‘NNER-S‘DE

screw M8 UNIS931

35

S v %
AR
N
Woles for | 107
revolutrow YepluotLDV“
W Y
centring o CorewS
N
1 Y, = J
35 o 53,5
&S
= HEAL
H ¥ DRIVE
= H
|
5[ QUANTITY DISCOUNT

(CE—— 17 Pieces 8+
145 Discoums- 5%

Stock

689214 65 drive Sliding bushings Average Average 1,81 200,00
650918 65 end Sliding bushings Average Average 1,81 200,00
LT= other measurements on request P2TABE minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ 209




4215  Carriage for 3
columns mmm

Use: to connect and slide on @25 columns by means of sliding
bushings.

PATLN anodised black aluminium carriage, 6 steel sliding
bushings in electrochemically treated tin-coated steel and anti-
friction coating, 1 threaded nut (see table), 2 black polyamide
drilled end caps.

Standard pack: 1 piece.

[Combinations | =3 % g g
107

Te]
™)
sliding
< ( ) ﬁ} bushinds
S Part.2651
~|  TP20 Part.2570 Tor Scraw [Z #pg.219
(Z]®spg.217 M8 UNI5931 Ned O
M20 Part.3153
[Z)e=pg.215 » 2
) holes 10
S pracket TU ’Ct“’”@
SCYEWS
= 45 =

CARRIAGE

LC
LC+10

QUANTITY DISCOUNT

Pieces

Discoun's- 5% | 10% |on request

Stock

689254 70 TP20 Sliding bushings Average Average 1,77 220,00
650948 70 M20 Sliding bushings  Average Average 1,75 220,00

LC= other measurements on request (AR minimum order: 1 piece, delivery in 15 days.

210 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111




|
Linear tables with columns

.-’ — B
Slldmi column 3859
[ge]islsBchrome-plated ground

Use: for the carriage to slide, suitable for sliding bearing.
€45 steel.

Characteristics:

chrome-plating depth 15 pm (950-1100 HV);

straightness: 0.5/1000 mm.

roughness: <0,02 pm

Standard pack: 1 piece.

L

LG

30

¢ :

e~

©
= , (]
threadingd B
16 L to fastew
LT 5 C=L-(LT*2)-LC-30 ow head
- TRy ‘ N
LG = 410
™N
LG = 424
21 LG(sup.) 21
28 LG(inf.) 28
LV=L+12 QUANTITY DISCOUNT
L=table lenght LT=heads lenght LC=carriage lenght
C=carriage travel LV=screw lenght LG=columns lenght
Order D LG Finish

651218 25 h7 410 chrome-plated ground
651228 25 h7 424 chrome-plated ground 650
L = cut to measure on request

minimum order: 1 piece, delivery in 15 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 211




|
Linear tables with columns

2443 Extruded profile

for carriages and heads

Use: to construct heads and carriages for guides with 2/3
columns.

aluminium.
Characteristics: moment of inertia Ix: 5.63x106 mm®* - ly: 8.29x106 mm*
Standard pack: 1 piece.

"'?ﬁ %
g

145
) 107 .
18.8
b
i17ane . ANYaL P
[ s W ®
8 227 \ = / 027

QUANTITY DISCOUNT

Profile <
9o
w
650968 65 to be anodised v
650778 75 to be anodised 15 v
654487 500 to be anodised 9,8 %
620897 1000 to be anodised 19,6 B4
620907 2000 to be anodised 39,2 v
673184 3000 to be anodised 58,8 B4
L = cut to measure on request price per cut €3
Subsequent customised works price and delivery to follow

212 VAETTIE vvbetsisemicom Tl439.0522635111



Seats for nuts and bushings

for 20x4 [T nut

A " *
g B ===
- i» 234
/‘/ V4 2 seats for 834 UNI7437 (DIN 472)
/ 1 Seeger rings

244y
2 seats must be made for @34 Seeger rings at the
indicated distance for the axial block; a 4x4x20 tab

must be set in one of the seats of the extruded part for
anti-rotation.

for 20x4 (71722 nut

M8x1.25

2 seats for 40 UNI7437 (DIN 472)
Seeger rings

2 seats must be made for 040 Seeger rings at the indi-
cated distance for the axial block; a seat must be made
for an M8 threaded grub screw for anti-rotation.

for bushings ﬁ

e

MA
X
|

AR\
]
2 seats for 32 /

6

UNI7437 (DIN 472)
Seeger rings

-4
277,
2 seats for o

26
UNI7437 (DIN 472)
Seeger rings

(*) only for
the 3-column
version

The side pre-holes must be made in the extruded part as shown
in the diagram, to create the housing of the recirculating ball
bushings for the guides with 2 and 3 820 and 016 columns.

A hole must be made at the base of the extruded part in the
version with 3 columns. The seats must be made for the Seeger
rings at the indicated distances for the axial block.

for BT, bushings

e

N

228

AN
e

(1

(*) only for
the 3-column
version

1/

The side pre-holes must be made in the extruded
part as shown in the diagram, to create the hous-
ing of the anti-friction bushings for the guides
with 2 and 3 825 columns. A hole must be made
at the base of the extruded part for the version
with 3 columns.

Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ

213



|
Linear tables with columns

3856  [IE74[ screw

Use: for the carriage with 2/3 columns to be driven by the
handwheel.

burnished steel
Standard pack: 1 piece.

!:Tg g%

o fastew and drive

.8 the handwheel
5\
)
‘f:l 0|
SIS
)
S
S drive
side
HANDWHEEL 16 .
B=pg.220 s C=L-(LT"2)-LC-30 Lc T s

e | | I
| =A L=y
] f ]
REVOLUTION 2z LG 2] QUANTITY DISCOUNT
COUNTER Lv=L+12
+ ADAPTER L=table lenght LT=heads lenght  LC=carriage lenght
B pg.221 C=carriage travel ~ LV=screw lenght  LG=columns lenght
Order M Pitch [\ Version Finish Weight § €
g
651148 20 2.5 520 RH burnished 945 [ECH 50,00
LV on request, LH version .

oY e Gee s minimum order: 1 piece, delivery in 15 days.

214 7‘ fTTE wwwibeltsistemi.com  Tel.+39.0522.635111




,ﬂ. Linear tables with columns
1| roBO |in!

o Threaded nut 3153
for [[I=14ls screw

Use: for the carriage of the guides with 2/3 columns to be driven by
the handwheel.

brass with metric threading, steel tab.

Characteristics: permissible axial load (in combination with screw
Part.2664) = 2.4 kN.
Standard pack: 1 piece.

[Combinations | )5 .% ;

{ustewLW@
tab

4x4x20
UNI 6604

QUANTITY DISCOUNT

Pitch Version

662906 20
LH version

[y e A ek minimum order: 1 piece, delivery in 15 days.

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 215




|
Linear tables with columns

3855 122 screw

Use: for the carriage with 2/3 columns to be driven by the
handwheel.

burnished leaded high speed steel.
Standard pack: 1 piece.

!_?ﬁg%
b2z

o screw
to agstew and drive
the MadeV\C@L

drive

\_/ stde

16 L
LT 5 C=L{(LT"2)LC-30 Lc e
e AW | I FAS
B - o—Q
i | ]
REVOLUTION J21 LG 211 QUANTITY DISCOUNT
V=L+12
COUNTER :
+ ADAPTER L=table lenght (T=heads lenght  LC=carriage lenght ks
¥ pg.221 Cecarriage travel  LV=screw lenght  LG=columns lenght [ty - | 5% |
Order M Pitch \Y Version Finish ~ Weight Ag €
code %] mm mm g [l piece
651118 20 4 520 RH burnished 945 4 30,00

LV on request, LH version
oY Ma A el minimum order: 1 piece, delivery in 15 days.

216 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111




L
oB— Linear tables with columns

‘7080 |in®’

v Threaded nut 2570
for & 0L screw

Use: for the carriage of the guides with 2/3 columns to be driven by

the handwheel.

burnished leaded high speed steel with trapeze thread,
galvanised steel grub screw.

Characteristics: permissible axial load (in combination with screw

Part.2573) = 3.9 kN.

Standard pack: 1 piece.

|Combinations | ,.’ ;
ka2

{ustevxiv\f@

@yub screw

M8x10 = 0

UNI 5929 b
[

QUANTITY DISCOUNT

Pitch

Version Finish

689534
LH version

burnished

oY e ee s minimum order: 1 piece, delivery in 15 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 217




|
Linear tables with columns

2652 Recirculati&lq‘ ball bushing

for [’¢0i) and columns

Use: guide bushing for @20 and @16 carriages.

[MIATETN bushing with external ring in hardened and ground steel
that contains a plastic cage for the guide of the balls.

Standard pack: 1 piece.

!3@ ‘%

DV\/L@ '(:DV
carytages
h= co@mvwws

wit

Finish

hardened and ground

QUANTITY DISCOUNT

600695 20 hardened and ground

oY e A el minimum order: 1 piece, delivery in 15 days.

218 VAETTIE vvbetsisemicom Tl439.0522635111



z Linear tables with columns

i Sliding bushing 2651
for columns

Use: guide bushings for carriages with 2 and 3 025 columns.

[IAZZtl bushing in electrochemically treated tin-coated steel and
anti-friction coating.

Standard pack: 1 piece.

|Combinations | S @ ,g

o P
s O
e
QUANTITY DISCOUNT
Pices
Discoums-
Order D Finish Weight -“8 €
code (%) g Pl piece
629657 25 electrochemical tincoating 11 4 2,50

Fax+39.0522635222  bsisemi@betsistemicom | §E T T 219



|
Linear tables with columns

1897 Handwheel
with LT grip

Use: to manually drive the linear table. The folding grip reduces the
dimensions and the risk of movements caused by accidental impact.

black reinforced polyamide, RAL1006 yellow reinforced
polyamide cover, galvanised steel insert, burnished steel UNI 5927
(1SO 4027) grub screw.

Standard pack: 1 piece.

cover in RAL colour on request, in adequate
quantities.

|Combinations | )

pg.221

Customisable RAL

drive and fastening grub screw

QUANTITY DISCOUNT

Piees

Discounts /6 | on request

Order di d2 d3 D R L H G h S Weight f‘d €
code Q@ @ @ @ mm mm mm mm mm 9 [l piece
627733 12H7 28 36 125 47 65 68 8 22 M6X10 399 B 3089

B I TG minimum order: 20 pieces, delivery in 15 days.

220 7‘ fTTE www.belisistemi.com  Tel.+39.0522.635111




|
Linear tables with columns

Revolution counter 3857

Use: numerical reading indicator of movements on the linear table.

[MTTZZaT 1M RAL7035 grey technopolymer casing, burnished steel
adapter pin, galvanised steel nuts and bolts.

Characteristics: increasing values with clockwise rotation;

pitch 4 (1 handwheel turn = 0004 on counter = 4 linear mm) suitable for

linear tables with trapeze screw; pitch 2.5 (1 handwheel turn = 0002.5 on

counter = 2.5 linear mm) suitable for linear tables with metric screw.

Standard pack: 1 piece.

48 50

‘ 5 [T 41 Seat for M6
? UNI 5927 (ISO 4027)
rub screw
H_ g
Q| Q| N
8 NS Wz S
aT@?
! 8

WRONG-SIDE
counter

RIGHT-SIDE
counter

QUANTITY DISCOUNT

oy ENEINEETE

Dismums-

Order Counter Pitch Version Weight § €

w
651178 RIGHT-SIDE 4 RH 250 .
651158 RIGHT-SIDE 2.5 RH 250 -
651188 'WRONG-SIDE 4 RH 250 .
651168 WRONG-SIDE 2.5 RH 250 -
LH version. RAL2004 orange or RAL90T1 black casing =

B T AIG 2 minimum order: 1 piece, delivery in 20 days.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬁ 221




|222 7‘ frr www.belisistemi.com  Tel.+39.0522.635111



Fax.+39.0522.635222  bsistemi@bettsistemi.com forrﬂ 223



e Resistance to chemical agents

(4

Bett Sistemi components may be used in contact with chemical substances in normal operating
conditions.

Never use acids with pH < 4, bases with pH > 9, and never expose to chlorinated
hydrocarbons such as trichloroethylene for long periods of time.

The following table specifies the resistance to the various chemical agents of the individual materials.
The concentration and the form of some of these substances may cause different reactions.

| Meend ]

£ ° $ $ g =
. € E 2@ 2 a 2 T g =
Chemical | € -2 @ 8 8 8 |23 @ g
== 3 = = E 425 5! —
agent G E 3 5 5 s | & g o]
= 2 = ] & T = g
25l 21 81| 3 S |28 < | £
cu| 81 2| = R o
< < < < 2
o o o o o o o o
Vinegar - - [ J o ° [ ] [ ° [}
Acelone 50 @ O 5 ® 5 ® 100 ® 100 ® ® 100 ® = o}
Acelic 199 | @ O 20 ® 20 ® 20 ® 20 O o5 0% cinle
acid 20
Boric ° < <
i 100 O 100 100 10 © 100 ® 5 0O ° °
B:'c’lydc 5 e O 5 @@ 5 @ 5 @ 5 @ 10 0 5 @
Gz ° O 5@ 5 @@ 5 ® 5 @ o 10 e
acid
Hyd;"cci:b”“ o o o 0 0 0 © 250 20 ¢ 4 @
Hydroﬂuonc o o o o o o /@
acid
Formicacid =5 O O 5 @ 5 5 5 90
Phosphoric acid 10 O O 10 O 10 O 10 @ 10 O O 5 O 20 O 10
lacticacid 5 @ @|5|10]l5(0]810O)5|8& O 10 @ 0 @
Niticacid 10 @ O 10 ® 10 @ 10 @ 10 & 100 100 20 @
Oleicacid 100 @ O 100 @ 100 @ 100 & 100 @ °

®= good resistance ® = medium resistance O = poor resistance

224 VAETTIE  ~bensistemicomTels39.0522635111




Resistance to chemical agents °

(4

o Maed

o
[°]
[ =
9]
=
O
1%
=
[¢)
[~

O
20 ¢ 5 @
O
10 @
0 @
30 O 10
10
10 @
[ ]

®= good resistance @ = medium resistance O = poor resistance

Laminate

© O @ 3C

©

o Sol.

O
-

100
Sol.
10
Sol.
10

Sol.
10
Sol.
10
Sol.
40
10 O

10
Sol.
10

10 O

100 @

Polypropylene

40

Sat.

Sol.

10

30

40

Sol.

85

Sol.

20

® 0 @ :3C

Sat. @

37 @

70

95

-

Polyethylene HDPE

% 28°C %

Sol.

10

Sat.

Sol.

30

10

Polyurethane

Sol. °

20

Sol.

Sol.

10

65

Sol.

20

Sol.

Sol.

10

O O © 23C

Polyacetal

37

O © @ B¢

Chemical
agent

Vinegar
Acetone

® O 0 :C

Acefic
acid
Boric
acid

Butryc
e acid

Citric

acid

% ® Hydroclhloric
acid

Hydrofluoric
acid

w
[ ]

25 @ Formic acid

® Phosphoric acid
85 @ lactic acid

25 ® Nifric acid

Oleic acid

Fax.+39.0522.635222 bsistemi@betisisemicom | §E T T 225



e Resistance to chemical agents

(4

. Moed

304 stainless steel

£ 8
= @
c el
=
5 [=
) O
x >
5 =
w =
O

AlS| 303 stainless steel
AlSI 316 stainless steel
AIS| 430F stainless steel
Nickel-plated
steel / brass
Adiprene
Shockproof acrylic

% 2°C % 2°C % 2¥C % 2°C % 2°C % 2°C % 2C % 2¥C % 2C % 23°C

Sulphuric acid 10 @ O 10 O 10 O 10 10 O ® 30 O 40
Tartoricacid 10 @ O 10 @ 10 ® 10 « 10 @ (e] ® 5 O

Chlorinated water o o (@) (0] = (0] 5 @ =
Distilled water 10 @ [ [

Fresh water [ ] [ ] [ ] () ° [ ) [} [
Sea water ® o [} [ ] [ ] (0] [ °
Oxygenaied 5 | O30 ® 3 ® 0 @ 30 e O 9
water Vol.
Turpentine [ ] - [ [ ] ° [

Water and soap [ ] [ ] [ ] (] (] [} [}

Alkylphenol
ethoxylate
Ethyl alcohol 10 @ ¢ 10 ® 10 @ 10 @ 10 & ° (e}

Methyl alcohol 100 @ O 100 @ 100 & 100 & 100 @ (] ]
Ammoniac 50 O 50 @ 50 @ 50 @ 5 @ O 100 @ - [}
Aniline 3 e ¢ 3 @ 3 @ 3 & 3 @

Benzene 70 - O 70 @ 70 @ 70 & 70 @ 100 @
Benzene [} O [} o o o e 100 ® [}
Benzol [ (@) [ ° ° ° ® 100 ® (e] (e]

Nonﬂ!ccho\ic ° < ° ° ° ° °
drinks
Beer [} O [} [ ) [ ) ® [ ) [ ) [}
Butter [ ] - [ ] ° [ ] [ [ [
in | 5| & S 5 0 5 0 5 @ 5 @ 2 @ Sat. @
carbonate
Chloroform 100 @ S 100 ® 100 ® 100 ® 100 & ® 100 ® )

®= good resistance ® = medium resistance O = poor resistance

226 7‘ f TTE www.betisistemi.com Tel.+39.0522.635111




Resistance to chemical agents °

(4

| Moeid

2
O
c
9]

o)
2
o
18]

>

oo

Laminate
Polyamide
Polypropylene
Polyethylene PE
Polyethylene HDPE
Polyurethane
Polyacetal

% 2°C % 2°C % 23¥C % 2°C % 23¥C % 2¢C % 23C % 2¥C % 2°C % 2¥C % 23°C
Sol.
0 e o) ﬁ) O sl ® 40 © S O 40 O ®  Sulphuric acid
0 e o %

10

10 @ Sol ® 30 @ ® Tartoric acid
O 03 @ Chlorinted water
Distilled water
Fresh water
Sea water
Oxygenated
water
Turpentine
Water and
soap
Alkylphenol
ethoxylate
Ethyl alcohol
Methy! alcohol
Ammoniac
Aniline
Benzene
Benzene
Benzol

10
Vol.

Sol. Sol.

80

e 60000

O ee e

30

e O 6 000 00
e O © e00C o
cee

[ ]
[ ]
-
O 30
O
[ ]

o

9% @ 96
95
Sol. @ 10

100
10

30 Sol. @ Sol.

C®e@O0000O0
w
0000

100

Non-aleoholic
drinks
[} Beer
Butter

Sol. Sol. Sodium
[ ) .. @
Sat. 10 5 carbonate

©e

Sol.

[ ]
©C 060 0 0000 COO
e 060 o o0
e 60 o ovoe
e 60 o vovoeoe
©
e 060 o 000000

Sat. @ 10

Sol.
100.

(0]
(0]
[}
(0]
©
(0]
(0]
(0]
0]

O Chloroform

®= good resistance @ = medium resistance O = poor resistance

Fax.+39.0522.635222 bsistemi @bettsisterni.com y‘ f TTE 227




e Resistance to chemical agents

(4

| Materd [

Chemical
agent

Anodised aluminium
Elox aluminium
Galvanised steel
AlS| 316 stainless steel
AlIS| 430F stainless steel
Nickel-plated
steel / brass
Adiprene
Shockproof acrylic

AlSI 303 stainless steel
AlS| 304 stainless steel

% 2°C % 2°C % 2C % 2C % 2C % 2C % 2C % 2C % 2°C % 2°C

0 - O 10 O 10 O 10 O 10 O ® 5 O [ ]

Calcium chloride
Ethyl chloride [} (o] [ [} (] [} = O

Mehylene =) fe) =) =) =) 100 ©
chloride

Sodium chloride 5 5 @ 5 @ 5 @ 5 & ® 10 @

Thinners* 100 ®

Ethyl ether

O OO0 e

Petroleum ether

Formaldehyde 100 100 100 100 100 @

Glycerine

Food fats

e 060 o 00 o
©

® 60 © 0O O
e 060 o
e 00 o
e 060 o

[ ]
o
©

Potassium
hydroxide
Sodium
hypochlorite
Milk
Mercury
Food oils
Mineral oils
Vegetable oils
Oxonia
Paraffin °
Petroleum [

* standard composition: xylol + toluene
- raw aluminium @

00 ve O
00 o0 O
00 ve O
e®e0 e O
o000 Vo
00 ve O
L 3N )

[ ]

°

[ ]
-

®= good resistance ® = medium resistance O = poor resistance

228 7‘ f TTE www.betisistemi.com Tel.+39.0522.635111




Resistance to chemical agents °

(4

| Moteid

Chemical
agent

Polyethylene PE

< 2
2 o - o
<] 5 = >
Q < = Q.
2 S = 8
8 € > <N
> ] S >
[e] o
o oo

Polyethylene HDPE
Polyurethane
Polyacetal

% 23°C % 23°C % 23°C % 23°C % 23°C % 23°C % 23°C % 23°C % 23°C % 23°C % 23°C

c0eesae Sol. @ Gy
50 chloride
® 100 @ O (o] O Ethyl chloride
Sol. Methylene
o - 100 ® - - C C o o chloride
Sol. Sol. Sodium
20 @ ® 10 @ Sat. [ ] 10 O Sol. @ [ ] [ ] chloride
° [ (¢} =] O O Thinners*
O ® 100 @ [} [ O O Ethyl ether
Sol. Sol.
° - [ . [} O Petroleum ether
4 @ = [ ) [} =] ] O Formaldehyde
0o @ ° [ ° [ O [ ] ®  Glycerine
® Sl @ S;') ° Sol. @ Food fats
Potassium
O O © B O hydroxide
B o ° ° o o of, G
hypochlorite
[} [ ) [} [ ) [} [ ) [ ) [ ] Milk
[ ] [ ] [ ] [ ] ®  Mercury
[ ] [ ] [ ] [ ] [ ] [ ] ° Food oils
[ ° [ [} [ [} ° [ ] ®  Mineral oils
[} [ ° [ ° [ ] Vegetable oils
1 O ° [ ] (0] O ®  Oxonia
° ° ) [ ®  Paraffin
[} [ (o] [} ° [ ] Pefroleum

®= good resistance @ = medium resistance O = poor resistance

Fax.+39.0522.635222 bsistemi @bettsisterni.com y‘ f TTE 229




e Resistance to chemical agents

(4

. Moed |

Chemical
agent

Elox aluminium
Galvanised steel
AlISI 303 stainless steel
AlSI 304 stainless steel
AlISI 316 stainless steel
AlS| 430F stainless steel
Nickel-plated
steel / brass
Adiprene
Shockproof acrylic

% 2°C % 2°C % 2C % 2°C % 2°C % 2C % 2¥C % 2¥C % 2°C % 23°C

Tomato (sauce) .
pH4 O
Brine O O (@) S
Causfic soda o O [ [ [ ° ° = 2 @
Fruit juices ] - - [ ] ®
Vegetable juices [ = [ ] [ ] [ ] [ 0 @
Copper sulphate 5 O 5 5 @ 5 @ 5 @
Sodium sulphate O 5 5(0]185|0]8]|0 0 @ [
Carbon sulphide 10 @ O ° [ ] 0o e
Caiin o O 100 100 100 100 ° ° o o
tetrachloride
lodine dye (@) - o) e
Trichloroethylene ] =] [ ° o o ° °
Vaseline ° ° ° °
Wine [ ] - [} [ ) [ ) [ ) ® 10 @ [ ]
Whisky 100 @ - [ ] [ ] [ ] - ® 0 o O
Xylol L] - [ ] [ ] [ ] [ ] <

®= good resistance ® = medium resistance O = poor resistance

230 VAETTIE  ~bensistemicomTels39.0522635111




Resistance to chemical agents °

(4

| Moed

Chemical
agent

[y o L
aa pd [~
S Q2 2 Y
o} >

0 g-? 2 o 2
= = o) >
Is} <C IS = Bo
Q S o =
> == > >
[e) [e)

o o a”

Polyethylene HDPE
Polyurethane
Polyacetal

% 2°C % 2°C % 2°C % 23°C % 23°C % 2¥C % 2¢C % 2°C % 23°C % 2°C % 23C

Tomato (sauce)

pH4
Sol. X
° - 52 [} - [} Brine
5 O o - ® 25 @ (o) e 25 O ® Cousfic soda
[ ] ° [ ] [ [ ] [ ] Fruit juices
o o olsilo Vegefoble
10 juices
Sol. Copper
- L
10 Sh( O ® sulphate
< 100 ® ° 10 @ ® Sodium sulphate
o O B ° o ° Sy
sulphide
Carbon
. © O ® ® ® tetrachloride
< [ ° O lodine dye
° ) < (0] O Tichloroetykne
° ° = [ Vaseline
[} ° (] [ ] [ ] ° [ ] Wine
(0] [ [} [} Whisky
e O e O O e O X

®= good resistance @ = medium resistance O = poor resistance

Fax.+39.0522.635222 bsistemi@betisisemicom | §E T T 231




Surface finishing

° - Sandblasting - Microball-blasting
t - Painting - Electropolishing
- Ball polishing - Mirror polishing
- Chemical nickel-plating
- Etc.
Standard finishes
- Sandblasting

RAL 9006 RAL 7010
etallic grey Dark grey

- Painting RAL RAL 9005
Black
RAL 3020
Red

Estimated delivery: 5 days from order acceptance (as per table)

Other finishes on request

- Painting RAL on choice of the customer
Price and code on request.
The minimum quantity is 100 pieces per colour (for lower
quantities a lump sum of € € 45.00 will be added) and the
estimated delivery is 10 days from order acceptance.

RAL 2004 RAL 5015
Orange Blue

- Ball polishing

Price and code on request.

Available for a minimum quantity of 50 pieces.

For lower quantities, a lump sum of € € 45.00 will be added,
and the estimated delivery is 10 days from order acceptance.

- Chemical nickel-plating
It is more resistant and functional than electrolytic nickel-plating and
does not flake (used in the food industry)
More resistant to oxidation (used in the beverage industry)
Price and code on request.
Available for a minimum quantity of 50 pieces.
For lower quantities, a lump sum of € € 45.00 will be added,
and the estimated delivery is 15 days from order acceptance.

232 VAETTIE  ~bemsistemicomTels39.0522635111




Part. Part. Part.

958 page 2 2650 page 168 LGoO page 42
959 page 4 2651 page 219 LG0o page 44
1247 page 3 2652 page 218 LG0O page 45
1292 page 8 2712 page 94 LGoo page 46
1292 page 15 2936, page 77 LGoO page 47
1292 page 21 2936 page 173 LG0o page 48
1897 page 194 2969 page 74 LG0O page 49
1897 page 220 2969 page 75 LG0o page 50
1961 page 157 2969, page 170 LGoO page 51
1963 page 158 2969 page 171 LG0o page 88
1964 page 73 3153 page 215 LG0O page 89
1964 page 164 3270 page 24 LGoo page 90
1964 page 165 3285 page 28 LGoO page 91
1964 page 179 3286 page 29 LG0o page 100
1983 page 195 3287 page 25 LG0O page 101
2019 page 14 3291 page 31 LGoo page 102
2053 page 9 3323 page 27 LGoO page 103
2053 page 15 3815 page 68 LG0o page 104
2053 page 21 3816 page 69 LG0O page 105
2054 page 6 3828 page 26 LG0o page 106
2054 page 7 3837 page 54 LGoO page 107
2054 page 15 3855 page 216 LGOC page 84
2054 page 21 3856 page 214 LGOC page 85
2055 page 19 3857 page 221 LGOD page 80
2055 page 20 3858 page 205 LGOD page 81
2056 page 18 3859 page 211 LGOF page 187
2063 page 10 4130 page 188 LGO1 page 82
2063 page 15 431 page 189 LGO1 page 83
2063 page 21 4132 page 192 LGA page 92
2130 page 70 4134 page 190 LGA page 93
2132 page 60 4135 page 191 LGAD page 108
2133 page 61 4136 page 193 LGAD page 109
2134 page 62 4137 page 114 LGAD page 160
2160 page 56 4137 page 115 LGAD page 161
2160 page 71 a41 page 115 LGAG page 110
2190 page 58 4148 page 196 LGAG page 111
2191 page 59 4151 page 76 LGAG page 180
2246 page 11 4151 page 172 LGAG page 181
2246 page 15 4153 page 66 LGAS page 86
2246 page 21 4154 page 67 LGAS page 87
2341 page 95 4214 page 208 LGAS page 162
2343 page 166 4215 page 210 LGAS page 163
2343 page 167 8090 page 156 LGMA page 118
2443 page 212 8990L page 176 LGMA page 119
2526 page 177 AGMA page 120 MGMA page 122
2527 page 178 AGMA page 121 MGMA page 123
2554 page 207 BGMD page 132 NGMD page 134
2556 page 201 BGMD page 133 NGMD page 135
2557 page 202 EGMA page 124 s10 page 36
2558 page 209 EGMA page 125 s10 page 37
2560 page 203 HGMD page 130 520 page 38
2561 page 204 HGMD page 131 TL page 184
2566 page 30 (kg page 33 L page 185
2570 page 217 LG0O page 40

2632 page 169 LG0O page 41

Fax.+39.0522.635222  bsistemi@beltsistemi.com V‘ETT£ 233




GENERAL CONDITIONS OF SALE

1 - APPLICATION AND ENFORCEABILITY OF THE GENERAL CONDITIONS OF SALE

These general condifions of sale are systematically sent or delivered to purchasers to enable them to transmit their orders. Consequently,
passing an order to BETT SISTEMI entails the purchaser’s full acceptance of these conditions of sale, with no reservations whatsoever, wi
the exclusion of any further documents such as catalogues or brochures published by the seller, provided strictly for information purposes
and having a purely indicative nature; this shall apply regardless of any provisions fo the contrary shown in the client's order forms. Any
conditions other than those relating to the specifications of those parts to be made to measure (customised) established by the purchaser
shall therefore - unless expressly approved - be unenforceable on the seller, regardless of the fime or moment they are communicated.

Only the specifications of the parts o be customised can supplement these general conditions of sale.

Any failure on the part of the seller to enforce any of the following provisions at any time shall not be construed as a waiver of any right
at any future fime.

2 - ORDER

The order must be fransmitted by the client in writing to BETT SISTEMI. Any telephone orders shall therefore need to be confirmed in wrifing
by the client within 24 hours of the call. Failure to do so will cause the order not o be taken into consideration. The sales contract will be
considered valid and therefore perfected and final only upon acceptance of the order by BETT SISTEMI. As evidence of acceptance by BETT
SISTEMI, the latter shall send the client an order confirmation.

Any chunﬁes by BETT SISTEMI o the clients’ Orders, shown in the confirmation letter sent to the client, shall be considered accepted by the
same should the client fail to send any written observations within 24 hours.

Orders for an amount below 40 euros, VAT not included, will not be accepted.
3 - CHANGES TO THE ORDER

Any changes or cancellations of the order requested by the client will be taken into consideration only where made in writing, and received
prior o dispatch of the products (standard products) or fo the start of production (customised or made-to-measure products) and if expressly
accepted by BETT SISTEMI via fax, to be sent to the client within 24 hours of the request for change. Should any of the conditions not be
complied with, the products initially ordered shall be delivered as originally agreed and shall have to be paid for aforesaid.

4 - PRICE

All prices shown in our catalogue are non-inclusive of VAT. Value added tax at the applicable rate and transport expenses shall therefore be
added (for orders amounting to less than 80 Euros, VAT excluded).

Unless otherwise agreed, products are sold at 'hlelprige up?|icab|e at the fime <I>f the order. The prices for the products mentioned in the
o

catalogue are those applicable at the date of f the afor red catal shown on the cover. Prices may be changed
at any time.

5 - DELIVERY - PROCEDURES - TERMS
A -TERMS

Parts already in stock at the fime of order acceptance may be available or dispatched within a maximum time-frame of 72 hours as of our
uccelph:nce payment by bank wire transfer or PayPal); in the case of payments by bank wire transfer, the parts already in stock may be
available or dispatched after 72 hours minimum as of our acceptance.

As for parts in the catalogue that are not in stock at the time of acceptance of the order or for special parts, an indication of the lead time
will be icated upon order

234 7‘ frr www.betisistemi.com  Tel.+39.0522.635111




GENERAL CONDITIONS OF SALE

The estimated delivery terms are purely indicative and may not give rise, under any circumstance, to indemnity claims for delay,
compensation for damages, non-payments or cancellations of open orders, regardless of the causes, gravity and consequences of the delay.

BETT SISTEMI shall be relieved from all delivery obligations in the case of force majeure events such as, by way of example and
not limited thereto, wars, riots, fire, strikes, natural disasters, impossibility to receive supplies.

B — DELIVERY

Unless otherwise agreed, the products shall be delivered directly to the client, at the works of BETT SISTEMI in Correggio 42015
(Italy) or to the carrier chosen by BETT SISTEMI or the same client.

Products are sold ex works Correggio 42015 Italy (works of BETT SISTEMI) and they are transported at the risk of the recipient in
derogation o the retention of fitle 3ause of BETT SISTEMI, shown hereinafter.

Unless otherwise expressly agreed, fransport shall be ex-works, at the client's expense, by the carrier chosen by BETT SISTEMI, or
failing that, by the carrier chosen by the same client.

Should any damage or failure occur during transport, it will be the client's responsibility to make all the necessary claims and
objections within 8 days of receipt of the goods (as shown at the bottom of the sale invoice).

BETT SISTEMI shall be entitled to make partial deliveries.
C — RECEIPT

Without prejudice to the provisions vis--vis the carrier, complaints regarding visible defects or non-conformity of the product
de|ivereJ? oll the product ordered or the dispatch note, shall be made in writing by and not later than thirty days following the
arrival of the products, on pain of forfeiture of the same right.

The purchaser shall provide valid grounds to prove the existence of the actual defect or anomaly ascertained. The purchaser shall
allow the seller o ascertain the existence of the said defects and to provide a remedy. The purchaser shall refrain from infervening
directly or from causing third parties fo intervene to that end.

By way of warranty, the only obligation for the seller shall involve the replacement, free of charge, or the repair of the product or
the item recognised to be defective through its own service. Products covered by a warranty shall first be submitted to the seller’s
after-sales service for examination, this department's approval being required for any replacement to be granted. Transport
expenses shall be charged to the purchaser if the warranty is not applicable.

6 - PAYMENT - METHODS

Our invoices, sent along with the ordered items, can be settled as follows:

e Creditcard

®  PayPal

e Bank wire transfer or other methods agreed with BETT SISTEMI at the time of order confirmation; the choice of any payment
method shall not change the payment due date.

No discounts will be granted for advance payments.

7 - LATE PAYMENT OR NON-PAYMENT -

Failure to pay by the due date shall enfitle us to charge interests on arrears as provided for by the ltalian Legislative Decree
231/02 and to claim the costs incurred for payment collection. In the event of a payment extension, we will apply the monthly
interest rate referred to in the aforementioned Legislative Decree to the same extension granted.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬂ 235




GENERAL CONDITIONS OF SALE

8 - WARRANTY

BETT SISTEMI's products are covered by wurra:g against any hidden defects or flaws of the products sold under the terms
provided for in article 1476 of the Italian Civil Code.

In the event of customised products, BETT SISTEMI undertakes to manufacture products conforming to the specifications given by
the client, without however guaranteeing in any way whatsoever its operating nature, which shall Ee exclusively evaluated by the
client. The client is the sole party responsible for the information transmitted to BETT SISTEMI.

As for standard products, BETT SISTEMI guarantees their conformity with the specifications shown in the catc||oﬁue. BETT SISTEMI
cannot be held reifonsiHe and/or the warranty shall not be applicable upon expiry of the terms according to the law and cannot
give rise to any indemnity claim.

Any use of the standard products is made on the sole responsibility of the purchaser, who declares to have examined the technical
specifications of the products purchased and deems them suitable for his specific intended use.

Should a customised product infringe the rights of ihirdJ)arﬁes, the client agrees fo reimburse all costs (for proceedings,
indemnificati lamage I ion, legal advice and other consulting expenses) which BETT SISTEMI should incur in
connection thereof and to take an active part in its defence.

The warranty shall not be applicable if the products sold have been changed or tampered with or if they are used in a manner or
in conditions which are improper or inconsistent with their characteristics, intended use or standards applicable (in particular, in
the event of use or installation in aircrafts and/or space vehicles for which the said products are absolutely unsuited).

TRANSFER OF RISK The moment the goods are delivered at the destination, the risks of improper use of the product, loss, direct
or indirect damage shall be borne by the purchaser.

9 - RETURNS - PROCEDURES

Any returns of products shall be formally agreed in writin? between the seller and the purchaser and sent via fax (0522/635222),
e-mail (bsistemi@bettsistemi.com), or by regiistered mail with advice of receipt. Should any products be returned without the
aforementioned express agreement, they will be kept at the purchaser’s disposal and shall not entitle to any compensation or
refunds.

At any rate, returns shall not be accepted after thirty days following receipt of the io’ods. Exﬁenses and risks related to the products
returned shall always be charged to the purchaser. All returns must be sent to our tactory. The choice of carrier is at our discretion.

The collection of a product by the seller shall entitle the purchaser to a refund for a period of six months as of the date the right
was established. The products to be returned shall be intact and in proper working order, this being an essential condition if ﬁ1e
client wishes to exercise the right of withdrawal.

Should there be visible defects or in the event of non-conformity of the products delivered, duly assessed by the seller, the purchaser
shall be entitled either fo the replacement of the products free of charge or to a refund for those products, at the seller’s discrefion.
The purchaser shall not however be entitled to any indemnification or compensation of any kind.

10 - RETENTION OF TITLE

The ownership of standard parts or customised parts shall be transferred only subject to full payment of the price in principal and
any accessory costs, it being understood that the payment shall be considered effected on the day the related sums are actually
cashed by BETT SISTEMI.

Notwithstanding the provisions set forth in the foregoing paragraph, any and all risks shall be transferred to the client at the
'ihme of dispalcﬁ or delivery of the goods by BETT SISTEMI (in particular the risk of loss, deterioration and damage caused by
the items sent).

236 7‘ frr www.betisistemi.com  Tel.+39.0522.635111




GENERAL CONDITIONS OF SALE

Whenever a client sends a device or equipment in order to have a part manufactured, that is to be incorporated into, or that is

plete the afor ioned device or equif the client remains the owner thereof, bears the transport costs and the costs
for the item to be re-delivered, assumes the risks connected with transport, any adjustment or transformation by BETT SISTEMI
and any damage that this may cause.

11 - NON-FULFILMENT

In the event that the purchaser does not fulfil even only one of the obligations set out herein, or becomes subject to bankruptcy
or insolvency proceedings, requests suspension of payments, liquidates or transfers his activity, his properties are repossesse

or sequestered in whole or in part, does not present upon our request guarantees for the balance of the purchase price agreed
upon, we reserve the right to recede from the contractual obligation stipulated with the purchaser or to recede from the part of the
contract not yet executed, even without resort to legal proceedings, and we shall have the right to re-enter into possession of all
the goods already delivered and for which the counterparty has not fully and exactly performed his obligations in relation thereto.

12 - SUSPENSION/TERMINATION CONDITIONS

The company undertakes to fulfil the undersigned agreements on condition that the counterparty proves his full and certain
solvency in relation fo the negotiations fo be concluded. Furthermore, the Company shall have the right, at its own discretion, to
request the purchaser to provide payment guarantees to the extent requested by the Company and jso to suspend execution of
the agreement until said requests ﬁuve been fully safisfied.

13 - APPLICABLE LAW
A - JURISDICTION

Pursuant to art.23 of Council Regulation EC44/2001 of 22 December 2000, the parties mutually agree that any dispute, none
excluded nor excepted, relating to the interpretation, execution and termination of this contract shall be exclusively referred to
the ltalian Judicial Authorities.

B — TERRITORIAL JURISDICTION

Any dispute, none excluded, relating to the interpretati ion and termination of this contract, including events of
connection, shall be solely ruled upon by the Court of Reggio Emilia, in Italy.

Fax.+39.0522.635222  bsistemi@bettsistemi.com y‘frrﬂ 237




Continual improvement

Dear Customer,

with the aim of continually improving our services,
your opinion is of major importance to us. We would
appreciate not only knowing your opinion, but also
receiving comments, proposals or suggestions.

This area is dedicated to this. If you wish, you may send us

an email to bsistemi@bettsistemi.com, or a fax using the
attached form, to be sent to +39.0522.635222.

We will be glad to answer your requests and consider your
suggestions.

Kind regards

FEITR

\
|
\
\
\
\
\
\
\
\
\
\
|
\
|
\
|
The Management }
\
\
\
\
\
\
\
\
|
\
|
\
|
|
238 7‘ frrﬁ wwwahefisislemi.com  161.+39.0522.635111

|




Continual improvement

\
\
\
|
\
|
\
\
|
|
\
\
\
\
\
\
|
\
\
\
\
|
|
\
\
|
\
\
\
|
\
\
|
Fox.+39.0522.635222  bistemi@befsistemi.com V‘ETTE 239
|



Continual improvement

240 7‘ frrﬁ wwwibeltsistemi.com  Tel.+39.0522.635111



Continual improvement

Fax.+39.0522.635222  bsistemi@beltsistemi.com V‘ETTE 241



Continual improvement

242 7‘ frrﬁ wwwi.beltsistemi.com  Tel.+39.0522.635111



Continual improvement

Fax.+39.0522.635222  bsistemi@beltsistemi.com V‘ETTE 243



Continual improvement

244 7‘ frrﬁ www.belisistemi.com  Tel.+39.0522.635111



Continual improvement

Fax.+39.0522.635222  bsistemi@beltsistemi.com V‘ETTE 245



Continual improvement

246 7‘ frrﬁ wwwi.beltsistemi.com  Tel.+39.0522.635111



Continual improvement

Fax.+39.0522.635222  bsistemi@beltsistemi.com V‘ETTE 247



Continual improvement

248 7‘ frrﬁ wwwibeltsistemi.com  Tel.+39.0522.635111



Continual improvement

Fax.+39.0522.635222  bsistemi@beltsistemi.com V‘ETTE 249



Continual improvement
o 1 2 3 4




	HB2_linear_EN_internet 1
	HB2_linear_EN_internet 2
	HB2_linear_EN_internet 3
	HB2_linear_EN_internet 4
	HB2_linear_EN_internet 5



